THE PUBLIC SCHOOLS, 1941

By LT-Col. G. H. M. CARTWRIGHT

An assessment of the merits of schoolboy cricketers is always difficult: particularly so when facilities for seeing them in action are limited, and the rendezvous of the Pavilion at Lord's and elsewhere on big match days no longer provides an occasion of obtaining the first-hand opinion of competent critics and observers.

After many hours spent on study of reports and statistics of some 120 Public Schools, far-flung and of varying magnitude, I can but admire the enviable confidence of a cricket writer of some experience who wrote last autumn in a publication of authority "I have not the slightest hesitation in selecting the following Public School XI from those I have watched and none of the rest appears to come within measurable distance of skill of these: D. P. T. Deshon (Shrewsbury), L. K. Purkiss (Haileybury), T. E. Bailey (Dulwich), E. N. W. Bramall (Eton), A. Fairbairn (Haileybury), either E. H. Spooner or G. A. Wheatley (Uppingham), S. S. Rogers (Highgate), M. L. Y. Ainsworth (Shrewsbury), H. P. H. Kiddle (Dulwich), C. M. Wheatley (Eton) and D. A. A. Gray (Winchester)."

I cannot tell how much this writer saw or heard, but I should guess that his orbit was limited and rather similar to my own, so that some omissions are inevitable. I do not accept this selection in its entirety, but on the "from those I have watched" basis am not in serious disagreement with it. I however rather doubt whether this team is as good as it looks on paper, and if I had to select the 1941 Public School XI (which thank Heaven! I do not have to) I should have preferred to follow the course adopted by that shrewd observer, A. C. MacLaren, whose famous triumph over Armstrong's Australians at Eastbourne in 1921 remains undimmed, and chosen a team of outsiders to beat the favourites.

1941 Standard Not High

Apart from several outstanding players and many striking performances I am of the opinion that the standard of the 1941 Public Schools was not high. In attempting to judge

this standard much consideration must be given to the quality

of their opponents.

Owing to the war this was in many instances not as high as usual. Moreover, more inter-School matches were played than usual, and boys are not unnaturally apt to show to greater advantage when playing amongst themselves than when pitted against grown-up opponents of established repute and experience.

As an example of this weakness I would cite the utter failure of the Public Schools XI against a not unduly formidable "Lord's XI," a repetition of the result of the 1940 match: but with this big difference. In 1940 there was Kenneth Farnes bowling all-out and at his best with a quality which would have earned him 5 wickets against the Australians at Trent Bridge. Most of the boys had probably never played a class fast-bowler before: nor would it have made much difference if they had. All failed, with the exception of Ainsworth who by that performance alone stamped himself as a player of personality and promise. In 1941 there was alas! no Farnes, and with the exception of Sims of Middlesex, who shared his success with several others of lesser repute, no bowler of outstanding merit. With the exception of Spooner and Bailey, who batted with great skill and distinction till he was out unluckily when well set, the performance of a series of batsmen by their previous performances reputable was very poor, and gave rise to a suspicion that some of them were overrated. The Boys' bowling was equally ineffective, though in this respect it must be stated that their Captain, G. A. Wilson, was embarrassed by the presence of no less than ten bowlers on his side, and a laudable desire to give all of them a bowl gave none of them a chance to settle down. Kiddle bowled the most, 7 overs, and though he failed to get a wicket his possibilities were easy to appreciate.

A big majority of the 1941 Public Schools XI came from Southern Schools. The result of the subsequent match, North v. South Schools at Lord's, justified this predominance, for the Northern Schools, who included G. A. Wilson (Oundle), M. L. Y. Ainsworth and J. A. C. Keenan (Stonyhurst) of the Schools XI. after permitting their opponents to score 275 for 6 wickets (its feature a pre-lunch century by Deshon of Sherborne) could muster but a niggardly 28 in reply. Purkiss, Bailey, Mallett and Gray all bowled well, but their figures were flattering. This result appears to support further my contention that schoolboy cricket of 1941 and with some notable exceptions the players who were seen at Lord's or at Richmond were not of as high a standard as some of the statistics suggested. If this proves to be the case it is in no way surprising, for schoolboys, as those who instruct them, have in wartime many other things to think of besides cricket. It is, however, desirable that the players themselves should realise this possibility, for many a promising young cricketer has been ruined by premature and ill-judged eulogy: and cricket, like most games worth playing well, is a hard taskmaster.

Inter-School Matches

In inter-school matches Winchester, Sherborne, Dulwich, St. Peter's, York, Shrewsbury, Canford, Solihull, Leeds Grammar School were unbeaten, whilst Eton, Aldenham, Caterham (out of a mammoth fixture list of 21 matches), Charterhouse, City of London and Haileybury, Marlborough and Leeds Grammar School lost but one match in the course of the season.

Best side of the Year

Haileybury (the photograph of the team appears on page 31) had every claim to be the best side of the year: and this was the general opinion from which I do not differ. Their batting was very strong; eight members of the side, headed by A. Fairbairn with an average of 74 for 672 runs, had averages of over 25, whilst the remaining three batsmen only got eight innings between them throughout the season. On occasion Fairbairn, Purkiss, Davie, Theobald, Souter all exceeded the century, a feat which can seldom, if ever, have been equalled in a school side. Though the inswingers of Fairbairn and Purkiss had to some extent lost their magic, this loss was compensated by the successful spinners of A. J. Dickinson (off) and R. R. Rees (leg), who each took 36 wickets. The fielding and catching reached and maintained a high standard, and to this feature the bowlers owed not a little of their success. In any year a very good side.

Winchester

A Winchester side is invariably "well-produced," well captained and fields well. For these reasons it always looks at least as good as it is: and sometimes a little better. This year's eleven was no exception to the rule, and having opened the season with no great expectations they ended it victoriously over Eton, Harrow, Bradfield and Wellington and with an undeniable claim to a place amongst the best sides of the year, though had they played Haileybury I fancy that the Hailerybury batsmen would have prevailed. They owed not a little to a good captain in D. A. A. Gray, who himself bowled most intelligently and encouraged others to follow his example. An M.C.C. side, strong at any rate on paper, who failed by 12 runs to achieve the modest 51 necessary for victory spoke, particularly his victims, in high terms of the fast-medium bowling of Horn, who was, however, rather erratic in the Eton match and failed to reproduce his best form. The opinion of his M.C.C. victims is nevertheless worthy of respect. Though the batting was not unduly strong and nobody made a century, somebody invariably materialised to make enough runs to provide a

243

victory, and after all that is what runs are for: I could write a lot about G. H. G. Doggart, but as he is still very young I shall look forward to future opportunities of doing so. If this boy is not a cricketer I shall be prepared to eat his eponymous Coat and Badge. I should like to have seen him playing at Lord's. His innings against Eton was rich in promise.

Dulwich

There is no doubt that in Bailey, Mallett and Kiddle Dulwich had three fine cricketers, and their record of eleven wins against one defeat by Bedford out of thirteen matches played entitles them to high place. On their day very good, it is nevertheless difficult to say exactly how good they were as some of their opponents proved unworthy of their leather, and it is legitimate to surmise that had they played some of the strongest sides and their two star batsmen failed their powers of recovery might have been overstrained.

During 15 innings, no less than eight unfinished, Bailey scored 851 runs with the remarkable average of 121. Mallett, one of the best all-rounders of the year, averaged over 40, but except for these two no one averaged 20. The bowling was like unto the batting. with the important addition of Kiddle whose sensational figures were assisted by some early-season massacres of weak sides. There can be no doubt that Kiddle is a good bowler of great possibilities, upon whom if trained and coached the mantle of N. A. Knox might some day rest. Bailey bowled a lot and got wickets, but his bowling, useful though it is, cannot be considered in the same class as his batting, which is outstanding both in technique and execution. He has strong chances to be considered the best bat of the year, and is in any case an all-round player of outstanding ability. The fielding of the whole side was brilliant.

Eton

The ranking of Eton is difficult. True they beat Harrow, Charterhouse, Marlborough, Radley and drew with Haileybury but had the result of the Harrow match been reversed, which had the breaking of the drought been deferred by a few hours it might well have been, they would be rated a moderate side. But nevertheless they had great potentialities, and at the end of the season after benefitting from a well-merited beating at the hands of Winchester I fancy that on a good day they might have beaten anybody. The material was there but it took a lot of getting together. In Wheatley they had a strong and aggressive bowler capable of going through any side with the exception of Haileybury, and in Keighley a young bowler who never bowled badly and did not get as many wickets as he deserved. The latter fields well, and will, if necessary, make runs and is altogether a young cricketer who

will surely make his mark. Spooner was generally acclaimed the best wicketkeeper of the year, and his methods, sound and unostentatious, impressed most favourably many students of this difficult art. He also shared with his captain H. M. Chinnery the honours of making most of the runs and averaging about 50 per innings. There was difficulty in finding an opening pair, but most of the batsmen made runs on occasion, in particular E. N. W. Bramall, the 1942 captain, a young stylist of considerable promise. Wheatley provided several hard-hit and useful contributions of a class rather above the fast-bowler standard. The fielding and throwing-in was not always as good as it should have been. Four batsmen averaged 40 or over, a feat equalled by Haileybury alone of their rivals.

Harrow

Harrow were not a good side. They drew seven matches, but reinforced by the return of their captain D. F. Henley, on 1941 form a good all-rounder, soundly defeated a strong side of Harrow Wanderers. Still, but for the thunderstorm they might quite well have beaten Eton. There were a lot of boys who could bat a bit. eight of the side having averages of over 20. Chief honours went to G. F. Anson who captained the side in the earlier part of the season while at the top of his form. Later in the season he fell off a little, but a player of his brilliance must have lapses, and a daring stroke player often needs, and deserves, some extra luck. Anson might well prove to be the best schoolboy batsman of the year, and more than that.

The trouble with Harrow was their bowling, or more accurately, the lack of it, and if you are short of bowling to start with Sixth Form Field is not a very encouraging training ground for young bowlers. Griffith worked hard, and Henley was missed.

Shrewsbury

Shrewsbury are entitled to a prominent position in the ranking list. Cheltenham, Repton, Malvern, Felsted, Lancing and Rossall were defeated. Against Westminster, a useful side who had wisely abandoned the scarred and desolated surface of Vincent Square and quickly acclimatised themselves to the verdant and more peaceful pastures of Bromyard, they declared at 272 for 8 before rain stopped play. The batting largely depended on Ainsworth and J. Mackinnon, the 1942 captain, but both were equal to the task, the former scoring over 600 runs with an average of 56 and the latter 447 with an average of nearly 50. Both represented North v. South Public Schools. The side possessed an unusual variety of bowling which found in the wicketkeeper A. C. W. Lee a dependable ally, D. L. Hughes, slow left, was always a steady bowler, and with a helpful wicket was really dangerous. Spinning the ball more than Gray of Winchester, he qualifies to take place with him as the best left-hander of the year.

Uppingham

Uppingham, with the exception of a severe caning from Oundle, a school where cricket goes on improving, had a very successful season, a fact which should have been as balm to the consciences of its slip fielders. The batting was strong and well-spread, no less than nine players averaging 16 and more under the leadership of their Captain and high-class wicket-keeper, G. A. Wheatley. There was a good variety of bowling which, with more support from the field would have achieved more spectacular results. Otherwise the side was distinctly strong.

Sherborne

Sherborne deserves a mention not only because they had a good season, and won eight matches out of eleven with only one loss, but because in so doing they played good and attractive cricket. A. I. T. Robinson and the captain, D. P. T. Deshon, not quite as successful as in 1940, were the outstanding batsmen; both should be heard of again. As is invariably the case with sides who win their matches, there was a good variety of controlled bowling, supported by a good field.

Charterhouse

Charterhouse, with no less than ten batsmen averaging over 12 runs per innings were a well-balanced side. The captain, F. A. Peet, and R. W. Sword, both good players, were the most prolific scorers, but B. R. J. Walker, a pleasant stylist, was only once out in 5 innings during which he amassed 112 runs; he has the rig of a run-getter. The in-swinger, P. White, often bowled well, and his 6 for 18 against M.C.C. was a fine performance. The side won six matches out of twelve, losing only to Eton, for the first time since the match, a baby of the 1914 war which died prematurely, was revived in 1933. The fielding was variable.

Rugby

The occasion of the Tom Brown Centenary Match shed on Rugby a limelight not of their own seeking, and caught them on an unhappy day. Nevertheless it is quite easy for any School side to be dismissed for 31 by G. O. Allen, R. E. S. Wyatt and Jim Smith at his best. The side was very young and only won two matches out of sixteen, but it will not be long before the tradition of the historical ground reasserts itself. The catching was always

good, particularly that of the captain, J. A. Boyes. A. C. Guthrie, a slow left-hander, has possibilities.

The Scottish Schools

Of the Scottish schools Fettes won four of their five school fixtures, a fact which they owed largely to the outstanding success of their captain, C. D. Laurie, who averaged over 82 for eight completed innings and also headed the bowling, though in this

department he did not lack support.

Edinburgh Academy had three very useful bowlers in Richardson, Dougal and J. P. Henderson, who exceeded 50 wickets: but the batting was less good. The Leys School, evacuated to Pitlochry "triumphed over unfavourable conditions"—I quote from a correspondent—"and enjoyed entertaining cricket. A matting covered concrete pitch was laid, after much levelling of a miniature golf-course." It may not perhaps surprise readers to learn that the feature of the season was the fast bowling of G. H. Dunkerley, admirably supported by M. W. Leonard, or that "the batting never settled down!"

Statisticians may be interested to learn that two schools of Royal origin, King's College School, Wimbledon, and King Edward's School, Birmingham, in addition to Chigwell achieved distinction, unsought perhaps, in that the average run-cost-perwicket of their three leading bowlers exceeds the average runs-perinnings of their three leading batsmen. So what? Anyway they cannot blame it on the cricket! In case this article meets the critical and expert eye of that delightful chronicler of cricket, H. S. Altham, I would further record that it was only by a few decimal points that

Repton escaped a similar distinction.

All-rounders

Apart from individual names already mentioned, there are a host of players whose performances during the season entitle them to recognition, and I can only regret that the limitations of space forbid the mention of but a small proportion of them. To the all-rounders I give pride of place, firstly because of their value to their side, and secondly because outside school cricket they are not as common as they used to be and as a class should receive every encouragement. R. G. Broadbent (Caterham) 80 wickets and 440 runs; N. C. F. Bloy (Dover) with an average of 66 for 529 runs and 34 wickets; O. J. M. Ford (Framlingham), R. A. Stillman (Highgate), L. C. Henwood (Hurstpierpoint), G. H. Chesterton (Malvern), a first-rate cricketer and captain, A. E. White (Newcastle R.G.S.), R. A. Slater (Oratory), who scored 640 runs and took 80 wickets, T. J. D. Walker (Oundle), R. J. A. Darwin (Radley), an excellent field in any position, A. V. H. Wardle

(Sedbergh), P. Marlow (Wellingborough), C. B. T. Gibbons (Sevenoaks) average 75 for 528 runs and 38 wickets can be selected as players of efficiency in both departments whose performances during the season speak for themselves.

Bowlers

Bowlers with noteworthy results to their credit included I. D. M. Considine (Merchiston Castle), P. Henderson (Edinburgh Academy), R. Williams (Wellington), a medium-paced out-swinger of length and variation whose 7 for 25 against Winchester in 22 overs marked him as a bowler of class, G. H. Dunkerley (Leys), J. P. Anderson (Durham), D. A. Cleland (Cranbrook), N. E. Whitcroft (Chigwell), D. Hervèy-Macleary (Campbell College, Belfast) whose 44 wickets cost but 3 runs apiece, W. R. Hanworth (Brentwood), R. C. A. Fitzgerald (Aldenham) and D. Anderson (St. Peter's, York), a very promising young bowler with claims to promotion in the batting order.

H. L. Kennedy (Haberdashers' Aske's, evacuated to Oxted) had the remarkable figure of 93 wickets for 7.6 runs apiece in the course of 213 overs of which only 25 were maidens. I do not know the quality of the opposition, but *res ipsa loquitur*; and, moreover, the scarcity of maidens might indicate uncertain fielding. Surely he must bowl more than somewhat. J. Bagnall (Rossall) is a bowler of real pace, and as such should be watched and trained.

Batting

Of mentionable performances with the bat there are many, their inner merit depending to a large extent on the strength of the opposition and quality of the wicket. L. F. L. Oakley (Bedford), P. A. M. Vaughlin (Brighton), A. N. Mather and P. Rowell (Canford), R. G. Pentney (Kingswood School, Bath), M. Walton (Leeds G.S.), E. G. Jennings, (Liverpool College captain with an average of 61 for 489 runs), G. E. S. Woodhouse (Marlborough), A. E. White (Newcastle R.G.S.), R. G. Atkey (Plymouth), T. J. Easby (Reading), C. F. Deacon (St. Edward's, Oxford), J. B. Robertson (Wellington), K. A. H. Hinge (Winchester), E. P. Hickling (the Stowe captain and maker of 681 runs averaging 68) batted with consistency throughout the season, and are players of ability.

Š. S. Rogers (Highgate) also had a good season and would get a place in my Schools XI. He has had the advantage of playing in good matches at Lord's where he has usually got runs, occasionally a wicket, and invariably fielded well. The Rydal team contained a promising and interesting young (he was but 14 last year) player of name W. H. H. Sutcliffe. I believe that in the language of the Signallers, it's H for 'Erbert, so that his

doings will be followed with interest by many. A local observer records that the boy already has all (Northern and Southern opinion might differ as to the number) his father's strokes with the exception of the cut. Perhaps he relied overmuch on hereditary good fortune behind the wicket, but it is said that several of his innings were ended prematurely by catches in that dangerous area. My advice to him would be to learn for the next few years the family cutting in the hands of his illustrious parent.

Any attempt to review, appraise, or criticise the events of a year of Public School cricket is not a task likely to increase the personal popularity of its writer. I do not therefore propose to add scorpions to the impliment of chastisement by attempting to set forth my Schools XI. I would wish every boy of the 1,300 whose performances I have scrutinised to think that his name would have figured in it. I would wish all these boys and those who take their places at their various schools as happy and as uninterrupted a season in 1942 as it was their good fortune to enjoy in 1941.

PUBLIC SCHOOL MATCHES IN 1941

For Beaumont v. Oratory, Cheltenham v. Haileybury, Clifton v. Tonbridge, A Lord's XI. v. A Public Schools XI, North v. South, and Rugby v. Marlborough, see Matches at LORD'S, pages 112–131.

CRANLEIGH SCHOOL v. BRIGHTON COLLEGE

At Cranleigh, May 22. Cranleigh won by four wickets. Brighton, after a good start, collapsed against R. Morgan (five wickets for 41), who was also top scorer for his side.

Brighton College

R. Morgan not out 40

A. J. Stevens b Frew	P. G. Kenchington b Morgan D. H. Ellison lbw b Morgan M. T. Mackie b Morgan A. E. Holden c Heape b Morgan R. J. E. Bavin not out Extras	1 3 0 0 1 9
Cranleigh School		
J. K. Davenport b Richards 11 J. M. P. Day b Richards 30 J. E. E. Frew run out 17 J. R. Tupper b Richards 10	E. P. Davenport c Ellison b Wooten E. D. Harwood lbw b Wooten F. B. Kennington lbw b Bavin D. B. Powle not out	5 3 0 5

TAUNTON SCHOOL v. DOVER COLLEGE

Extras

Nine wkts. 134

At Taunton, May 22. Dover won by eight runs. N. C. F. Bloy, their captain, took most of the honours, following a masterly innings by taking six wickets for 42 runs. M. D. E. Molony, though batting extremely well, could not save Taunton.

Dover College

S. F. McCrae c Green b Payne	G. A. Phillips c McLennan b Mullen
P. H. Davy c Cozens b Payne 3 P. M. D. Godfrey lbw b Cozens 1	110
Taunton School J. H. Stephenson c McCrae b Farrar D. M. Jeffreys c McCrae b Farrar A. J. Cozens c and b Bloy	I. A. C. McLennan c Godfrey b Bloy
H I Way c Godfrey b Farrar 10	102

WHITGIFT SCHOOL v. KING'S COLLEGE SCHOOL, WIMBLEDON

At Haling Park, May 28. King's College won by 20 runs. After a good start, they lost their last seven wickets for 30 runs to A. L. W. Gollan and E. R. Bailey. The Whitgift breakdown was even worse, P. R. Chase dismissing the last six batsmen in five overs for 10 runs.

King's College School, Wimbledon

P. R. Chase b Gollan 3 D. H. L. Wadsworth b Graham 19 J. C. Penfold c Waterhouse b Bailey 32 J. M. L. Cook b Bailey 20 N. Green hit wkt b Bailey 0 R. M. Herring b Winston 0 I. H. Christie c Bailey b Gollan 3	J. K. Holmes b Gollan 5 R. C. Agabeg run out 0 E. G. Ostime b Bailey 5 L. T. Cotton not out 5 Extras 98
Whitgift School P. M. Sturges b Cotton	A. R. Evans b Chase 0 B. C. Roberts b Chase 0 P. S. Winston b Chase 2 R. P. Tasker not out 2 Extras 6

MARLBOROUGH COLLEGE v. WELLINGTON COLLEGE

At Marlborough, May 31. Marlborough won by 163 runs. A. Bagot and G. E. S. Woodhouse put them in a commanding position with an opening stand of 184, a record for the School, and few of the Wellington batsmen faced a varied attack confidently.

Marlborough College

A. Bagot c Robertson b Foottit 70 G. E. S. Woodhouse c and b Foottit 132 R. A. Fletcher c Robertson b Williams	J. W. Sewell not out
A. J. A. Ellwood st Warry b Williams	Four wkts., dec. 282

C. J. Studdert-Kennedy, A. M. Hodson, A. T. G. Pocock, O. G. Pratt and P. M. B. Sutcliffe did not bat.

Wellington College

1 Carried Control	
J. B. S. Hamilton c Sutcliffe b Woodhouse	K. A. M. Foottit c Pratt b Bagot 15 R. A. C. Furber c Sutcliffe b Fletcher 2 H. C. Warry b Pocock 3 H. R. Gatehouse b Pocock 0 I. G. Matthews b Ellwood 0 Extras 4

ALDENHAM SCHOOL v. MERCHANT TAYLORS' SCHOOL

At Aldenham, June 7. Merchant Taylors' won by 51 runs. R. B. Hawkey took five wickets for 16 runs.

Aldenham School

K. G. Hickson b Robins 12 D. E. Blake c G. Weston b Drayton 5 W. E. Henley b Hawkey 6 D. G. Curling b Hawkey 5 R. H. G. Hoff b Hawkey 0 G. J. T. Pitt b Gluck 13 M. Alwyn-Smith not out 5	R. C. A. FitzGerald b Robins 1 P. S. Taylor run out 1 W. G. Batham b Hawkey 1 W. T. Hoy b Hawkey 1 Extras 6
Merchant Taylors' School	
J. R. Marriott c Batham b Taylor 14 H. R. Stephens c Taylor b Fitz- Gerald 4 J. Weston c Hoff b Henley 23 G. Weston b Henley 0	W. G. Drayton b Hoy 4 D. W. Johnstone c Taylor b Hoff 2 R. B. Hawkey c Curling b Henley 25 W. A. Gluck c FitzGerald b Henley 17 G. L. Robins not out

BEDFORD SCHOOL v. OUNDLE SCHOOL

Extras 7

107

112

At Bedford, June 7. Bedford won by four wickets, thanks to the bowling of F. M. Fletcher (five wickets for 28) and A. A. Webber (four for 22) and enterprising batting by L. F. L. Oakley.

Oundle School

D. B. Clark b Henley 3

G. A. Wilson lbw b Taylor 6

Jones 9
A. C. W. Abrahams b Rhodes 1

Contract School		
G. A. Wilson b Webber	H. E. Henshall b Fletcher H. T. Easdale not out J. W. G. Crocker c and b Fletcher R. L. R. Jones c Abrahams b Webber Extras	5 2 2 0 16
Bedford School		
G. S. Smith run out	R. Evan-Jones c Maitland b Rhodes R. H. Haynes st Easdale b Jones. P. Parker c Wilson b Jones A. A. Webber run out J. C. L. Durant not out Extras	10 3 0 3 6

DENSTONE COLLEGE v. KING EDWARD'S SCHOOL, BIRMINGHAM

At Denstone, June 7. Denstone won by 219 runs, completely outplaying their opponents. The King Edward's attack suffered heavy punishment from the aggressive play of D. A. A. Beardsmore, and the batting failed utterly against the fast bowling of D. C. Good and C. E. Gilbert.

Good did not bat.	Three wkts., dec. 234. Ridge, G. W. King, J. Carney and D. C
M. G. Fitzgerald b Good	2 J. M. Coley run out

HARROW SCHOOL v. MARLBOROUGH COLLEGE

At Harrow, June 7. Drawn. Rain spoiled the match when, following a fine innings by C. J. Studdert-Kennedy, Marlborough held a strong position.

Marlborough College

A. Bagot b Gordon	J. W. Sewell c Fosh b McLean. 16 R. J. L. Altham not out . 0 P. A. Robertson b McLean 1 O. G. Pratt not out 2 Extras 9
A. M. Hodson b McLean 16	Seven wkts., dec. 224

P. M. B. Sutcliffe and A. N. C. Lothian did not bat.

Harrow School M. A. Smith c Sutcliffe b Lothian R. H. Symes-Thompson c Sutcliffe b Lothian H. P. G. Cholmondeley run out	3 12	P. C. Boissier not out	4
G. F. Anson c Sutcliffe b Bagot	35	Five wkts.	83

J. Gordon, A. Fosh, I. R. Readman and W. L. Dutton did not bat.

Harrow Bowling O. Gordon 21 Griffin 22 Readman 19	M. 9 6 1	R. W. 27 3 Pratt	O. M. 3 2 7 1 7 1	R. 6 19 22 21	W. 0 2 0 1	
Readman 19 Dutton 13 McLean 7	1 0		0 3	Bagot Hodson	5 0	21 9 3

DULWICH COLLEGE v. KING'S COLLEGE SCHOOL, WIMBLEDON

At Dulwich, June 11. Dulwich won by 161 runs. This match fully illustrated the immense value to Dulwich of T. E. Bailey and H. P. H. Kiddle. Both

batted finely, and Kiddle, with his fast bowling, completely demoralised the King's College batsmen. He took eight wickets for three runs, including the "hat-trick," a feat that constituted a record in Public School cricket.

Dulwich College

A. F. Harlow b Chase 17 R. G. Hulbert Ibw b Penfold 12 A. W. H. Mallett b Penfold 17 T. E. Bailey not out 84 H. M. Buckland b Cotton 2	H. P. H. Kiddle b Penfold
the law range provident that the skill	Six wkts., dec. 171
H. A. Beardwell, H. R. Woolmer and O	F. Jackson did not bat.
King's College School, Wimbledo	O THE COUNTY OF STATE
P. R. Chase b Kiddle 3	I. H. Christie b Kiddle 0

D. H. L. Wadsworth lbw b Kiddle J. C. Penfold run out J. M. L. Cook c and b Kiddle W. B. Palmer b Kiddle P. H. Nunnerley c Woolmer b	0 0 0 3	E. G. Ostime c Langston b Kiddle L. T. Cotton not out	0 0 0
Kiddle			10

CLIFTON COLLEGE v. DOVER COLLEGE

At Bude, June 13, 14. Clifton won by 104 runs, Dover being unable to make up the ground lost by a bad first-innings breakdown.

Clifton College

P. V. Dodge b Farrar 1 — hit wkt b Hawker J. M. Josephs b Davy 6 — c McCrae b Farrar T. J. O. Hickey b Davy 4 — st McCrae b Bloy D. A. Imlay st McCrae b Hawker 41 — c Farrar b Hawker J. H. Lawrence-Archer run out 64 — not out G. P. Ward b Bloy 0 — absent C. P. Lewis-Smith c Davy b Farrar 64 — c and b Bloy J. D. May c McCrae b Hawkes 14 — b Bloy G. H. Addenbrooke b Davy 13 — run out J. R. Block not out 0 — b Hawkes A. W. Gwatkin c Bloy b Davy 0 — b Farrar Extras 10	. 32 . 72 . 12 . 00 . 3 . 22 . 00 . 0
Dover College	131
S. F. McCrae c Imlay b Block. 0 — c Imlay b Josephs F. M. F. Elliott b Hickey 11 — lbw b Josephs P. H. Davy c Imlay b Block 0 — c Imlay b Hickey N. C. F. Bloy b Gwatkin 0 — st May b Hickey N. C. F. Bloy b Gwatkin 0 — c Hickey b Imlay P. H. R. Hawkes b Josephs 0 — c Gwatkin b Addenbrooke G. L. Eames c May b Josephs 0 — c May b Hickey G. A. Phillips c Ward b Gwatkin 31 — b Block P. J. Aylwin c May b Gwatkin 5 — not out . J. C. Farrar not out 2 — lbw b Dodge R. I. Dawes c Imlay b Block 17 — c and b Dodge. Extras 4	. 18 . 27 . 11 . 24 . 28 . 0 . 6 . 12 . 8
$\overline{70}$	174

CITY OF LONDON SCHOOL v. ORATORY SCHOOL

At Marlborough, June 18. City of London won, in a race against time, by seven wickets. J. A. MacDougall played a brilliant fighting innings.

Oratory School R. Loewenstein b Moore R. H. Smith lbw b Dowsett 28 G. Leonard b Paterson S. E. Hicks lbw b Moore 53 R. Rickcord not out F. E. Thorneycroft b Paterson . . . 2 W. White b Paterson R. A. Slater c and b Moore 29 A. P. Stilwell b Moore 34 Extras 16 J. F. Bodenham b Wadsworth . . . 1 D. Wilson b Wadsworth City of London School B. J. K. Pryer not out D. P. Stockton c White b Thorney-croft 11 Extras 9 J. A. MacDougall c Stilwell b Slater..... 96 J. G. H. Wadsworth b Thorney-Three wkts. 176 croft 0 B. H. Ellis, J. Paterson, L. R. Dowsett, A. R. Dale, P. R. Dodds and J. N. Quick did not bat.

WINCHESTER COLLEGE v. HARROW SCHOOL

At Winchester, June 19. Winchester won by 117 runs. The Harrow batsmen shaped poorly against a varied attack.

Winchester College

P. G. D. Aizlewood c Fosh b Henley 0 E. B. Trubshaw b Readman 14 J. C. F. Keating c and b Griffin 6 P. A. Whitcombe lbw b Griffin 47 G. H. G. Doggart b Griffin 8 R. A. Chambers c Anson b Griffin 28 D. A. A. Gray b Readman 0	D. B. Abbott c and b McLean. 17 J. R. Tillard run out 22 R. N. Eddy c Symes-Thompson b Gordon 28 A. D'A. Horn not out 4 Extras 18 192
Harrow School R. H. Symes-Thompson b Eddy. 5 M. A. Smith c Gray b Whitcombe 14 H. P. G. Cholmondeley run out . 14 G. F. Anson Ibw b Whitcombe. 3 D. F. Henley b Eddy 10 D. C. H. McLean c Aizlewood	A. J. S. Griffin c Aizlewood b Eddy 0 J. Gordon not out 10 I. R. Readman b Abbott 7 A. Fosh b Abbott 00 Extras 7
b Gray	75

SEDBERGH SCHOOL v. AMPLEFORTH COLLEGE

At Sedbergh, June 21. Ampleforth won by two wickets. A masterly innings by A. V. Wardle averted a complete collapse by Sedbergh. Five Ampleforth wickets fell for 83, but a great century by C. D. Smith pulled the game round.

Sedbergh School

A. V. H. Wardle not out	A. D. Rolland c Bertelsen b Hobden
Ampleforth College	
Ampietor in Conege	
M. A. Marston c Reid b Kinin- month 10 D. K. Bertelsen c Wardle b Frost 0 M. W. Bruce b Frost 0 J. J. Rigby run out 1 C. D. Smith b Rolland 107 A. R. Hodson b Rolland 9	P. F. Davey not out 42 J. H. Hunter-Gray b Rolland 0 K. W. Gray c Campbell b Rolland 0 P. F. Hobden not out 0 Extras 6 Eight wkts. 175
A. T. Macdonald did not bat.	

RADLEY COLLEGE v. ETON COLLEGE

At Radley, June 24. Eton won by 42 runs, C. M. Wheatley taking five wickets for 52 runs.

Eton College

Hon. C. H. B. Pease c Foreshew b Agar	D. W. S. S. Lane c Morris b Darwin 47 T. H. Marshall b Darwin 0 W. G. Keighley b Agar 5 C. M. Wheatley c Sessions b Parry- Crooke 17 J. F. Cory-Wright not out 1 Extras 9 191
Radley College	
L. M. Barker c Spooner b Wheatley 0 T. M. B. Sessions lbw b Marshall 3 T. J. Foreshew b Wheatley 27 R. J. A. Darwin b Wheatley 54 A. G. Gardner b Wheatley 13 T. B. Morris c Bramall b Marshall 2 R. A. Murray run out 13	N. G. Stern lbw b Keighley 28 M. J. D. Syson b Wheatley 1 J. F. S. Agar b Keighley 2 M. B. Parry-Crooke not out 2 Extras 4 149

REPTON SCHOOL v. MALVERN COLLEGE

At Repton, June 27, 28. Malvern won by 124 runs. G. H. Chesterton, J. G. Harrison and W. H. R. Davies took chief credit for the victory. Besides his batting success, Chesterton secured seven wickets for 71 runs, and Harrison dismissed ten Repton batsmen for 55 runs.

Malvern College

J. H. Garson c and b Stubbs W. H. R. Davies c Ralphs b McAlpine A. J. Lowes b Stubbs G. H. Chesterton c Elphinston b Peake. W. W. H. Foyn c Peake b Stubbs J. T. Davison c Carr b Peake J. H. Carson c and b Stubbs N. W. Sanderson c Peake b Elphinston J. G. Harrison c Elphinston b Peake C. D. Sumner c Ralphs b Stubbs A. G. Robinson not out Extras	0 — c and b Peake 8 51 — b Yorke 29 19 — c and b Ralphs 3 12 — b Yorke 2 5 — Ibw b Stubbs 13 3 — b Stubbs 6 5 — st Holmes b Stubbs 6 10 — c Stubbs b Yorke 18 6 — not out 17
	152

Repton School

G. H. Smith b Harrison W. D. Hancock b Harrison K. T. Stubbs c Davison b Harrison K. S. McAlpine not out	3 0 1 0 33 3 0 2 33	- run out
K. S. McAlpine not out	33 17	— not out 21
The last of the property of the	100	113

ETON COLLEGE v. WINCHESTER COLLEGE

At Eton, June 28. Winchester won by five wickets, thus, after nine consecutive drawn matches, gaining their first victory over Eton since 1920. Against the left-hand deliveries of D. A. A. Gary, most of the Eton batsmen showed to poor advantage. R. H. Spooner and H. M. Chinnery offered some resistance, D. W. S. S. Lane made runs readily, and enterprising hitting came from C. M. Wheatley. When, in reply, Winchester lost three wickets at moderate cost, a close finish appeared in prospect, but E. B. Trubshaw and G. H. G. Doggart, batting steadily, put on 74 runs inside an hour and took their side to within measurable distance of victory. Doggart, imperturbable to a degree, stayed to the end.

Eton College

Hon. C. H. B. Pease c Doggart	SPA.	
b Gray	17	
C. P. Lindsay c Aizlewood b Whit-	186	
combe	17	
E. N. W. Bramall b Whitcombe		
E. H. Spooner c Doggart b Whit-		
combe		
H. M. Chinnery c Horn b Gray	27	
J. A. Floyd b Gray	0	

W. S. S. Lane b Gray	46
. H. Marshall run out	5
V. G. Keighley lbw b Eddy	5
M. Wheatley c Weatherby b	
Gray	26
. F. Cory-Wright not out	0
Extras	8

Winchester College

R. B. Trubshaw c Chinnery b Wheatley	G. H. G. Doggart not out
P. A. Whitcombe c and b Floyd 23	Five wkts. 191

O. C. R. Weatherby, D. A. A. Gray, R. N. Eddy and A. D'A. Horn did not bat

Eton Bowling		
O. 20.2 21 5	M. R. 3 69 1 64 0 24 4 27	W. 2 1 0 2
	5	5 0 24

RESULTS OF ETON AND WINCHESTER MATCHES

1826	Winchester won by 53 runs	1865	Drawn
1829	Eton won by four wickets	1866	Eton won by ten wickets
1830	Winchester won by eight wkts.	1867	Eton won by inns. and 10 runs
1832	Eton won by inns. and 10 runs	1868	Eton won by eight wickets
1833	Eton won by 14 runs	1869	Eton won by inns. and 36 runs
1834	Eton won by 13 runs	1870	Winchester won by one wicket
1835	Eton won by five wickets	1871	Winchester won by 8 runs
1836	Eton won by two wickets	1872	Eton won by inns. and 125 runs
1838	Winchester won by an innings	1873	Eton won by five wickets
1030	and 34 runs	1874	Eton won by inns. and 202 runs
1839	Eton won by 108 runs	1875	Eton won by five wickets
1840	Winchester won by 43 runs	1876	Eton won by inns. and 99 runs
1841	Winchester won by 109 runs	1877	Eton won by inns. and 121 runs
1842	Eton won by seven wickets	1878	Winchester won by six wickets
1843	Winchester won by eight wickets	1879	Eton won by 45 runs
1844	Eton won by 27 runs	1880	Eton won by 9 runs
1845	A Tie	1881	Eton won by six wickets
1846	Eton won by innings and 55 runs	1882	Winchester won by an innings
1847	Eton won by innings and 78 runs	- to .	and 20 runs
1848	Eton won by 65 runs	1883	Winchester won by 224 runs
1849	Eton won by innings and 27 runs	1884	Eton won by five wickets
1850	Eton won by five wickets	1885	Drawn
1851	Winchester won by 26 runs	1886	Eton won by eight wickets
1852	Winchester won by 30 runs	1887	Eton won by nine wickets
1853	Winchester won by 35 runs	1888	Drawn
1854	Winchester won by three wickets	1889	Winchester won by 114 runs
1855	Eton won by 46 runs	1890	Drawn
1856	Eton won by innings and 4 runs	1891	Winchester won by five wickets
1857	Eton won by innings and 31 runs	1892	Winchester won by 84 runs
1858	Winchester won by one wicket	1893	Eton won by five wickets
1859	Winchester won by three wickets	1894	Eton won by five wickets
1860	Eton won by 19 runs	1895	Eton won by innings and 87 runs
1861	Eton won by nine wickets	1896	Winchester won by eight wickets
1862	Eton won by one wicket	1897	Winchester won by 51 runs
1863	Eton won by inns. and 194 runs	1898	Drawn
1864	Eton won by nine wickets	1899	Eton won by one wicket
1001	The second secon		

1900	Drawn	1923	Drawn
1901	Eton won by two wickets	1924	Eton won by innings and 19 runs
1902	Eton won by four wickets	1925	Drawn
1903	Eton won by 43 runs	1926	Drawn
1904	Winchester won by eight wickets	1927	Drawn
1905	Drawn	1928	Drawn
1906	Drawn	1929	Drawn
1907	Winchester won by nine wickets	1930	Eton won by seven wickets
1908	Eton won by innings and 14 runs	1931	Eton won by two wickets
1909	Drawn	1932	Drawn
1910	Drawn	1933	Drawn
1911	Eton won by 58 runs	1934	Drawn
1912	Eton won by innings and 46 runs	1935	Drawn
1913	Eton won by innings and 47 runs	1936	Drawn
1914	Drawn	1937	Drawn
1919	Winchester won by 69 runs	1938	Drawn
1920	Winchester won by 131 runs	1939	Drawn
1921	Eton won by seven wickets	1940	Drawn

HARROW SCHOOL v. CHARTERHOUSE SCHOOL

At Harrow, June 28. Drawn. Neither side possessed the bowling strength to bring about a definite result.

Harrow School	
M. A. Smith c Crook b Griffiths 59	I. N. Mitchell b White 21
R. H. Symes-Thompson b Griffiths 0	D. F. Henley b White 28
H. P. G. Cholmondeley c and b	D. C. H. McLean b White 0
Sword	Extras
G. F. Anson not out 57	and the second second second second
	Six wkts., dec. 265

A. J. S. Griffin, B. I. Straton-Ferrier, I. R. Readman and R. B. Stuart did not bat.

Charterhouse School	
E. W. Lomas lbw b Griffin 9	D. G. Podmore not out 45
K. I. J. Harding c Henley b Read-	M. W. Nesbitt c Anson b Griffin 11
man	B. R. J. Walker not out 4 Extras
R. W. Sword lbw b Stuart 61	
A. S. Lovett b Henley	Six wkts. 233

W. H. Griffiths, P. White and C. Crook did not bat.

LANCING COLLEGE v. WESTMINSTER SCHOOL

At The County Ground, Worcester, June 28. Westminster won by 127 runs. K. A. Hinge and J. R. Russ mastered the Lancing attack. Hinge made his runs at one a minute.

Westminster School	
K. A. Hinge c Bushe b Pierrepont 91	E. F. R. Whitehead not out 38
W. A. Cooper c Burton b Pierrepont 2	P. O. Bodley b Quin
J. R. Russ b Pierrepont 62	W. E. Fowler c Bushe b Quin 28
R. W. Young c Norris b Burton. 2	Extras 14
J. H. Ferrers-Guy lbw b Pierrepont 5	Seven wkts., dec. 260

D. C. Saunders, R. J. Cremer and W. J. Genish did not bat.

Lancing College

A. F. Wallis b Ferrers-Guy B. Roberts c Bodley b Cremer R. H. Burton b Ferrers-Guy A. C. Burnett c Cremer b Ferrers-Guy P. W. Pierrepont b Cremer J. S. Townend Ibw b Cremer	J. A. Molyneux c Boo head P. D. S. Bushe lbw b 6 N. L. Thunder not ou D. Norris c Bodley b Extras	
A. J. Quin c Ferrers-Guy b White-		
head		133

DOWNSIDE SCHOOL v. CANFORD SCHOOL

At Downside, June 28, 29. Canford won by 32 runs. Splendid batting by A. N. Mather and the bowling of K. H. Buckley gave them a commanding lead. Only V. Wylie and A. D. Petrie, of the Downside batsmen, showed to advantage.

Canford School

A. N. Mather run out	36 — c Corbett b Bacon 27	1
W. P. G. Clark c and b Locket	17 — not out 34	-
P. Rowell c Gaisford b Medley	13 — b Medley 22	2
G. V. Surtees c Poland b Medley	18 — st Corbett b Locket 0)
W. J. M. Crocker b Addington	3 — c Gaisford b Addington 3	,
R. D. Raynor b Addington	7 — b Bacon	
R. G. Knight lbw b Addington	2 — st Corbett b Bacon 12	
E. D. O'Brien lbw b Bacon	11 — c Medley b Bacon 18	
M. H. Medwin not out	39 — st Corbett b Bacon 1	
K. H. Buckley c and b Addington		ŕ
G. M. C. Toft lbw b Addington	0	
Extras		
A STATE OF THE PARTY OF THE PAR		
2	69 Nine wkts, dec. 144	

Downside School

DOMINIAL DELICOI	
	44 — b Knight 87
	29 — st Surtees b Buckley 15
V. R. H. Medley st Surtees b Buckley	0 — b Buckley (
A. D. Petrie not out	42 — c Mather b Buckley 38
R. T. Madeley c Crocker b Buckley	2 — st Surtees b Knight 14
P. H. Ouincey-Carter st Surtees b Buckle	ey 2 — c and b Buckley 4
M. G. M. Locket c Mather b Buckley	
L. R. B. Addington c Rowell b Buckley	. 0 — c Raynor b Buckley 7
	. 23 — b Knight 7
M. M. G. Gaisford lbw b Toft	. 8 — run out 3
M. D. Corbett b Toft	. 4 — not out
Extras	. 23 Extras 17
	177 204

RADLEY COLLEGE v. WELLINGTON COLLEGE

At Radley, July 1. Wellington won a fine struggle by 10 runs. J. R. Williams took seven Radley wickets for 49 runs.

Wellington College

L. H. C. Emsden c Barker b Agar 5 K. A. M. Foottit b Darwin 0	J. B. S. Hamilton lbw b Darwin. 4 H. C. Warry b Gardner 20
J. B. Robertson c Agar b Darwin 75	H. R. Gatehouse c Darwin b Parry-
R. H. D. Graveston lbw b Parry- Crooke	Crooke
J. R. Williams b Gardner 23	Extras
R. A. Gatehouse b Gardner 5 R. H. Wollocombe b Gardner 7	165

Radley College	
L. M. Barker b Foottit 0 T. M. B. Sessions st Warry b Wollocombe	N. G. Stern b Williams
T. B. Morris b Williams 38	155

UPPINGHAM SCHOOL v. RUGBY SCHOOL

At Uppingham, July 1. Uppingham won by 66 runs. After a capital start which seemed to have made the game safe, Rugby collapsed before the bowling of D. S. Gill and W. R. F. Chamberlain.

Uppingham School

W. B. G. Raynor b Robertson	A. B. Pemberton c and b Guthrie 34 S.E. Bastard st Macaulay b Guthrie 0 D. S. Gill c Aitchison b Guthrie. 15 W. R. F. Chamberlain not out. 7 Extras
J. VI. C. Dijune o Samme	Eight wkts., dec. 272

D. S. Holmes-Smith and F. H. Sasse did not bat.

Rugby School

T. I. Johnson-Gilbert c Wheatley b Sasse J. A. Boyes c Bastard b Bryant. J. C. Wardill c and b Chamberlain M. F. Pyman run out. R. M. Wadham c Sasse b Gill. M. A. Boddington run out J. O. Macaulay c Sasse b Chamberlain	2 44 32 25 5	M. J. Hussey b Gill S. C. de L. Aitchison b Gill E. M. L. Robertson not out A. C. Guthrie b Chamberlain Extras

OUNDLE SCHOOL v. STOWE SCHOOL

At Oundle, July 3. Drawn. Much fine batting was produced by a match in which bowlers experienced an unhappy time.

Stowe School

T. M. Pragnell c Hanscomb b Walker 83 J. E. Colbeck c Hanscomb b Walker 58 W. M. Savery c Easdale b Walker 1 E. P. Hickling not out 122	W. R. Mallory b Walker
R. A. S. G. Carthorpe, R. B. Higham and T. H. Barclay did not bat. Oundle School	, T. M. J. Shervington, R. H. Hawkins
G. A. Wilson c Hawkins b Mallory 36	A. R. A. Beldam not out 31
K. G. Malet b Savery	H. E. Henshall not out 67 Extras 7
	Four wkts. 218
R. A. E. Franklin, J. C. Hanscomb, H. T Jones did not bat.	F. Easdale, J. W. G. Crocker and R. L. R.

ETON COLLEGE v. HARROW SCHOOL

At Eton, July 12. Eton won by 136 runs. Fortune favoured them, for shortly after the start of the Harrow innings a thunderstorm left the pitch very helpful to bowlers. C. M. Wheatley, with medium-page in-swingers, was at times wellnigh unplayable.

Eton College

Hon. C. H. B. Pease st Fosh b Readman	J. A. Floyd c and b Readman 7 C. P. Lindsay b Henley 0
D. W. S. S. Lane c Anson b	T. H. Marshall c Fosh b Chol-
Cholmondeley 51	mondeley 0
E. N. W. Bramall c Boissier b	C. M. Wheatley not out 48
Henley	W. G. Keighley c Smith b Readman 4
H. M. Chinnery c Fosh b Chol-	J. F. Cory-Wright c Anson b
mondeley 0	Henley 10
E. H. Spooner c Anson b Chol-	Extras
mondeley 0	11 2 2 2
	190

Harrow School

M. A. Smith c Keighley b Wheatley H. P. G. Cholmondeley c Chinnery b Wheatley		D. C. H. McLean st Spooner b Wheatley A. J. S. Griffin not out J. Gordon c Chinnery b Keighley I. R. Readman c Spooner b Floyd A. Fosh absent ill Extras	0 2 0 2
	1		54

Harrow Bowling

	U.	IVI.	K.	W.	
Henley	18.1	4	53	3	
Griffin	10	2	32	0	
Readman	14	1	38	3	
Gordon	9	1	42	0	
Cholmondeley.	7	2	9	4	

Eton Bowling

Wheatley 16 6 31	
	7
Keighley 14 6 16	1
Floyd 1.3 0 5	1

MALVERN COLLEGE v. LANCING COLLEGE

At Malvern, July 12. Lancing won by 51 runs. P. W. Pierrepont saved them from a batting breakdown. Only W. H. Davies and J. T. Davison of the Malvern batsmen achieved much.

Lancing College

A. F. Wallis c Davies b Chesterton 4 B. Roberts c Lowes b Harrison . 5 P. D. S. Bushe c Davies b Harrison 12 R. H. Burton lbw b Chesterton . 14 A. C. Burnett c Foyn b Harrison . 26 P. W. Pierrepont not out	A. J. Quin run out	-

Malvern College	
J. H. Garson b Pierrepont	N. W. Sanderson lbw b Thunder
J. T. Davison c and b Townend J. H. Carson run out	

BEAUMONT v. ORATORY

At Lord's, July 26. Drawn. Ruined by the weather, the match was abandoned after play had proceeded for an hour during rain which suddenly became a deluge. R. A. Slater, the Oratory captain, played good sound cricket until mistiming a slow ball that he intended to turn to leg. This stroke he usually made correctly, and his clean drives brought many runs. Beaumont showed up satisfactorily in the field. H. Churchill held good catches at slip in dismissing the first two men for similar scores, off Russell, a fairly fast swerve bowler.

Uratory	
RH. Smith c Churchill b Russell 13	D. Leask c Wallis b Nicholson
S. E. Hicks c Churchill b Russell 13	D. Wilson b Churchill
F. E. Thorneycroft b Russell 10	R. Loewenstein not out
R. A. Slater lbw b Churchill 58	B 7, 1-b 2, w 2, n-b 3
A. P. Stilwell b Russell 4	
J. E. Bodenham not out 23	A Silver of Contract

R. Edlmann and W. White did not bat.

Beaumont

B. Berkeley, J. Hird, J. Morrish, A, Nicholson, H. C. Holmes, C. G. Russell, B. Wallis, M. Sadd, H. Churchill, R. Meakins and P. Burns.

Beaumont Bowling

	0.	M.	R.	W.
Russell	20	3	43	4
Burns	7	4	12	0
Nicholson	11	3	26	1
Meakins	5	0	27	0
Churchill	6	0	26	2

Umpires: G. Beet and A. Fowler.

CLIFTON v. TONBRIDGE

At Lord's, July 28, 29. Tonbridge won by five wickets. In this closely contested struggle neither side could claim a winning advantage until Wiles hit up 21 of the last 24 runs and gave Tonbridge a capital victory. The match was a tie when he made an on-drive and in the exuberance of success the stroke was run out for its full value. This raised a nice point as to what would have been recorded if Pritchard, the Tonbridge captain, had failed to reach the crease before Gwatkin the bowler had put down the wicket. It was argued-could a man be out after the match was won? Also, should 4 have been added to the total when only 1 was needed to win the match? For the most part runs were obtained with so much difficulty throughout the game that Lendon-Smith, the highest scorer, created a specially good impression by his stylish defence and stroke play. He was last out in the first innings, attempting a hit that would have put Tonbridge in front and repeated his success in the final stage. Hickey and Lawrence-Archer, a left-hander, fared best for Clifton. Josephs, a lefthanded spin bowler capable of keeping a length and mixing his pace, looked the best attacker of careful batsmen; his nine wickets for 64 runs resulted from consistently good work. Marques swung the ball with medium speed; Wiles used leg-break effectively, and Pritchard, the Tonbridge captain, besides some useful bowling, showed sound left-handed defence at the final crisis. The fielding of both sides reached a high standard; all the catches were good, and the wicketkeepers, May, the Clifton captain, and Young, helped the bowlers efficiently,

Cliffon
Clifton F. Bishop c Wiles b Pritchard 7 — st Young b Wiles 8 J. D. May b Pritchard 4 — c Woodland b Marques 3 T. J. O. Hickey b Wiles 40 — b Pritchard 4 J. M. Josephs c LSmith b Pritchard 5 — c Wiles b Woodland 11 J. H. Lawrence-Archer b Marques 11 — c Hills b Wiles 33 P. V. Dodge not out 18 — c Pritchard b Hills 10 D. A. Imlay c Woodland b Wiles 15 — b Marques 0 C. P. Lewis Smith c Marques b Wiles 4 — b Woodland 0 G. H. Addenbrooke b Marques 1 — not out 10 J. R. Block b Marques 0 — b Wiles 5 A. W. Gwatkin b Marques 4 — b Wiles 0 B 11, 1-b 1, w 2 14 B 5, 1-b 1 6
$\overline{123}$
Tonbridge P. A. Masters b Block 9 — run out 30 C. J. Matthew c LArcher b Block 0 — st May b Addenbrooke 13 L. J. Lendon-Smith b Josephs 67 — b Josephs 21 S. S. L. Marshall b Josephs 7 — c LArcher b Josephs 3 G. H. P. Pritchard Ibw b Josephs 4 — not out 8 S. F. Hills b Josephs 5 — b Josephs 2 G. J. Maughan b Gwatkin 11 1 C. V. L. Marques Ibw b Gwatkin 5 5 C. S. Young b Josephs 8 M. F. Wiles not out 0 — not out 21 A. L. Woodland b Josephs 1 B 3, I-b 1 4 L-b 1, w 2 3
121 Five wkts. 101
Tonbridge Bowling
O. M. R. W. O. M. R. W.
Marques 9.2 6 8 4 10 2 27 2 Matthew 7 3 11 0 5 4 1 0 Pritchard 12 2 30 3 6 1 11 1 Woodland 3 1 9 0 8 2 14 2 Wiles 12 0 30 3 9.3 1 30 4 Hills 5 0 21 0 3 1 6 4

Clifton Bowlin	g							
different party of the	0.	M.	R.	W.	0.	M.	R.	W.
Gwatkin	8	3	22	2	 8.4	3	23	0
Block	10	0	36	2	 2	0	6	0
Josephs	10.2	2	29	6	 15	2	35	3
Lewis-Smith	3	0	18	0			2.7	
Addenbrooke	5	0	12	0	 9	0	34	1

Umpires: G. Beet and A. Fowler.

RUGBY v. MARLBOROUGH

At Lord's, July 30 and 31. Drawn. Hours of play were limited each day Marlborough 112 runs for four wickets on Wednesday, and next day Robertson became the fifth man to get well into the "twenties." He and Sewell both hit freely after Hodson and R. J. L. Altham, a son of the cricket historian, had shown the way to punish the bowlers in a stand for 44. Good driving marked almost all the batting. In the brief period for which Rugby were at the wicket Johnson-Gilbert enjoyed the little satisfaction possible under the existing conditions of making the highest score of the match, and his 30 not out showed him as a sound batsman. His opening stand for 59 with Boyes, the seventh scorer of over twenty, was the best of the match.

V	Iarll	oro	ug	gh	
*					4

A. Bagot b Aitchison 29 G. E. S. Woodhouse run out 14 R. A. Fletcher c Macaulay b	J. W. Sewell c Wadham b Aitchison 23 P. A. Robertson not out 25 A. N. C. Lothian c and b Aitchison 7
Hussey	B 4, 1-b 2, w 7 13
b Hussey	Eight wkts., dec. 179
O C Prott and P M R Sutcliffe did no	ot bat.

O. G. Pratt and P. M. B. Sutcliffe did not bat

Rugby T. I. Johnson-Gilbert not out	30	L-b 1, n-b 1			2
J. A. Boyes b Studdert-Kennedy J. C. Wardill not out	27			One wkt.	71
		D Massalan	TO NA	T Doborto	on

M. F. Pyman, F. E. Reeves, R. N. Wadham, J. D. Macaulay, E. M. L. Robertson, S. C. de L. Aitchison, M. J. Hussey and A. C. Guthrie did not bat.

Rugby Bowlin	σ				Marlborough	Bowl	ling		
Aitchison	O. 15.5	M. 3 4 2 0 0	R. 42 61 44 16 3	W. 4 3 0 0 0	Lothian	O. 4 3 3 7 2	M. 0 1 0 0 0 0 1	R. 15 2 10 30 5	W. 0 0 0 0

Umpires: G. Beet and A. Fowler.

CHELTENHAM v. HAILEYBURY

At Lord's, August 1, 2. Haileybury won by an innings and 191 runs. The better side in every respect Haileybury showed to marked advantage. Purkiss, a right-hand medium-pace bowler, who used varied spin and speed, put his team on the way to victory and he had a large share in the success. Fairbairn, the captain, bowling left-hand, took the chief part in the final stage and, besides his success with the ball, he brought off a brilliant right-handed catch close to the

ground at mid-off and so completed a genuine triumph. Souter, who enjoyed the special satisfaction of scoring a century at Lord's, used his height in driving and he cut well. He made his 101 out of 178 in two hours twenty minutes and so gave Haileybury an enormous advantage on the first day. Theobald and Dickinson got their runs in good style.

Cheltenham							
R. A. St. M. Reeve-Tucker c S	-Mark	2					
b Rees		24	— 1by	w b Fai	rbairn		5
D. H. McNeile c SMarks b Purl	kiss	. 18	- b]	Fairbair	n		0
D. A. T. F. Swiney c Weber b Pu	rkiss	. 1	— c I	Davie b	Purkiss		2
B. Moxon lbw b Purkiss		. 0	— c I	Fairbair	n b Pur	kiss	0
J. R. Fischel not out W. Pakenham-Walsh c Fairbairn b	Distant	. 13	- rui	out			
C. R. Gordon b Purkiss	T ul Kis		- b	Fairbair	n		0
G. K. Johnston c Fairbairn b Red	es	11	- cl	Fairbair	n h Ree	s	3
A. E. Heming c Fairbairn b Dick	inson.	. 0	- c	Souter b	Dickin	son	0
D. St. J. B. Atkinson c Souter b D	ickinson	n 1	cl	Tairbair	nh Dag	0	1
J. W. Tapp c SMarks b Rees		. 0	— no	t out			7
N-b 1		. 1					
		72					27
Haileybury		14					37
L. K. Purkiss c Swiney b Moxon.	25 1	Α.	TD	ا ماداسم،		tkinson	THE REAL PROPERTY.
J. S. Souter c Tapp b PWalsh	101		LTuck			Kinson	
A. Fairbairn b Moxon	. 0	A.	F. Wel	per b Sy	vinev .		20
S. T. Theobald c Tapp b PWals	h 49	R.	R. Ree	s lbw b	Moxon		12
J. D. H. Whittome lbw b PWals	h 11	Н.	A. Stac	y-Marl	cs not o	ut	1
M. L. Bourdillon b Tapp M. Davie c Tapp b PWalsh	. 11		B 4, 1	-b 2			6
and barrie o Tapp of 1 Walsh	. 11						300
Haileybury Bowling							300
	D	***			1 n .) be		
O. M. Purkiss 12 2	R. 26	W.		O.	M.	R.	W.
Fairbairn 4 0	20	5		8	6	10	2 4
Rees 10.3 2	23	3		3.5	0	10	2
Dickinson 3 1	2	2		5	0	8	1
Cheltenham Bowling							
Pakenham-							
Walsh 31 7	78	1					
Swiney 11 2	35	1					
Tapp 17 1	70	î					
Moxon 26 2	83	3					
McNeile 3 0	22	0					
Reeve-Tucker 0.5 0	6	1					

Umpires: G. Beet and A. Fowler. MIDDLESEX AND ESSEX v. KENT AND SURREY

At Lord's, August 4, 5. Drawn. Rain brought the match to a premature close when there was every likelihood that the policy of E. R. T. Holmes in giving the opposition first innings would prove fatal to his side. So brilliantly did the Middlesex and Essex batsmen hit that they scored 400 by tea-time while six wickets fell. In an opening stand of 163 Robertson showed skill in strong driving and pulling. Avery, less powerful, cut well and placed his on-side strokes cleverly, but hit only four 4's. Edrich followed with a splendid century in eighty minutes, runs during his stay coming at over two a minute. He hit twelve 4's.

A LORD'S XI v. PUBLIC SCHOOLS

At Lord's, August 7. A Lord's XI won by nine wickets. Put in to bat by Captain D. R. Jardine, the Schools fared very badly, the only stand being by Bailey, of Dulwich, and Spooner, of Eton, who made 62 for the fifth wicket. Bailey was out unfortunately when set; he again played well when Jardine's declaration allowed the Schools an opportunity to bat a second time, and he hit the last ball for the only six of the day. Purkiss and Wilson gave a good display in scoring 49 together, but success in batting was confined almost entirely to the opening stand for the Lord's XI by Walford, the Oxford Blue, and Bridger, of the current Cambridge team. By hitting up 86 they practically won the match in an hour; they both cut and drove in capital style. L. Allen kept up his bowling form.

muiches ui	Lora S in 1941
Public Schools XI G. A. Wilson (Oundle) b Wheatley	10 — c Bebbington b Rogers 24 2 — run out 23 Illen 3 — c Wheatley b Felton 11 3 — st Bebbington b Felton 7 34 — not out 20 32 — not out 0
H. P. H. Kiddle (Dulwich) c Wheat	tlev
b Allen	··· 4
B 1, w 1	2 L-b 2, w 1 3
A Lond's VI	98 Three wks. 88
A Lord's XI 2nd Lt. M. M. Walford b Bailey. 50 J. R. Bridger not out 71 W. M. F. Bebbington c Bailey b Keenan	B 8, 1-b 4, w 2, n-b 1 15 Two wkts., dec. 159
Capt. D. R. Jardine, S. S. Rogers, J. Cartwright, L. Allen and C. M. Wheat	A. Mence, R. Felton, LtCol. G. H. M.
Lord's XI Bowling	
Wheatley 9 5 17	W. O. M. R. W. 2 4 0 9 0
Allen 17.1 4 24	$5 \dots 3 0 11 0$
Felton 5 0 13	$0 \dots 11 \qquad 0 \qquad 11 \qquad 0 \qquad 0 \qquad 0 \qquad 0 \qquad 0 \qquad 0 \qquad 0$
Bridger 5 0 27	
Cartwright 10 3 15	2
	ence 2 0 17 0
Ro	ogers 9 2 25 1
Public Schools Bowling	
Kiddle 7 2 23	0
Purkiss 4 0 10	0
Henley	0
Gray 10 1 29	0
Ainsworth 3 0 20	0
Bailey 5 0 14 Keenan 3 0 15	1
Keenan 3 0 15 Darwin 3 0 19	
Darwin 3 0 19	0

Umpires: G. Beet and A. Fowler.

August 9. R.A.F. (Uxbridge) 157 (Cpl. A. Riddington 46, S. W. Bassham five wickets for 43); Metropolitan Police "D' Division 237 (H. S. Stoneman 84, J. Wills 56). Metropolitan Police won by five wickets.

Drawn.

NORTH v. SOUTH PUBLIC SCHOOLS

At Lord's, August 30. South won by 247 runs. Wilson, the North captain, was unfortunate in giving his rivals first innings. Deshon (Sherborne) completed his 100 before lunch, and his stand with Bailey realised 173 runs in an hour and fifty minutes. Their stroke play all round the wicket revealed marked skill in control and placing the ball. Bailey, bowling fast with accuracy and length, caused a complete collapse of the North batsmen. At one time he took three wickets in four balls. The state of the pitch changed very little in the course of the day and admirable work by all the South bowlers accounted for the failure of the North batsmen.

South Public Schools D. P. T. Deshon (Sherborne) c Jennings b Keenan1

K. A. H. Hinge (Westminster), A. W. H. Mallett (Dulwich), D. A. A. Gray (Winchester) and J. R. Williams (Wellington) did not bat.

North Public Schools

G. A. Wilson (Oundle) c Williams b
Purkiss
A. V. H. Wardle (Sedbergh) c Spooner
b Mallett
M. L. Y. Ainsworth (Shrewsbury) b
Bailey
G. A. Wheatley (Uppingham) b Gray
G. C. Buchanan (Worksop) lbw b Bailey
J. Mackinnon (Shrewsbury) c Deshon
b Gray
T. J. D. Walker (Oundle) not out
E. D. Jennings (Liverpool) b Bailey
J. R. Ralphs (Repton) b Bailey
J. Hunter-Gray (Ampleforth) b Bailey
J. A. C. Keenan (Stonyhurst) b Purkiss
N-b 1

-		
6		
12	— c Purkiss b Gray	1
	— b Mallett	3
	— not out	29
	- c Hickling b Williams	6
1		

Five wkts. 64

THE SCHOOLS

(Scottish Schools will be found at the end of this section)

Aldenham School. In winning seven matches, drawing five and losing only one, the team of 1941 could fairly claim to have established something of a record, a great many years having passed since such success was achieved. Throughout the season a fine team-spirit existed, every man pulling his weight.

In batting, W. E. Henley, D. E. Blake, D. G. Curling and J. G. Dewes were outstanding. Profiting by a year's experience, K. G. Hickson captained the side skilfully and inspired them with some of this own enthusiasm. The best bowler, R. C. A. Fitzgerald, was well supported by P. S. Taylor, Henley, W. T. Hoy and W. G. Batham, who provided a pleasing contrast in pace and style. The fielding as a whole, and particularly the ground-fielding, was safe and often brilliant apart from an occasional epidemic of missed catches. D. E. Blake kept wicket admirably.

Allhallows School, hampered by the transport problem, played few matches, but, under the captaincy of G. E. C. Corden-Gilbert, enjoyed their cricket. D. C. Sidney was easily the best batsman and Corden-Gilbert the most effective bowler.

Ampleforth College, a youthful team, could not maintain the same high standard as the 1940 eleven; four games were won as against three defeats, with one match left drawn. The chief weakness lay in batting, there being no run-getter of special skill, though J. H. Hunter-Gray—chosen for North against South Public Schools at Lord's—and C. D. Smith, the captain, played some valuable innings. Little fault could be found with the bowling, in which P. F. Hobden and Hunter-Gray bore the major part and A. T. Macdonald and M. W. Bruce lent variety.

Bancroft's School did well, winning four of their school matches and drawing the other two. Of J. C. Mace, a most successful captain, the master in charge of cricket wrote: "His close association with a land-mine in the spring-time seemed only to stimulate his batting powers, and he scored far more heavily than ever before." J. C. Makey also showed improvement and became a reliable No. 1. K. J. Watson scored rapidly now and then, but on the whole he disappointed. The bowling, in the hands of W. J. Smellie, K. H. Stevens, Mace and C. J. Hull, was good, and G. K. Swinscoe kept wicket satisfactorily.

Beaumont College. Considering that seven old colours were available, the team under the captaincy of H. C. Holmes could

scarcely be regarded as successful. As many as seven matches were drawn, four greatly in the School's favour. The Lord's game, with Oratory, unfortunately suffered from rain when in an interesting position. Though responsible for the highest score, 116, Holmes lacked consistency in batting and also fell away as wicket-keeper. The run-getting depended mainly upon C. G. Russell, J. Morrish, B. Berkeley and A. Nicholson. Russell, fast-medium, and P. Burns, left-hand, bore the burden of the attack and, together with A. Nicholson, comprised the chief bowling strength. The fielding, particularly that of Berkeley, reached a high standard. Holmes goes up to Cambridge in 1942, but five of the eleven return.

Bedford School. With eight old colours to hand, Bedford must have anticipated a better season. True they lost only two of thirteen fixtures, but they drew on eight occasions and knew victory on but three. Hard wickets revealed bowling weakness and the fact that the run-getting lacked the initiative necessary for one-day matches. A wet season would probably have resulted in a better record. Of the batsmen, L. F. L. Oakley, strong in front of the wicket and possessing a powerful hook, was the most successful. G. S. Smith again demonstrated his value as a steady No. 1; R. Evan-Jones, an enterprising leader skilled in tactics. proved the stylist of the team, and C. B. Donovan, A. C. W. Abrahams, the wicket-keeper and sole left-hander, and F. M. Fletcher played a number of good innings. As to the bowlers, there were only two upon whom reliance could be placed-A. A. Webber, left-hand, and Fletcher, right-hand, both medium-pace. This pair showed themselves capable of getting through a vast amount of work without loss of length, but no one else of real ability appeared and the absence of either a fast bowler or a legspinner was undoubtedly felt. With Haynes outstanding at coverpoint, Bedford's fielding was their best for some years, the one weak spot being the throwing.

In winning six of eight games, **Bedford Modern School** owed most to five players. G. Harrison, S. E. Pateman and G. H. Brice, the captain, took major honours in batting, and Brice and A. H. Hart did best in bowling. On a good wicket, Brice was always dangerous, for, in addition to his pace, he could make the ball turn either way. Six of the eleven will be back in 1942.

Berkhamsted School. While the School totals last summer seldom exceeded modest dimensions, several members of the eleven, notably J. K. Whitworth, the captain, J. S. Vazifdar, A. A. Grimsdell and W. R. Grimsdell gave indications that they should, in the future, be good for plenty of runs when they develop defensive stability. Easily the best score was that against M.C.C.

In reply to the Club's 277 for four wickets declared, the School hit 235, the whole team going boldly for runs without regard to the possibility of playing for a draw. If not inspiring, the bowling and fielding were steady.

Bishop's Stortford College. Had the batting reached the same level of excellence as the bowling and fielding, the young team, whose average age was 16, would have enjoyed a splendid season. N. J. Barker, the captain, was the most consistent scorer and, if more erratic than in 1940, occasionally proved devastatingly effective as a fast bowler. Much is expected of J. H. Spivey, a fourteen-year-old leg-break bowler. J. S. G. Smith, an attractive batsman for whom little went right last year, is the new captain and most of the old colours will return.

Bradford Grammar School. A young side met with fair success, winning three and drawing four of the nine engagements. E. Ambler, a capable captain, used with ingenuity the material at his disposal. With 95 not out against Bolton School as his highest innings, F. A. Lowson did most among batsmen, and Ambler and G. Holdsworth afforded him main support. W. M. Sutcliffe, not always able to keep a length, and P. W. Dobson did much good slow bowling. Though few catches were missed, faulty ground-fielding occasionally proved expensive.

Brentwood School, under the captaincy of O. J. Waldram, won seven and lost seven of their nineteen matches. A feature of the season was the consistent work of Waldram and P. S. Barker, the opening pair. W. R. Hanworth was again far and away the best all-rounder. The remainder of the team failed repeatedly in batting, and good fielding more than anything else won matches. As six of the Eleven have joined the Forces since the close of term, prospects for 1942 appear dubious.

Brighton College. Though liable to batting collapses on the slow wickets of the first few weeks, the team improved steadily, especially in fielding. K. H. Stevens kept wicket well, while the captain, D. R. Richards, was very safe at cover and handled his limited bowling judiciously. Of twelve matches, six were won and five lost.

P. A. M. Vaughan played several brilliant innings against the weaker opponents, and A. J. Stevens set a good example of steadiness and determination. Apart from a grand innings of 62 from the strong Sussex Club and Ground attack, Richards never got going in batting.

Bristol Grammar School. Ably led by R. G. G. Taylor, to whose fine example in the field everyone responded, the eleven

showed great promise. Apart from that of J. K. R. Graveney, the batting was irregular, though useful innings came from several others. Graveney was also the spearhead of an attack possessing little variety. R. Douse could not reproduce the form which gave him top place in the bowling figures of 1940.

Bromsgrove School, still in exile in Wales, had a disappointing season. Transport difficulties necessitated the cancellation of games with Lancing, Felsted and Wycliffe, and of the five matches eventually played, two were won and three lost. Lack of facilities for practice on turf wickets was largely responsible for the first two defeats, including that by three runs from Llandovery College. J. C. Davies, the captain, was, unfortunately, available only for the last two fixtures. In his absence the team was well led by E. J. Lloyd, who played some capital innings. J. M. H. Roberts, a stylish and forceful bat, a steady medium-pace bowler and a brilliant cover-point, was the "star" player.

Bradfield College began the season with so little talent at their command and wound up with so good a side that they should not have felt disgruntled at their record of eight defeats and three wins in thirteen matches. Indifferent form allied to inexperience resulted in many batting failures, P. E. Bodkin and N. E. H. Knight alone being reliable. The bowling, well handled by T. F. Gibbs and admirably supported in the field, was at times excellent, particularly that of D. J. Mitchell, J. G. S. Drysdale and I. M. P. Evans. Most of the eleven will be available in 1942.

The Bryanston School team did not entirely fulfil expectations. The batting was generally moderate, though I. S. Gordon Brown, P. M. Gale and the captain, C. E. Pope, each scored 50 or more on one occasion. Now and then the bowling was most effective —Pope took six wickets for 15 runs against Emanuel—but here again steadiness was not forthcoming. The one bowler able to vary flight and pace was J. G. Hillis, who, after a brief spell as wicket-keeper, developed into a most valuable member of the attack. As to the fielding, far too many catches went to grass. Of the nine matches, three were won and two lost. Gordon Brown will be captain for 1942.

Canford School, during a successful season, beat Dartmouth, Bruton, Downside and Taunton, and drew with Marlborough. The batting was rather limited. A. N. Mather, an aggressive opening batsman, hit 136 v. Downside and 60 v. Dartmouth; G. V. Surtees, a good stroke-player, scored 60 not out v. Marlborough, and P. Rowell, a capable captain, made runs readily against club sides. Apart from these three, the batting lacked distinction.

Two players took all the bowling honours. R. G. Knight, right-hand medium off-breaks, seldom lost his length during very long spells, and K. H. Buckley, with leg-breaks, enjoyed considerable success in school matches, taking eleven wickets against Downside. Both will be available in 1942. G. V. Surtees kept wicket smartly, but while the catching was good the ground-fielding left much to be desired.

Caterham School lost only one of their school matches, and in a programme of twenty-one fixtures secured thirteen victories. A powerful bowling combination was most effective on soft turf and B. J. C. Edwards, an intelligent captain, received first-rate support in the field. R. G. Broadbent proved outstanding as an all-rounder, with Edwards second best. D. G. Mobsby gave them best help in batting usually aggressive, and J. D. Griffin in bowling.

Charterhouse School, fortunate in being able to play all the usual schools except Westminster, won six of the twelve matches and lost only that with Eton—for the first time since the fixture was revived eight years previously. While containing no "stars," the eleven developed into a well-balanced whole which fell only a trifle short of the pre-war standard. With F. A. Peet, the captain, the most experienced and stylish batsman, R. W. Sword the most prolific run-getter, and A. S. Lovett and E. W. Lomas generally reliable, the batting was good down to No. 8. When, late in the season, they found places in the team, B. R. J. Walker and K. J. I. Harding also made runs readily and well.

The failure, through injury and other reasons, of the 1940 pace bowlers, W. H. Griffiths, right-hand, and D. G. Podmore, left-hand, came as a blow to the School, but P. White ably filled the breach. With his in-swinging deliveries, White dismissed six Wellington batsmen for 26 runs, took six M.C.C. wickets for 18 runs, and easily and deservedly headed the averages. Lovett and Sword were his most effective helpers. The fielding varied in quality. C. Crook improved after a shaky start and by the end of the summer was a first-rate wicket-keeper. Lovett will be captain in 1942.

Cheltenham College. It is a little difficult to look back upon the 1941 season, itself an unhappy one for the eleven, without giving the Lord's match too prominent a place. This game was a disastrous affair for Cheltenham, for, in Haileybury, they found themselves opposed to first-rate opponents who exposed their worst cricket failings. Defeat by an innings and 191 runs followed as a natural consequence. Two of the other four reverses were by desperately narrow margins, Stowe getting home by seven runs and Shrewsbury by only two runs.

Judging by ordinary standards, Cheltenham were a weak team who nearly always fought pluckily. The batting depended largely upon three men, R. A. St.M. Reeve-Tucker, J. R. Fischel and B. Moxon, for W. Pakenham-Walsh, though a keen and conscientious captain, seldom fulfilled expectations as a run-getter.

As to the attack, J. W. T. Tapp, who displayed special skill in fielding his own bowling, the untiring Reeve-Tucker, Pakenham-Walsh, with in-swingers, and Moxon comprised a set of bowlers whose zeal far exceeded their guile. D. St.J. B. Atkinson kept wicket soundly and the fielding for the most part was praiseworthy.

Chigwell School, despite war-time difficulties, fulfilled a full fixture-list with considerable credit to themselves, losing only one school match. The loss of B. C. Levett, who went up to Cambridge, left the School without a player of real experience, and the effect upon the batting was felt throughout the summer. Time after time a poor start threw extra responsibility upon the later batsmen, but, thanks to A. I. Leng, the captain, who has gone into the Army, and D. R. Carter, the innings often ended more happily than it began.

In bowling and fielding the team more than held their own. The pace and length of N. E. Whitcroft brought him great success; Carter, though more expensive, supported him well, and P. M. Marsh, with tantalising lobs, provided a valuable contrast. As most of the old colours remain, the nucleus of a strong side should be available in 1942.

For City of London School, who were evacuated and played their home games at Marlborough, last season was the best for at least fifteen years. Of nine games, six were won, two were drawn much in the School's favour, and the other lost. Among notable performances were those of B. J. K. Pryer, a slow spinner, in taking six Old Citizens' wickets for 10 runs and, on a lifeless pitch, in dismissing five Douai batsmen for 17 runs; also that of J. A. MacDougall, whose brilliant fighting innings of 96 had most to do with a victory by seven wickets over Oratory. Worthy of praise, too, was a dashing century—the only three-figure score of the summer—by J. G. H. Wadsworth.

If good bowlers were few, the attack usually proved adequate, though a really good fast bowler would have been invaluable. With five of the side staying on, Pryer, captain in 1942, should be

able to build up another excellent team.

Clifton College could reflect with satisfaction upon the season at Bude, for they won six of ten matches and lost two, the others being ruined by rain. Against Tonbridge at Lord's, their batsmen appeared overawed by the occasion and failed to reproduce the form shown during term; but they bowled and fielded well.

Well led by D. A. Imlay, whose father, A. D. Imlay, and uncle, G. H. T. Richards, in their time captained Clifton at cricket, the team possessed no outstanding players, but the batting was normally reliable practically to the end. I. F. Bishop, the only batsman to put together a three-figure score, made most runs, though T. J. O. Hickey was probably the best stroke-player. J. M. Josephs, chosen to play for Leicestershire during the holidays, and J. H. Lawrence-Archer also did good work in batting.

Besides the regular bowlers, Josephs, slow left-hand, J. R. Block and A. W. Gwatkin, there were several others who could keep an end going. Uncertain at first, the fielding improved considerably as the season progressed. A lot of the success was due to the experience and enthusiasm of R. A. Sinfield, the professional. Hickey, Josephs, Bishop, Block, P. V. Dodge and J. D. May, the

wicket-keeper, are expected back in 1942.

Cranbrook School did well, winning five of their six school matches and losing to Ardingly by no more than 26 runs. The strength of the team consisted in its varied bowling. D. A. Cleland, the captain, always a menace with slow left-hand spinners, was splendidly backed up by R. S. O'R. Shearburn, fast, and I. B. D. Bluett, medium, both right-hand. While there was no prominent batsman, all made runs on occasion. About half the side will be available for 1942, when the chief problem of the new captain, B. H. Taylor, will be the discovery of a good slow bowler.

Cranleigh School, lacking a consistent run-getter, fared moderately, losing six and winning three of their ten engagements. The bowling was fairly good. R. Morgan did well and should develop into a useful all-rounder. F. B. Kennington also bowled skilfully, but indecisive batting resulted in the loss of matches that appeared to be well in hand.

Dean Close School, winning only two matches, fell below the usual standard. For this, the batting was mainly to blame, for no player seemed appreciably better than his colleagues and no one could be termed sound. By contrast, the bowling was better than that of the previous year, both J. Hanson, the captain, now up at Oxford, and P. G. Turner achieving some capital performances. Towards the close, L. R. Griffiths, a left-hander, developed a length that promised well for seasons to come.

Denstone College, commencing with seven members of the 1940 side, felt an optimism that, despite the failure of some all-rounders of which much had been hoped, results justified. Seven of the nine matches ended victoriously, the others being drawn. No one showed consistency in batting and, indeed, C. E. Gilbert, D. J. Curry and D. A. A. Beardsmore often disappointed;

but ten members of the team wound up with double-figure averages and most made at least one good score. Beardsmore obtained the one century, 132 not out against King Edward's School, Birmingham.

The bowling rested largely in the hands of Gilbert and R. F. Simpson, both of whom gained first-rate figures. D. C. Good revealed promising form as a fast bowler, but Beardsmore, left-arm slows, and Curry, leg-breaks, met with small success. D. M.

Haynes captained the eleven efficiently.

The Douai School eleven, young and inexperienced, improved steadily as the season advanced. Easily the best batsman was the captain, J. T. Coombes; M. Gregory carried off the bowling honours. The curtailment of playing time necessitated by transport difficulties was largely responsible for ten of the thirteen matches being left drawn.

Dover College, evacuated to Poltimore, near Exeter, owed a tremendous amount to their captain, N. C. F. Bloy, whose leadership and all-round ability made him one of the most conspicuous players of the year. In a side that, as regards batting, could not be regarded as dependable, Bloy, possessor of a powerful drive, failed only once and ended with the grand average of 66.12. Happily, another batsman always rose to the occasion and afforded him valuable assistance. P. H. R. Hawkes, against Highbury, and S. F. McCrae, a sound wicket-keeper, provided typical examples. P. H. Davy, a much better batsman than statistics suggest, suffered from persistent ill-luck.

J. C. Farrar, fast, and Davy, with swingers, formed a more than useful pair of opening bowlers, and Hawkes, slow, took 30 wickets; but the cleverest member of the attack was Bloy, whose googlies and top-spinners brought about the downfall of more than

one strong batting combination.

Rain prevented play in three consecutive school matches, against Sherborne, Downside and Dartmouth, early in the summer, but after these disappointments all went well, and eight of ten fixtures were won without much difficulty.

Downside School, losing six matches, winning one and drawing one, did not experience a successful season. The reasons for this were twofold: the loss of several of the best players of 1940, notably H. E. Watts, and the youthfulness of the team. Thanks in no small measure to the efforts of the captain, R. D. C. Bacon, however, a steady improvement took place, and there existed every probability of the team developing formidable qualities in 1942. V. Wylie and J. M. Poland proved a sound opening pair of batsmen, and A. D. Petri, strong in defence, and P. H. Quincey-Carter, more aggressive, showed distinct promise. Bacon and R. V. H.

Medley, both slow-medium, formed the main bowling strength, with able help from L. R. B. Addington. M. D. Corbett kept wicket admirably.

Dulwich College were fortunate to be able to place in the field a team in which every player worked manfully. Yet there could be no question that T. E. Bailey, A. W. H. Mallett and H. P. H. Kiddle, three all-rounders, were outstanding to a remarkable degree. The development of Bailey was prodigious, especially considering his muscle injuries of 1940. In addition to shouldering the responsibilities of the captaincy with spirit and success, he accomplished a series of excellent achievements, not only as a batsman possessing a variety of free and well-executed strokes, but as a genuine fast bowler. His 851 runs, average 121.57, and 41 wickets, average 12.65, spoke for themselves.

Kiddle, the other opening fast bowler, made the most of his fine high action, excellent length and skilful variation of pace, and his record of 50 wickets for 7.86 did him no more than mere justice. He caused complete havoc among the weaker opponents.

The value of Mallett was greater than ever. By his pace off the pitch, he took 31 wickets, and delightfully exuberant batting brought him 581 runs. Small wonder that the remainder of the side paled into something approaching insignificance by comparison with this trio, though all fielded grandly and O. F. Jackson kept wicket smartly. Bailey, Mallett, A. F. Harlow, R. G. Hulbert and D. E. Tunnadine stay on.

Of the programme of fifteen matches, Dulwich won 11, lost

one and drew one, two being abandoned.

Durham School. A weak side won only two and drew five of ten engagements J. P. Anderson, the captain and only bowler of class in the eleven, was on his day very good, but had too much to do. The batting, largely because of inexperience and consequent lack of confidence, disappointed. Prospects for 1942 are brighter, for seven of the old colours, including Anderson, stay on and some of the younger players show promise.

Eastbourne College, evacuated to Radley College, played sounder cricket in a restricted programme of six matches than had been anticipated. Had they possessed reliable change bowlers, they would doubtless have done better. As it was, N. G. O. Gourlay, the captain, had to depend too much upon his opening bowlers, D. J. Gispert and N. R. M. Philcox. Gourlay was the best batsman, and the Hon. K. H. L. Lamb, P. A. Chard, B. L. G. Beeson and A. B. Curtis played some promising innings. A. B. Curtis will be captain in 1942, with probably seven old colours to form the backbone of the team.

The Ellesmere College eleven did better than was suggested by the results of their eleven matches—five lost, three drawn, three won—for most of them were against R.A.F. and Army teams which included a number of county and minor county cricketers. J. K. Davies, a keen captain, headed the batting averages mainly on the strength of a century against a Royal Artillery XI, but M. Watts, a newcomer, was the most consistent batsman and, with P. A. Gillespie, participated in some capital opening stands. Though steady, the bowling was never really good, but the fielding reached a high standard.

Eltham College. From the point of view of results, the season brought little success, three of the thirteen games being won and seven lost. M. A. Beechy, M. T. S. Lind, J. A. Battle and T. G. Light formed an excellent set of bowlers, but no batsman made runs consistently. A. W. Wellard, of Somerset and England, acted as coach.

Epsom College. Reasonable success attended the efforts of the team, who won three of the four matches against other schools and also registered a decisive victory over M.C.C. D. J. Sheerboom, the best all-rounder, headed the batting figures, with J. E. R. Dixon, who almost invariably played beautifully correct cricket, the most prolific scorer. N. O. Bennett, a cricketer of great promise, outstanding in the field, failed to do himself justice with the bat. Though overworked, the three principal bowlers, L. A. Wilson, Sheerboom and K. R. Dempster, rarely lost accuracy.

Eton College again did well, beating in school games Harrow, Charterhouse, Marlborough and Radley, drawing with Haileybury, and losing only to Winchester. Notwithstanding this, team-work did not develop as should have been the case, and the fielding in some cases often left much to be desired.

The captain, H. M. Chinnery, batted consistently and in attractive style throughout the season, producing some polished strokes, and E. H. Spooner, son of the famous R. H. Spooner, always played enterprisingly besides keeping wicket with impressive skill. Good work in run-getting also came from D. W. S. S. Lane, E. N. W. Bramall and the Hon. C. H. B. Pease, but a sound opening pair never came to light and a favourable start was an exception.

C. M. Wheatley, medium-pace in-swingers, was by far the most effective bowler. W. G. Keighley kept an admirable length, as did the left-handed T. H. Marshall, and much is expected of J. F. Cory-Wright, who made the ball break sharply from the off.

Bramall, captain in 1942, will have all these bowlers, besides Pease, at his disposal.

Evacuated to Herefordshire, Felsted School, under the captaincy of W. R. Gaunt, won four of their seven school matches and lost only that with Shrewsbury. Gaunt, who took seven Westminster wickets for 37, and C. G. Sandys did much good work in bowling. B. G. Cangley, H. L. Harrison and B. D. Wix were the most successful run-getters.

Framlingham College could congratulate themselves upon winning eleven of their sixteen matches, for theirs was a very young team. O. J. M. Ford, the captain, worked hard and successfully as an all-rounder, as did G. B. Whittaker. This pair, with M. C. Bridger and J. M. Ruffel, took the batting honours, though J. W. C. Hepburn, B. L. Shelley and J. O. Wiginton did enough to suggest better things to come. Whittaker, with his slows, Ford, M. F. H. Dobson and Ruffel comprised an attack both varied and accurate. Reference must be made to the excellent wicket-keeping of Bridger, the youngest member of the eleven.

Giggleswick School took part in some most exciting matches, of which that with St. Peter's, York, ended in a tie. Though the bowling was good and the batting, without attaining to great heights, more determined than in recent years, the fielding was always poor. K. L. Wilson, the captain, a left-arm slow bowler of ability, suffered particularly from missed catches and indifferent wicket-keeping. Of the other members of the attack, S. Ashworth, fast-medium, R. Riley, swingers, and H. A. Chapman, off-spinners, all did well at times.

Probably the best of the batsmen was P. Jackman, who watched the ball closely and employed a strong drive. T. P. Randle, a left-hander who scored a century in the last game, would have done better had he learned to use his feet. Wilson's batting disappointed. At least five of the eleven are expected to be available for 1942.

The record of **Haileybury College**, probably the most powerful school side of the season, did not do them full justice. They won five of thirteen matches and lost one, but rain prevented them from winning several of the seven drawn games. In the crowning triumph at Lord's they outplayed Cheltenham and inflicted a crushing defeat in an innings with 191 runs to spare.

The batting strength was formidable indeed, and such was the success attending the earlier batsmen that No. 7 played only four innings during the summer! A. Fairbairn, the captain and a left-hander, scored 672 runs with an average of 74.66, using a varied array of splendid forcing strokes. L. K. Purkiss and J. S. Souter, the opening pair, almost invariably gave the innings a sound start, and the graceful S. T. Theobald always scored readily. These four players and M. Davie all hit centuries. There were, of course,

other good batsmen who seldom received the opportunity to demonstrate their skill.

A. J. Dickinson, off-breaks, and R. R. Rees, leg-breaks, bowled their slows cleverly for long spells with fine backing from often brilliant fielding. Fairbairn and Purkiss, bowling swingers with a leg-side "trap," met with increasing success as the summer advanced.

Harrow School suffered from unreliable batting. The Harrow Wanderers match provided their only victory; they drew on seven occasions, and lost, after dismissing their opponents for moderate totals, to Eton and Winchester. Against Eton, the luck of the weather told heavily against them, high hopes of a win swiftly disappearing when a thunderstorm left the pitch soft on top and hard underneath.

The absence during the first part of the season of the captain, D. F. Henley, undoubtedly affected the team, and when he did resume his place he had little time in which to settle down. Still, he gave a taste of his quality against Harrow Wanderers, hitting 105 runs by bright methods and taking six wickets. G. F. Anson, an able substitute captain in the early matches, began in grand run-getting form, but could not maintain it, though he finished at the head of the averages. M. A. Smith, too, was latterly somewhat out of luck. D. C. H. McLean, H. P. G. Cholmondeley—one of the most improved batsmen of the year—I. N. Mitchell, P. C. Boissier and A. J. S. Griffin played some valuable innings.

Apart from I. R. Readman, off-breaks, none of the slow bowlers tried could develop accuracy, though, against Eton, Cholmondeley surprised everybody by disposing of four men for nine runs with his left-hand spinners. Consequently, with the attack so largely in the hands of those of greater pace, there was not the variety that could have been desired. Still, Henley, Griffin and J. Gordon between them did a lot of hard and occasionally telling work. Six of the eleven should be available in 1942: Griffin, Cholmondeley, Readman, Mitchell, Gordon and A. Fosh, a wicket-keeper.

Hereford Cathedral School. Unstable batting and uncertain fielding were the main causes of a moderate showing. The bowling was above the average. J. M. Burch made the ball swerve and break, and H. A. Rudge, the captain, without being as dangerous as in 1940, still kept up a fast pace. K. Shearer, little used, bowled a deceptive off-break. Rudge occasionally batted attractively and T. J. Goddard-Fenwick put power into unorthodox strokes, but N. R. D. Roberts, a sound opening batsman, enjoyed little luck.

Highgate School, evacuated to Westward Ho!, won five of their nine matches and lost three. That with Blundell's was cancelled

because of rain. S. S. Rogers and R. A. Stillman provided the principal batting strength, best help coming from R. A. Clark and K. I. Thornton, but the team did their most efficient work in the field. Steady bowling smartly backed-up more than once resulted in the turning of the tables when the position appeared well-nigh hopeless. Stillman, fast-medium left-hand, R. H. Buckbarrow, slow off-breaks, and Rogers, medium-pace off-breaks, constituted a reliable attack which Rogers managed astutely. During the holidays Rogers impressed many people while making several appearances at Lord's.

To Hurstpierpoint College the season brought great success. The feature of their play was strength in attack, L. C. Henwood, P. L. L. Roussel, R. D. Austen-Smith, R. E. Miller and P. J. West all earning fine figures. With the exception of that of Henwood, the captain, who headed both sets of averages, the batting was uneven, though one or another usually "came off" in every match. Henwood, a medium-pace spin-bowler, played several times for Surrey Colts.

Imperial Service College. While the bowling, the major burden of which fell upon the shoulders of N. G. R. Halliday and G. H. M. L. Drummond, was for the most part satisfactory enough, the batting left a lot to be desired. R. M. Holmes, a temperamental wicket-keeper, was fairly successful in run-getting, and would have done better had not the responsibilities of captaincy adversely affected his play. J. C. Bell ran into his best form late in the summer; H. E. G. Dyer did not make the runs he should have done because he took insufficient care to play himself in, whereas R. C. J. Robertson varied strong hitting with watchful defence.

The King Edward's School, Birmingham, programme, seriously curtailed by travelling difficulties, provided a series of disasters. None of the school matches ended victoriously, and against Denstone the team suffered a particularly crushing reverse. The batting was woefully weak, with R. E. Kirby, captain for a second year, the best of a poor lot. While not deadly, the bowling was quite good, but received little chance or encouragement from small scores. G. A. Stark worked hard as stock bowler and C. F. Figures did well, but a fast bowler would have been a great asset. All but two of the old colours stay on.

King's School, Bruton. Until the last few games, the batting was moderate. Only three of fifteen fixtures were won and nine lost. R. F. Lemon, who scored the only century, H. D. Frampton, the captain, and J. S. Rees were the chief run-getters. D. R. Gifford, D. H. Harvey-Williams, J. S. Porter and D. P. Pirie com-

prised an attack of distinct worth, and the fielding was usually safe. As the side were so young, prospects for 1942 appear much more fayourable.

The combined forces of King's School and St. Edmund's School, Canterbury, evacuated to Cornwall, met with great success, winning every match except that with Clifton, in which rain intervened. Fine bowling, supported by extraordinarily keen and tenacious fielding, made them dangerous even when the game appeared to be going adversely. J. Corben was the outstanding figure in an eleven that owed much to the coaching of Frank Woolley. Seldom did Corben fail to take at least seven wickets in a match and never was he completely mastered. On helpful pitches he was devastating. D. Willsdon, without being really dangerous, often demonstrated the value of immaculate length. J. Ommanney and H. Wilford were the most successful run-getters, Corben, except for a brilliant innings of 55 at Dartmouth, batting in indifferent form.

No colours remained from 1940 at King's School, Ely, and only three of fourteen matches were won and six lost. Happily the team progressed favourably with experience. P. H. Randall improved out of all knowledge in batting, and J. L. V. Summerhayes developed into a reasonably good off-spin bowler. R. C. Bridges, besides doing sound work behind the wicket, put together some useful scores.

King's School, Peterborough, were fortunate in being able to fulfil a normal fixture-list. They won six, tied one, and lost five of sixteen matches. V. T. Bridge, a useful all-rounder, captained the side well, but chief honours fell to G. Shepperson, who, with left-hand batting and right-hand bowling, deservedly headed both sets of averages, besides holding more catches than any of his team-mates. J. E. Rudd and W. R. Utteridge also rendered able service.

King's College School, Wimbledon, like so many other schools, suffered from a dearth of class batsmen. Only four men averaged double figures, and a collapse often followed a useful start by D. H. L. Wadsworth and P. R. Chase. The bowling depended largely upon L. T. Cotton, the captain and a fast bowler of merit, Chase, slow, and J. C. Penfold, slow-medium, but with so little other talent to hand, they were sometimes overworked.

The Kingswood School, Bath, eleven, though not always reliable, was one of the best in their history, despite the almost entire absence of opportunities for real coaching at Uppingham,

to where the School evacuated. R. G. Pentney, the captain, played some splendid innings as opening batsman, with D. G. Frampton, H. W. Lester and E. P. Bottomley best of the others. Pentney also bowled admirably, as did P. B. Rattenbury.

Lancing College won three and lost three of their ten matches, but, as seven members of a young team are staying on, should improve upon that record in 1942. The batting was fair, A. C. Burnett, the captain, heading the list, and nine players in all gained double-figure averages. On the other hand, the attack lacked variety, and P. W. Pierrepont and R. H. Burton, well as they bowled, were given too much to do.

Leeds Grammar School, though unbeaten, drew four of their nine engagements mainly because of inability to get opponents out and the poverty of the fielding. Then, too, while the batting was solid enough, more than five victories might have been gained had the run-getting at times been more rapid. J. W. Sunderland, a good captain, timed his declarations well and kept wicket smartly. J. M. Walton and A. M. Ivey were prominent as batsmen. M. R. Nicholson did some effective work with the ball, and L. E. Bliss, the stock bowler, played untiringly.

Several of the young Leighton Park School team will again be available in 1942, when better results should be reached than the three wins, three draws and six defeats of last year. Several players of promise included P. J. Hobson and A. E. Timaeus of the batsmen, and J. McMichael among the bowlers. The captain, R. A. K. Burton, hit the only century.

In their temporary home at Pitlochry, The Leys School triumphed over unfavourable conditions and enjoyed entertaining cricket. A matting-covered concrete pitch was laid, after much levelling of a miniature golf-course, and the result was a wicket from which the ball generally, but not always, came through at reasonable height. Forfarshire inflicted the two defeats suffered in eight matches by the School.

The feature of the season was the fast bowling of G. H. Dunkerley, admirably supported by M. M. V. Leonard. On the home pitch, Dunkerley often proved almost unplayable, and both he and Leonard received splendid help in the field. The batting never settled down, though Dunkerley played several breezy, attacking innings. With the exception of the match against Merchiston, J. Pepper, the captain, and H. G. Witherington were too often overborne by a sense of responsibility.

An unreliable side, Liverpool College depended almost entirely upon the captain, E. D. Jennings, who scored the bulk of the runs.

An unexploded bomb, preventing practice on the field till the second week in June, probably accounted for weak displays in early matches. The bowling was moderate, N. L. Lunt being fast but very erratic. Jennings managed the attack well, but his arrangement of the field was often open to criticism.

No member of the Malvern College eleven did more to ensure a satisfactory season than G. H. Chesterton, whose all-round ability, keenness and appreciation of the finer points of captaincy enabled him to get the best out of his colleagues. He scored 435 runs, average 43.50, and took 45 wickets at a cost of 12.89 runs apiece. The other opening bowler, J. G. Harrison, also bore a leading part in the side's victories.

Most consistent among the batsmen was W. H. R. Davies, a reliable and stylish player who should do well in 1942. W. W. H. Foyn and J. H. Carson also accomplished good performances occasionally. The fielding was excellent; ten opponents were run out during the summer. Of the eight school matches, four were

won and three lost.

Marlborough College won two of their seven school matches, drew four and lost that with Eton. Against Wellington, beaten by 163 runs, G. E. S. Woodhouse, captain in 1942, and A. Bagot shared in a record opening stand of 184. Noteworthy, too, was the victory over Cheltenham, for, left ninety-five minutes' batting, Marlborough hit 178 at the rate of two a minute and got home by eight wickets. R. A. Fletcher, very quick between the wickets, and Woodhouse, who took the honours in this performance, were the team's chief run-getters. J. W. Sewell and C. J. Studdert-Kennedy, too, scored skilfully.

Though many of the team took a turn in bowling, none met with pronounced success. Besides Woodhouse, R. J. L. Altham and O. G. Pratt of the old colours are staying on, besides a number

of promising players from the second eleven.

Merchant Taylors' School. Although, on the whole, results were satisfactory, seven of thirteen matches being won and only one lost, the season produced few outstanding individual performances. J. B. Marriott, the captain, if playing two good innings—he and H. R. Stephens shared in an unbroken stand of 149 against St. Paul's—fell below the batting standard expected. J. S. Weston, returning to wicket-keeping after a season's lapse, made some valuable scores, and D. B. Clark played consistently well throughout the summer.

Of the bowlers, R. B. Hawkey, usually concentrating upon the leg-stump, proved most successful. G. L. Robins, though working tirelessly, failed to show the same "sting" as in 1940. On his few appearances, H. C. Huxley made excellent use of the new ball. Next season's captain, Stephens, will have the support of old colours in G. A. Wilson and L. W. G. Drayton.

Still in Cumberland, Mill Hill School possessed plenty of keenness if no special degree of skill. The most prolific scorers were B. L. Piper, who distinguished himself by hitting 136 in fifty-seven minutes from the Sedbergh bowling, and M. A. Ydlibi. Among the bowlers M. E. I. Kempster, whose best feat was the taking of six wickets for 26 runs against the Workington Club, stood out by himself. Of the ten matches, five were won, two drawn, and two lost, that with R.A.F., Millom, resulting in a tie.

The record of the young and inexperienced Monkton Combe School team—won four, lost three—was better than once seemed likely. Considering that none of the 1940 bowlers remained, the attack was good and, except in the King's, Bruton, game, received sound support in the field. H. D. Dale, the captain, headed both batting and bowling averages. P. B. Chambers kept wicket magnificently.

Mount St. Mary's College went through the season without defeat. The chief match-winners were the captain, J. L. Moorhouse, and C. R. Higham. A left-handed batsman, Moorhouse possessed resolute defence and also bowled right-hand medium-pace with success. Higham varied hard hitting with watchfulness as the state of a game required and, as a fastish, untiring right-hand bowler, kept a splendid length. W. K. Snape, the youngest member of the side, spun the ball cleverly and gave indications of becoming a good all-rounder.

Newcastle Royal Grammar School improved considerably upon their doings in 1940, winning four and losing one of ten matches besides playing a tie with St. Bees. Fixtures with Stonyhurst and Rossall unfortunately had to be cancelled. A. E. White, the captain, displayed exceptional all-round form, occupying first place in both batting and bowling averages. R. R. Veitch and A. C. Taylor occasionally did well in batting, but the other players could not be relied upon.

Oakham School played twelve matches, winning four and losing six. T. S. Atkins, the captain, who headed the batting figures, was well supported by E. D. Palmer, the best all-rounder in the side, and W. S. Walker. Most work in bowling fell to E. D. Palmer and N. T. Smith, who maintained their accuracy throughout. E. D. Palmer, N. L. Palmer, Walker, M. H. Rose, C. J. W. Charters and D. R. Ellis will be available for 1942.

With eleven wins to their credit, Oratory School could feel fully satisfied with themselves. Rain ruined the big match with

Beaumont at Lord's. R. A. Slater enjoyed a personal triumph as an all-rounder. He hit 130 against Wellington, finishing at the top of the batting figures, and took 80 wickets. S. E. Hicks and F. E. Thorneycroft also did fine service with bat and ball.

Oundle School, after taking time to settle down, achieved a creditable record, winning seven games, losing three and drawing four. T. J. D. Walker, G. A. Wilson, the captain, and J. H. Rhodes were the most reliable batsmen. Rhodes laboured under the handicap of ill-health in the latter half of the season.

Walker and J. W. Crocker, both fast, R. L. R. Jones and H. E. Henshall, two left-hand spin-bowlers, with Rhodes comprised a varied attack. With certain exceptions, the fielding was shaky. Seven old colours form the nucleus of the 1942 eleven.

Perse School won four matches, lost five and drew three. Chiefly because of weak forward play, the batting was undependable, but the bowling, astutely handled by B. E. Rose, possessed both quality and variety. C. J. Unwin and J. W. Wilkerson were specially effective. The fielding varied from match to match, fine performances being offset by some disappointing lapses. Six of the eleven are staying on.

Peter Symonds' School, Winchester, owing to the serious curtailment of fixtures resulting from evacuation and transport difficulties, played very little cricket.

Plymouth College, despite serious difficulties such as few schools can have been called upon to face, carried out a programme of fourteen matches, of which seven were won. After the April "blitz," they did their best to carry out an "official" behest to play as much cricket as possible. R. G. Atkey, the captain, completed his fourth year in the eleven and enhanced his reputation as batsman and wicket-keeper. S. K. Lawry showed that he not only possessed correct style, but could attack the bowling. Care in placing his field had much to do with the success of K. G. Gilbert's bowling, but the attack generally was below standard.

Had they held their catches, Radley College would have secured more convincing results. The School gained well-merited and handsome wins over Malvern, Bradfield and Eastbourne, lost to Eton, Wellington and Felsted, and, chiefly as the result of fielding lapses, drew with St. Edward's Oxford and Stowe. The side was not well-balanced, too much responsibility, both in batting and bowling, having to be borne by R. J. A. Darwin, the captain. Darwin achieved an outstanding record and beyond doubt was

the best fieldsman. An injury to J. P. W. Sawtell early in the

season considerably weakened the attack.

T. M. B. Sessions and L. M. Barber showed somewhat disappointing form in batting, and A. G. Gardner lacked consistency as a batsman, though he proved useful as a bowler, especially against Eastbourne. Other members of the eleven, profiting by experience, may do better in the future.

Reading School, well led by R. H. Taylor, won five and lost five of fifteen engagements. The all-round ability of T. J. Easby formed a feature of the cricket. No other player approached his batting skill. Taylor, D. H. Easby (slow-medium) and R. D. Morbey (fast) completed a praiseworthy set of bowlers.

An abbreviated **Repton School** fixture-list prevented the young eleven from gaining valuable experience. One of the salient difficulties was that of discovering reliable opening batsmen. After the loss of the first three school matches, there came an improvement in July and the season ended with victory by seven wickets over Rugby. G. C. Yorke and R. G. Ralphs were the mainstays in batting, and K. T. Stubbs, right-arm medium-pace, the best bowler. Again captained by J. R. R. Holmes, the 1942 team, with six old colours left, should be stronger.

Although losing seven of thirteen matches and winning no more than three, Rossall School gained encouragement from some admirable performances, including the defeat of Stonyhurst. Beyond question, the outstanding player was J. Bagnall, who combined great speed in bowling with remarkable accuracy and stamina for a boy of seventeen. The brothers M. G. and D. A. R. Johnson, both medium-pace, supported him well, but suffered from erratic slip-catching. A dependable spin-bowler would have been invaluable. Little reliance could be placed in the batting, though N. D. Howard, who did not find his form till half-way through the summer, then played a succession of innings which fully entitled him to top place in the averages. J. A. Gurden suffered from uncertain defence. D. A. R. Johnson, whose resolution checked more than one collapse, will be captain in 1942 and will have the help of at least five other members of the side.

Rugby School. With only three members of the previous sparkling eleven returning, prospects for 1941 were not bright and expectations were only too dismally realised. Of sixteen games, two were won and three drawn. Not only did J. A. Boyes, the captain and one remaining batsman of repute, fail to live up to his high promise, but, apart from T. I. Johnson-Gilbert, a reliable No. 1, he found little encouragement in his search for run-getters. The bowling often looked adequate, but seldom devastating.

M. A. Boddington, with a beautiful action, worked tirelessly, and was well supported by S. C. de L. Aitchison. More should be heard of A. C. Guthrie, a slow left-hander. The fielding almost atoned for other disappointments, the example of catching set by Boyes, at slip, being admirably followed.

A feature of the season was the Tom Brown Centenary Match, full justice to which is done elsewhere in "WISDEN." In this match the School, by aggressive bowling and fielding, dismissed an M.C.C. team of "stars" for 149 and, though themselves disposed of for a mere 31, felt well satisfied.

At least five old colours should be at the disposal of Boyes

in 1942.

Rydal School, a well-balanced team, played better cricket than results—three wins, three defeats and six draws—suggested. B. L. Williams, H. H. Hirst, the captain and a wristy batsman possessing powerful strokes, and W. H. Sutcliffe, fourteen-year-old son of Herbert Sutcliffe of Yorkshire and England fame, formed the backbone of the run-getting. Sutcliffe also bowled leg-breaks skilfully. A. W. Beech, medium-pace off-spinners and out-swingers, and Hirst, slow left-hand, completed an attack that would have been more formidable but for an injury that kept M. G. Amos, the only bowler of real pace, out of all but the first few games. Eight or more old colours return for 1942.

St. Albans School. Athletics, postponed from March, occupied the early part of the term, so that little opportunity remained for practice before the first fixtures. For all that, the team acquitted themselves fairly well, though too much generally depended upon W. Fenton, the captain, P. R. Addington and F. E. Arnold. A shoulder injury kept D. R. Goode, a useful all-rounder, out of several matches. D. F. Deans often paid the penalty for bowling short of a length. The most exciting struggle, with Bishop's Stortford, ended in a tie.

The St. Edward's School, Oxford, season was by no means successful. The lack of a slow bowler of worth and spells of inaccuracy by those of greater pace kept the attack below the expected level, though J. W. Halliday, fast left-arm, occasionally proved deadly. Though improving, the fielding, too, left a lot to be desired. In batting, the doings of C. F. Deacon, the captain, dwarfed those of everybody else, his hard, clean hitting providing an example seldom emulated by his young colleagues.

St. George's School, Harpenden, while deriving cause for satisfaction from their bowling, fared disastrously in batting. T. B. M. Norman, from whom so much had been hoped, did not

find anything like true form, and nobody else could fill the breach. Of the bowlers, I. O. Venmore-Rowland used his height and easy action to advantage in fast bowling, K. T. Powell spun the ball cleverly, and R. Payne worked very hard.

St. John's School, Leatherhead, fully justified the faith that had been placed in their bowling. While G. C. L. Baker did his best without much backing, however, the batting failed. B. J. Jackson, bowling with length and spin, achieved most among a varied array of bowlers who received ample encouragement from first-rate fielding. B. J. Rees, the captain, kept wicket grandly.

Lack of practice told against the young St. Paul's School team, evacuated to Wokingham, Berkshire. True, they were unfortunate in losing F. P. Darling, their captain, with a dislocated thumb at Whitsun, when he was settling down to excellent form, but so weak did the batting prove that only one individual score of 50 was obtained during the summer. G. E. Brown, a left-arm bowler who could make the ball turn either way, displayed distinct promise. R. D. H. Balkwill, who took over the leadership after Darling's injury, is the 1942 captain, and altogether seven or eight old colours remain.

St. Peter's School, York, unbeaten in school matches and losing on only two occasions, each time to a strong Army side, experienced the best season for many years. Success was primarily due to capital bowling, backed up by first-rate fielding, for the batting proved adequate but not exceptional. F. N. Buckler, a worthy captain, polished batsman and fine fieldsman at cover; A. Broadhurst, a free scorer and brilliant short-leg, and D. Cole did best in run-getting. D. Anderson and J. R. Frost, bowlers of exceptional merit, received able assistance from Broadhurst. F. F. Steele showed impressive form behind the wicket, being quick and safe in all he did.

Sebright School owed nearly everything to W. R. Rowlands, the captain, and C. D. Bache, the secretary. This pair overshadowed everybody else both in batting and bowling, Bache, with mediumpace off-breaks, taking wickets regularly at small cost.

Sedbergh School. As only A. V. H. Wardle remained from the 1940 eleven, the team was not expected to be specially good, but they were frankly disappointing. The transference of the sports from the Easter term cut down the time available for cricket at the start, but the principal reason for the failure was indifferent bowling on fast wickets and the absence of a player who could spin the ball. Wardle played a number of extremely efficient innings and fully earned a place in the North Public Schools XI

against the South at Lord's. He and J. H. Campbell practically carried the batting on their shoulders.

Sevenoaks School had to build practically a new team, and the result showed in faulty fielding which cost three possible victories early in the season. C. B. T. Gibbons, besides being the mainstay of the batting and bowling, handled the side astutely. B. M. Kennell, a batsman of promise, also bowled swingers accurately.

Sherborne School could look back upon 1941 with considerable pleasure, not only because they won eight of eleven matches, but because of the excellence of their cricket. D. P. T. Deshon, a batsman of high class, again enjoyed marked success, especially in the latter half of the season when he put together a century for South v. North Public Schools at Lord's; and in addition he showed himself to be a keen and intelligent captain.

A. I. T. Robinson, of great promise, also played many capital innings, and the batting generally proved reliable. All five of the regular bowlers did well. D. P. L. Dry and M. R. Ricketts were a distinctly useful pair of opening bowlers; R. C. Holman, with leg-breaks, nearly always commanded respect, and the two left-handers, J. N. Arkell and J. A. Hewitt, each accomplished steady work. A pleasing feature of the summer was the steady improvement in fielding, with W. T. Rice, behind the wicket, as sound as any of his team-mates.

Shrewsbury School enjoyed a good season, beating Cheltenham, Repton, Malvern, Felsted, Lancing and Rossall, and being well placed against Westminster when rain interfered. M. L. Y. Ainsworth, the captain, and J. Mackinnon were the leading batsmen. Ainsworth, a fine driver with sound defence, made most of the runs in the earlier matches; Mackinnon, captain in 1942, who possessed a good off-drive and put strength in on-side strokes, did best in the second portion of the summer. D. Cox played excellent innings against Rossall and Westminster and good work came on occasion from J. K. Wood and W. E. Rhys. R. H. Crawford, a left-hander, showed promising form in the Repton match, but though A. C. Lee kept wicket well he disappointed as a batsman.

D. L. Hughes, slow left-hand, bowled steadily, meeting with great success when the wicket helped him. Ainsworth, slow spinners, Mackinnon, slow off-breaks, Cox, medium-pace outswingers, and Rhys, left-hand medium, contributed to the bowling strength.

For the second time in three years Solihull School were unbeaten in school matches. Little fault could be found with the

bowling, J. R. Martyn, D. J. L. Johnson, P. J. Wild and C. W. E. Cash all doing praiseworthy work. The batting, however, was not so satisfactory, only R. D. N. Fabricius being dependable. Fabricius will have G. N. Turner, N. T. McLaughlin, Cash, Martyn, Johnson, J. D. T. Ball, A. J. Essex-Cater and D. H. Williams, a brilliant wicket-keeper, under his captaincy in 1942.

The Stamford School eleven far exceeded expectations, for, despite their youth and inexperience, they won six and drew seven of sixteen matches and played a tie with Nottingham High School. F. P. Tomes, a smart captain, J. E. Conington and E. J. Smith provided the chief batting strength; J. H. Lambert formed the mainstay of the bowling, with able support from H. J. Butler and R. C. Roberts. J. Scotney fielded brilliantly at cover-point.

After a good start, Stowe School went through a bad period, but wound up the season well enough. Their final record read: Won 5, lost 4, drawn 3. With the exception of E. P. Hickling, a smart captain and capable emergency wicket-keeper, the batting on slow wickets was poor. Hickling, whose footwork was vastly superior to that of any of his team-mates, batted in magnificent form throughout the term. He frequently checked collapses, and not only made runs in fine style but scored rapidly, as for instance when he obtained 122 badly-needed runs in eighty-five minutes against Oundle. T. M. Pragnell, following an indifferent beginning, put together a number of valuable innings, and W. M. Savery played the forcing game with good effect early in the summer. W. R. Mallory and A. D. Thomson disappointed.

Of the bowlers, Savery was the most consistent, and Mallory, though generally suffering from ill-luck, distinguished himself by taking six wickets for eight runs against Tonbridge, including the

"hat-trick." R. H. Hawkins rarely found a length.

Tonbridge School. G. H. P. Pritchard, the captain and only old colour, carried out an uphill task with credit. Lamentably weak batting, largely the result of poor footwork and lack of appreciation of the value of a straight bat, repeatedly let the side down. Of fourteen matches, only four were won and seven lost. Fortunately the bowling, though insufficiently varied to be formidable, proved adequate and the fielding generally smart. Not a chance went astray at Lord's, where Clifton were soundly beaten.

The best features of the season were the bowling of C. V. L. Margues and the guietly efficient wicket-keeping of C. S. Young. These two, with C. J. Matthew, S. F. Hills, G. J. Maughan, M. F. Wiles and S. S. L. Marshall, will be available in 1942, when, if profiting by experience, they should eradicate the faults of last

summer.

University College School. Five of the ten fixtures ended in defeat and only two in victory. The batting was poor, and failures in this respect could not be atoned for by steady bowling on the part of B. W. Trapnell.

Uppingham School. With the exception of the Oundle match, lost by nine wickets, matters went well with the team, six games being won and three drawn. No two-day fixtures took place. The batting was strong, W. B. G. Raynor and F. B. R. Cooke. by somewhat unorthodox methods, sharing in some good opening stands, and the captain, G. A. Wheatley, A. B. Pemberton, M. Evans and J. W. C. Bryant all showed themselves capable of making runs. Though varied, the bowling was deadly only when Bryant touched his best form, and while the ground fielding was sound, many catches, particularly in the slips, went to grass.

Wallasev Grammar School. M. Payne, the honorary secretary, writes that, owing to bombing and evacuation, the School's cricket was so severely curtailed in 1941 that he had nothing to report.

For Wellingborough School the summer proved satisfactory, as the team gained seven wins against four losses and one draw. More matches were won than for some years, due chiefly to low scoring, which, if detrimental to the batting averages, improved the bowling figures. In P. Marlow the eleven possessed a splendid captain whose fine all-round cricket earned him top place in both the batting and bowling. He took a little time to find his form with the bat, but played a grand not out innings of 107 against Old Wellingburians that turned almost certain defeat into a sound victory. The opening bats, D. C. Longmate and W. B. Sheret, never completely failed. Sheret being particularly good on all kinds of wickets. Two greatly improved run-getters were P. N. Young and J. M. Semple, while of the younger members J. M. Tiddy showed most promise. Apart from the captain, W. H. Garland was the most successful bowler, but his length was often erratic.

The Wellington College eleven, after meeting with defeat in the first three matches, acquitted themselves creditably, gaining six victories as against two more reverses, with one game drawn. In close finishes, they lost to Winchester by two wickets and beat Radley by 10 runs. Apart from that of J. B. Robertson, a polished player, the batting was patchy. K. A. M. Foottit, who registered the one century, and R. H. D. Graveston played good innings, but were unreliable.

J. R. Williams, the captain, did excellent all-round work, his tireless bowling bringing him success far above that which attended the efforts of any of his colleagues.

Evacuated to Bromyard, Herefordshire, Westminster School were unable to put in much practice. They lost four and won three of their ten fixtures, two being abandoned. K. A. H. Hinge not only led the side with resource, but displayed outstanding ability as wicket-keeper and as an opening batsman with a variety of strokes and special strength through the covers. J. R. Russ, a patient player, E. F. R. Whitehead, keen-eyed and quick-footed, and P. O. Bodley often gave him good support in run-getting.

R. J. Cremer, with a capital turn of speed, and J. H. Ferrers-Guy, out-swingers, made an excellent pair of opening bowlers, and W. J. Gerrish, left-hand medium, and Whitehead, right-hand spinners, should improve. W. E. A. Fowler was rarely easy to hit.

Whitgift School, including seven old colours, began with high hopes of improving upon the distinguished record of the previous year. They were doomed to disappointment, for of fifteen matches only three were won and seven lost. There were, however, some fine individual performances, notably in bowling. E. R. Bailey, mainstay of the attack, was ably backed up by the captain, A. L. W. Gollan, E. W. Graham, P. S. Winston and R. P. Tasker. Old colours staying on are Bailey, Graham, A. R. Evans and P. M. Sturges.

As Winchester College gained their third successive win over Harrow, beat Bradfield and Wellington, and wound up with victory—their first since 1920—over Eton, they were justifiably pleased with themselves, the more so as, at the start of the season, there appeared small reason for optimism. The Charterhouse match ended in a draw and that with Marlborough was abandoned without a ball being bowled.

For the success achieved, great credit went to bowling sufficiently varied and accurate to trouble the strongest sides encountered. So occasional batting failures that might have had disastrous consequences were discounted. An instance of this came in the game with M.C.C., who dismissed the School for 50, but in reply could score only 38, a total which occupied them

ninety minutes.

D. A. A. Gray, who led the team judiciously, was a formidable bowler with easy action and variation of pace. The steady length of R. N. Eddy made him a constant menace, and P. A. Whitcombe, fast-medium, and A. D'A. Horan, who should develop into a really fast bowler, completed an impressive attacking combination.

G. H. G. Doggart deservedly headed the batting averages, for he showed remarkable form for a boy of sixteen. Whitcombe, though possessing majestic style, too often started badly and scarcely fulfilled expectations. E. B. Trubshaw, captain in 1942, improved as the season advanced. Like the batting, the fielding generally reached its best on the big occasion. Worcester Royal Grammar School, despite the difficulties of the times and the absence of "star" batsmen or bowlers, maintained a fair average standard under the captaincy of W. H. B. Key. D. S. Bray and H. E. Rolfe bowled admirably. Three of the six school matches were won and one drawn.

First-rate fielding by Worksop College contributed greatly to the season's victories. G. C. Buchanan, the captain, and N. M. Hall were outstanding among the batsmen, and P. T. Francis and J. M. Taylor bore the burden of the bowling. Among those of whom much is expected in 1942 are Hall, Taylor, D. W. Hardy and R. V. Thompson.

An accident that deprived Wrekin College of their captain and wicket-keeper, E. J. Davies, for some time handicapped the team, and of twelve matches only two were won and four lost. N. G. Darrah, the most dependable batsman, would have done better had he shown more restraint early in his innings. R. W. Wallis, who took nine wickets for 28 runs against Ellesmere College, and A. R. Jacks worked hard in bowling. Davies, who resumes the captaincy, will have again the assistance of the majority of the eleven.

Wyggeston Grammar School. Transport troubles and consequent cancellation of the more important fixtures prevented the young team led by J. M. Rowland from gaining valuable experience. The result of this made itself particularly evident in batting, but better results are hoped for in 1942. J. S. Naylor and D. Allibone were the chief run-getters.

SCOTTISH SCHOOLS

To the Edinburgh Academy team the season proved disappointing, a two-day match with Merchiston providing the sole success over school opposition. Altogether eight games were won, eight lost, and one drawn. H. G. Hay scored most runs, with I. S. Dougal the best all-rounder. J. P. Henderson enjoyed the satisfaction of taking 52 wickets at a cost of a shade over 10 runs each, and the bowling of G. S. Richardson always compelled respect.

Fettes College, in winning four of their five school fixtures, owed a substantial debt to the captain, C. D. Lawrie. Seven times Lawrie put together an innings of more than 50, including two centuries, and he completely overshadowed the other batsmen, who frequently contented themselves with keeping up an end and leaving the run-getting to him. The main power of the team lay in bowling. Here again Lawrie headed the averages, and D. S. Ramsay, A. J. D. Darling and R. B. Anderson rendered able assistance.

For Loretto School the season was remarkable for a series of close finishes. Victories included those over Royal High School by 19 runs; Glenalmond by five runs, and George Watson's College by four runs. The School lost to Merchiston by five runs. Excellent slow bowling by J. S. Watson, leg-breaks, and A. B. Murray, off-breaks, the fast deliveries of H. M. Wilkie and the swingers of A. C. D. Rankin, the captain, comprised a virile and effective attack which derived encouragement from the splendid fielding of J. A. Dallas in the slips and I. A. M. McInroy at short-leg. J. M. Weir, I. King, Rankin and Dallas between them scored most of the runs.

The Merchiston Castle School record of six matches won, six lost, and five drawn was by no means impressive, but, as seven members of the team stay on, better things are anticipated in 1942. The major problem last year was that of finding reliable opening batsmen. Unfortunately, D. M. Moir fell ill and, until early July, J. G. Sommerville did not strike true form. So extra responsibility was thrown upon the later batsmen, who, happily, played well enough to extricate the side from several awkward situations. I. D. M. Considine, the captain, accomplished grand work as an all-rounder and J. G. March shared with distinction the burden of the bowling.

Trinity College, Glenalmond. A moderate team won five and lost five of eleven engagements, but did rather better than those

figures implied, for they went down to Leys by 17 runs and to Loretto by only five runs. With stronger batting a different story might have been told, but none of the six old colours proved dependable. P. A. McDowall, captain for a second year, demonstrated his all-round worth; C. A. Lyall played some good forcing innings, and A. H. Campbell, B. C. Paton and R. E. Arend bowled steadily, but no one else achieved much.

Following are the destinations of some of the members of last year's elevens:—

4	Troop's alevens'-		
L	year's elevens:—	Oxford	Cambridge
	Beaumont	_	H. C. Holmes
	Charterhouse	F. A. Peet	D. G. Podmore
	Chigwell		B. C. Levett
	Dean Close	J. Hanson	
	Dean Close	P. B. G. Miller	D. M. Haynes
		C. D. Lawrie	P. F. Smith
	Fettes	D. F. Henley	G. F. Anson
	Harrow	D. I. Hemey	D. C. H. McLean
			P. C. Boissier
			M. A. Smith
	** '!!	L. K. Purkiss	
	Haileybury	J. M. Burch	_
	Hereford Cathedral		S. S. Rogers
	Highgate	man bear a service 1	R. G. Pentney
	Kingswood		H. W. Lester
	ECI T		J. Pepper
	The Leys Merchant Taylors'		J. B. Marriott
	Merchant Taylors		G. L. Robins
		J. G. March	I. D. M. Considine
	Merchiston	J. I. I. Balleny	
	3 cm 3711	J. 1. 1. Danielly	M. D. Whitehorn
	Mill Hill		J. S. Henderson
			G. W. Sears
			H. D. Dale
	Monkton Combe	e	S. K. Lawry
	Plymouth	T. I. Johnson-Gilbert	The state of the s
	Rugby	S. C. de L. Aitchison	
		M. J. Hussey	
	TENER DESIGNATION	IVI. J. IIussey	H. H. Hirst
	Rydal		K. T. Powell
	St. George's, Harpenden	D. P. L. Dry	The state of the s
	Sherborne	D. I. L. Diy	H. H. Cove
	University College School	4 1 10 E. 3 v	J. M. Rowland
	Wyggeston Grammar School	· -	The state of the s

PUBLIC SCHOOL AVERAGES

The name of the captain is indicated thus †
Innings marked * are not out For Scottish Schools see end of this Section

	ALDE	NH	AM	SC	HOOL				
Batting									
	Innings	N	ot ou	te	Runs	His	ghest in	nne	Average
J. G. Dewes			1		204	1116	51*		34.00
D. E. Blake	10		3	• •	193		46*		27.57
D. G. Curling	10			• •	168		53*	• •	24.00
D. C. Curing	5		3		46	• •	21*	• •	
P. S. Taylor	11	• •					52*		23.00
W. E. Henley	. 11	• •	2	• •	183				20.33
†K. G. Hickson	. 12		1	• •	204		44*		18.54
G. J. T. Pitt	. 5	• •	2	• •	58		28		14.50
Bowling									
8	Overs	N	Aaide	ns	Runs		Wicket	S	Average
R. C. A. FitzGerald	113		33	3 17	218		32		6.81
W. E. Henley	99	0.0		1	297		24		12.37
W. G. Batham	60	9.		- 11	136		10		13.60
W. T. Hoy	65		7		173		13		13.30
P. S. Taylor	94	• •	19		204		11		18.54
A	LLHA	LLC	ows	SSC	CHOO	Γ,			
Batting			-		/	_			
	Innings	No	ot ou	ts	Runs	Hie	hest in	ns.	Average
D. C. Sidney	9		3		209		53*		34.83
M. M. Byrde	8		3		73		28		14.60
I P Osborne	10		1	• •	125		66*	• •	13 88

Sanda -	Innings	No	ot ou	ts	Runs	Hig	shest in	ıns.	Average
D. C. Sidney	9		3		209		53*		34.83
M. M. Byrde	. 8		3		73		28		14.60
J. P. Osborne	. 10		1		125		66*		13.88
†G. E. C. Corden Gilbert	t 8		1		95		40*		13.57
J. R. Waycott	10		1		110	• •	22*		12.22
Rowling									

Bowling										
3	Overs	N	Maide	ns	Runs	1	Wicket	S	Average	
G. E. C. Corden-Gilbert	85		12		296		21		14.09	
J. R. Waycott	37		5		157		10		15.70	
F D Smith	50		7		258		16		16.12	

AMPLEFORTH COLLEGE

Datting									
-	Innings	No	ot our	ts	Runs	Hi	ghest ir	ıns.	Average
J. H. Hunter-Gray			2		149		62*		24.83
†C. D. Smith			0		174		107		21.75
P. F. Davey	4		1		51		42*		17.00
D. K. Bertelsen	7		1		99		26*		16.50
J. J. Rigby	8		1		110		48*		15.71
M. A. Marston			0		131		51		16.37
P. F. Hobden	7		3		44		19		11.00

Bowling

_	Overs	1	Maide	ens	Runs	- 1	Wicker	ts	Average
P. F. Hobden	104.2		18		253		25		10.12
A. T. Macdonald			14		146		10		14.60
J. A. Hunter-Gray	94.2		16		317		19		16.68
M. W. Bruce	58.5		8		197		10		19.70

F	BANCR	OFT'S	SC	HOOI				
Batting	Innings 11 11 10 9	Not ou 1 2 1 3 1 1		Runs 431 283 122 63 83 41		hest in 118* 75 59 19 28 24*	ins.	Average 43.10 31.44 13.55 10.50 10.37 10.25
Bowling		1		-		(7° -1A	ME	Augmaga
J. C. Mace K. H. Stevens C. J. Hull W. J. Smellie	72.3 27.4	Maide 5 20 2 19	ens	Runs 129 175 125 246		13 17 11 11	s 	Average 9.92 10.29 11.36 14.47
	BEAUN	MONT	CO	LLEG	E			
Batting †H. C. Holmes J. Morrish A. Nicholson C. G. Russell B. Berkeley B. Wallis	. 12 . 11 . 12 . 12	Not or 0 2 1 0 0 1	its	Runs 309 226 172 206 161 117	Hig	20 shest in 116 66* 77 64 35 41	nns.	Average 25.75 22.60 17.20 17.16 13.41 11.70
Bowling	Overs	Maid	lens	Runs		Wicke	ts	Average

25 BEDFORD SCHOOL

.. 19

C. G. Russell 179 A. Nicholson 101

P. Burns 148.1 ..

Batting	Innings	No	out	s	Runs	Hig	hest in	ins.	Average
L. F. L. Oakley			2		495		85		41.25
C. B. Donovan	. 11		2		220		58		
A. C. W. Abrahams	. 12		2		243	• •	72		24.30 21.60
F. M. Fletcher	. 13		3		216	• •	40		21.00
G. S. Smith	. 14		0		294		75		17.14
†R. Evan-Jones	. 14		0		240		79		10.33
A. A. Webber			2	• •	62		25		9.25
L. W. Pollard	. 8	••	0	• •	74	• •	26	i de	9.23
Bowling					D	ν.	Minlest		Average

.. 31 .. 21 BEDFORD MODERN SCHOOL

Maidens

Overs

Runs

503

696

Batting	Ir	nings	No	t out	s	Runs	Hig	ghest in	nns.	Average
G. Harrison		8		0		316		105		39.50
S. E. Pakema		9		2		220		54		31.45
†G. H. Brice		7		1		140		60		43.33

	Tubile School Cricket in 1941
Bowling Overs Maidens Runs Wickets Average	BRADFORD GRAMMAR SCHOOL
	Batting Innings Not outs Runs Highest inns. Average
BERKHAMSTED SCHOOL Batting	F. A. Lowson 6 1 168 95* 33.60 †E. Ambler 9 3 139 31 23.16 G. Holdsworth 10 1 128 44 14.22 J. H. Lund 6 2 50 20* 12.50
In	Bowling Overs Maidens Runs Wickets Average W. M. Sutcliffe 45 4 228 18 12.66 K. P. Smith 45 8 142 10 14.20 P. W. Dobson 50 7 177 11 16.09
Bowling	
H. W. Lawrence	BRENTWOOD SCHOOL Batting
BISHOP'S STORTFORD COLLEGE	W. R. Hanworth 18 3 318 63 21.20 O. J. Waldram 19 0 368 52 19.36 P. S. Barker 19 2 318 46 18.70 W. J. Mallett 18 0 235 45 13.05
Innings Not outs Runs Highest inns. Average	P. Hughes
R. G. Sanderson 9 4 53 28* 10.60 J. S. G. Smith 11 1 100 39 10.00	W. R. Hanworth 184.3 22 399 54 7.38 R. F. Davidson 66.4 10 192 19 10.10 O. I. Waldram 55.3 0 290 28 10.35
Bowling Overs Maidens Runs Wickets Average J. H. Spivey 77 9 239 31 7.70 N. J. Barker 128 33 305 34 8.97 K. A. Marley 37 7 99 10 9.90 D. S. Collett 62 11 194 14 13.85	S. H. Foster 68 13 211 14 15.07 W. J. Mallet 119 9 405 20 20.25
Barting	
Batting Innings Not outs Runs Highest inns. Average P. E. Bodkin 13 0 292 83 22.46 N. E. H. Knight 13 0 212 74 16.30 †T. F. Gibbs 12 0 177 51 14.75 A. G. D. Corbett 10 0 117 33 11.70 I. M. P. Evans 13 0 144 32 11.07	Innings Not outs Runs Highest inns. Average
Bowling FORDS MATGOR CHOPOLS	
Overs Maidens Runs Wickets Average D. J. Mitchell 108.5 20 272 22 12.36 J. G. S. Drysdale 118 22 358 18 19.88	P. A. M. Vauqulin 61.4 11 229 17 13.47 J. F. Wootten 65.3 7 250 17 14.70 D. R. Richards 96 23 282 17 16.58

Batting

Dowling

Ratting

BRISTOL	GRAMMAR	SCHOOL

Batting									
	Innings	1	Not ou	its	Runs	H	ighest i	nns.	Average
J. K. R. Graveney	6		1		188		53*		37.60
P. F. Stirratt			1		53		34		26.50
R. J. Atkinson			1		104		48*		20.80
†R. G. G. Taylor			1		76		37		19.00
P. C. M. Brooks	5		2		48		29	•	16.00
Bowling									
o .	Overs		Maid	ens	Runs		Wicke	ts	Average
K. Shaw	30		3		104		12		8.66
J. K. R. Graveney			9		121		10		12.10

BROMSGROVE SCHOOL

	THIHIT	TOL OU	LLS	Luns		Ignost	111113.	Aveluge
J. M. H. Roberts	5	 1		95		63*		23.75
E. J. Lloyd	5	 0		71		32		14.20
C. H. Crowther	5	 0		58		22	••	11.60
Bowling								
WAY E. C.	Overs	Maid	ens	Runs		Wicke	ets	Average
J. M. H. Roberts	22.4	 5		57		9		6.33
I. G. G. Davies	30	 3	•	95	٠.	10		9.50

BRYANSTON SCHOOL

Batting									
	Innings	N	lot ou	its	Runs	\mathbf{H}_{i}	ighest	inns.	Average
I. S. Gordon Brown	11		0		206		61		18.72
P. M. Gale	11		0		173		50		15.72
I. T. Findlay	8		3		72		28*		14.40
†C. E. Pope	13		0		175		56		13.46
C. W. L. Smith	13		1		130		48		10.83
T. A. Wimbush	12		0		121		38		10.08

DUWING							
Market A and the Late	Overs	Maid	ens	Runs	Wicke	ets	Average
I. T. Findlay	33	 2		108	 11		9.81
P. M. Gale	39	 4		146	 12		12.16
†C. E. Pope	105	 19		296	 22		13.45
J. G. Hillis		 15		366	 25		14.64
P. L. Vaughan	47	 2		157	 10		15.70
_							

CAMPBELL COLLEGE, BELFAST

Datting	Innings	N	ot ou	its	Runs	H	ighest i	nns.	Average
M. W. McCorkell	7		2		123		48*		24.60
W. M. Patterson	8		1		103		38*		14.71
P. T. Monard	8		0		108		42		13.50
F. R. Wilson	4		2		27		14*		13.50
P. N. Ronaldson	7		0		83		26		11.85

Bowling	Overs		Maid	ens	Runs		Wicke	ets	Average
D. Hervey-Macleay	112.4		53		135		44		3.06
P. T. Monard	46.4		16		112		15		7.46
I. C. L. Tweedie	52		15		147		13		11.30
H. W. H. Shepperd	44	• •	6	• •	157	• •	11	• •	14.27

Batting	CANE	OI		JCII	COL				
	Innings	N	ot or	ıts	Runs	H	ighest i	nns.	Average
†P. Rowell	12		4		325		86*		40.62
A. N. Mather			1		470		136		39.16
G. V. Surtees			2		320		68		29.09
K. H. Buckley			4		79		22		19.75
M. H. Medwin			1		110		39*		18.33
W. P. G. Clark			2		138		34*		17.25
P. L. Curle			1		50		36		16.66
W. J. M. Crocker			2		136		57*		15.11

Bowling					Runs		Wicke	Average
R. G. Knight K. H. Buckley	239.2		53	• •		::	41 32	 14.87 17.62
K. H. Buckley	150.2							
	ATE	н	A TA/E	SCI	TOOL			

Batting	CINILIDI	WH HA	WIAW	001					
Datting	Innings	N	ot or	ıts	Runs	H	ighest	inns.	Average
D. G. Mobsby			3		593		107		34.88
R. G. Broadbent			2		440		78		24.44
†B. J. C. Edwards			2		330		60	8	17.36
C. P. Woodroffe			1		178		44		13.69
H. L. G. P. Baker			2		91		27	Prince!	13.00
N. H. Kew			õ		203		42	1.01	10.68

Bowling	Overs	Maid	ens	Runs	Wicke	ets	Average
R. G. Broadbent	191.4	 40		676	 80		8.45
B. J. C. Edwards	127.4	 25		426	 40		10.65
J. D. Griffin		 43		585	 54		10.83

CHARTERHOUSE SCHOOL

Batting	Innings	Innings Not		its	Runs	Highest inr		nns.	Average
B. R. J. Walker	5		4		112		43*		112.00
R. W. Sword	12		3		417		96		46.33
K. J. I. Harding	5		0		176		64		35.20
†F. A. Peet	12		2		336		62		33.60
A. S. Lovett	11		2		231		64		25.66
E. W. Lomas	11		0		230		37		20.90
D. G. Podmore			1		125		45*		20.83
M. W. Nesbitt	11		Ō		208		53		18.90
P. C. G. Larking			0		73		45		14.60
P. White	4		2		25		12	• •	12.50
Bowling									

	Overs		Runs		Averag
P. White	133.3	 37	 335	 30	 11.16
A. S. Lovett	56.1	 10	 167	 12	 13.91
R. W. Sword		 14	 221	 12	 18.41
The second secon					

Ratting

Ratting

CHELTENHAM COLLEGE

CH	ELTE	NH	AM	CC	LLEC	E			
Batting									Charles Co
	Innings	M	ot ou	te	Runs	Hi	ghest in	ne	Average
Y YY 3 F 3 T 11	6		2		166	111		13.	41.50
	15		2		261				20.07
R. A. St. M. Reeve-Tucker		• •	2				71		19.84
J. R. Fischel	15				258		114		
B. Moxon	15		2		217				16.69
D. St. J. B. Atkinson	12		4		114				14.25
D. A. T. F. Swiney	11		0		156				14.18
G. S. Shakeshaft	5		1		43				10.75
C. R. Gordon	12		0		127				10.58
G. K. Johnston	5		0		46				9.20
J. W. T. Tapp	10		2		70		24		8.75
tW. Pakenham-Walsh	13		2		95		23		8.63
									A CONTRACTOR
T 11									
Bowling									
12.01	Overs	I	Maid	ens	Runs	1	Wickets		Average
J. W. T. Tapp	154.5		39		466		34		13.70
R. A. St. M. Reeve-Tucker	81.5		13		265		15		17.66
B. Moxon	118.4		16	A	382		20		19.10
W. Pakenham-Walsh	157.5		33		448		21		21.33
	4.00	-3	N.		T === 1				M. H. Ray
	CHIG	WE	LL	SCF	IOOL				
Batting				Par II					Here were
	Innings	N	ot or	140	Runs	LI	ighest in	ne	Average
	14		0		189		37	1113.	13.50
D. W. Usherwood					134	• •			10.30
†A. I. Leng	14		1				-		9.23
P. M. Marsh	14		1	• •	120				
N. E. Whitcroft	14		0		128				9.14
D. R. Carter	14		5	4.4	78	• •	18		8.66
N. L. Oxley	13	• •	1	• •	98	• •	16	• •	8.16
Bowling									
DOMING	0	. 4	W-14		D		XX7: -1	The same	Amanaga
. 1212	Overs		Maid		Runs		Wickets	17	Average
N. E. Whitcroft	131.4		19		399		53		7.52
D. R. Carter	90.5		13		318		30		10.60
P. M. Marsh	49		2		289		17		17.00

CITY OF LONDON SCHOOL

Batting									WE THE
81.2	Innings	N	ot ou	ts	Runs	Hi	ghest in	nns.	Average
B. J. K. Pryer	9		3		169		45*		28.16
J. G. H. Wadsworth	9		0		222		115		24.66
J. A. MacDougall	9		1		195		96		24.37
D. P. Stockton	9	***	1		190		67*		23.75
†P. V. Moore	7		3		64		21	110	16.00
J. Paterson	6	• •	2	•	55		27	11	13.75
Bowling									
8	Overs	1	Maide	ens	Runs		Wicket	S	Average
B. J K. Pryer	53.2		12		159		19		8.36
J. Paterson	45.1		11		134		14		9.57
P. V. Moore	59		14		307		22		13.95
1 . R. Dowsett	41.5		4		155		10		15.50

CLIFTON COLLEGE

Datting										
	Innings	N	lot ou	its	Runs	Hi	ghest in	nns.	Average	
I. F. Bishop	9		0		320		102		35.55	
J. H. Lawrence-Archer	10		1		271		64		30.11	
J. M. Josephs	10		1		259		98		28.77	
T. J. O. Hickey	11		0		304		65		27.63	
†D. A. Imlay	11		0		214		54		19.45	
P. V. Dodge	12		3		157		37*		17.44	
C. P. Lewis-Smith	11		1		171		64		17.10	
J. D. May	11	•	1	• •	118	• •	44	•	11.80	
Bowling										
3	Overs	N	Maide	ns	Runs		Wicket	S	Average	
J. M. Josephs	83.4		16		301		25		12.04	
J. R. Block	93		16		324		23		14.08	
G. H. Addenbrooke	58		5		233		15		15.53	
A. W. Gwatkin	99.4		19		312		18		17.33	

CRANBROOK SCHOOL

Dattille									
	Innings	No	ot ou	ts	Runs	Hig	ghest in	nns.	Average
R. S. O'R. Shearburn .	. 12		4		222		43		27.75
J. K. Coombe-Jones	. 12		0		293		84		24.41
B. H. Taylor			1		250		65		22.72
A. B. G. Shaw			4		85		32		17.00
H. J. Nichols			2		144		34		16.00
†D. A. Cleland			1		156		32		14.18
M. B. Adams			0		146		42		12.16
I. B. D. Bluett			3		59		17*		11.80
M. C. Gilbert			1		93		50	7	11.62
J. C. R. Gilbert		357	2		103		45		10.30
Bowling									
201121119	Overs	N	Aaide	ens	Runs		Wicket	S	Average
I. B. D. Bluett			13		213		24		8.87
D. A. Cleland			22		487		46		10.58
R. S. O'R. Shearburn .	. 129		32		363		26		13.95

CRANLEIGH SCHOOL

				127	V 77			Charles 18
Innings	No	ot ou	ts	Runs	Hig	ghest in	nns	Average
. 5		1		151		98*		37.75
		1		169		40		18.77
		2		103		43		17.16
		3		103		33		14.71
		1		105		31*		13.12
. 6		0		66		30	oi.	11.00
				D		Minlent		Average
	. 5 . 10 . 8 . 10	5 10 8 10 9	5 1 10 1 8 2 10 3 9 1 6 0	5 1 10 1 8 2 10 3 9 1 6 0	. 5 1 151 . 10 1 169 . 8 2 103 . 10 3 103 . 9 1 105 . 6 0 66	. 5 1 151 10 1 169 8 2 103 10 3 103 9 1 105 6 0 66	. 5 . 1 . 151 . 98* . 10 . 1 . 169 . 40 . 8 . 2 . 103 . 43 . 10 . 3 . 103 . 33 . 9 . 1 . 105 . 31* . 6 . 0 . 66 . 30	

	Overs	Maide	Runs	Wicket	Averag
R. Morgan	119.4	 6	 478	 31	 15.41
F. B. Kennington	81	 13	 266	 15	 17.73

DEAN	CLOSE	SCHOOL
------	-------	--------

D	EAN (CLOSE S	CHOOL	_	
Batting					nail Li
P. G. Turner M. H. Struthers R. A. Baylis R. S. Thompson	nnings 6 8 6 8	Not outs 3 0 1 0	. 94	Highest inns 24 50 24 30	Average 17.33 11.75 10.80 10.00
Bowling			1		
P. G. Turner †J. Hanson M. H. Struthers	Overs 73 67 36	Maidens 16 7 6 .	. 229	Wickets 23	Average 7.88 10.90 11.63
D	ENST	ONE CO	LLEGE		
Batting	nnings	Not outs	Runs	Highest inns.	Average
D. A. A. Beardsmore P. R. L. Hancock †D. M. Haynes C. E. Gilbert J. Carney A. W. Ridge P. B. G. Miller D. J. Curry R. F. Simpson R. W. Ladbury	9 3 9 8 5 7 7 9	1 1 2 3 0 0 0 0 2 2 2 2 2	. 216 . 27 . 167 . 145 . 56 . 73 . 116 . 141	132*	27.00 27.00 20.87 20.71 18.66 18.25 16.57 15.66 14.42 11.33
Bowling	0	36-14	Runs	Wickets	Average
D. C. Good	Overs 35 96.5 123	Maidens 10 15 28	. 75	11 32 32	6.81 7.53 8.53
	DO	UAI SCH	OOL		
Batting		NT-44-	Runs	Highest inns.	Average
†J. T. Coombes E. Howard B. C. Peers A. Cooper P. Gregory	12 13 10 12 13	5	201	88 42* 15 27 47	32.00 12.50 12.00 11.50 11.16
Bowling	~	r Dizakteli		XX75.T	
M. Gregory B. S. Bland E. Howard	Overs 94.2 134.1 105	37 .	Runs . 266 . 272 . 342	Wickets 29 18 15	9.17 15.11 22.80
	DOV	ER COL	LEGE		
h. C. F. Bloy P. H. R. Hawkes S. F. McCrae G. A. Phillips F. M. F. Elliott G. L. Eames	Innings 11 11 11 8 10 10	3 2 0 3	Runs 529 265 256 91 114 113	Highest inns. 90* 85 55 31 38* 59	Average 66.12 29.44 23.27 18.20 16.28 11.30

Bowling						i d		ner Fin i
P. H. Davy	Overs 86.4 104.5 91 88.2	 	Maide 15 17 14 12	ens	Runs 213 301 342 269		Wickets 24 30 34 16	Average 8.87 10.03 10.05 16.81
J. C. I dildi	00.2	ä				Ϊ.		
E CONTRACTOR OF THE PROPERTY O	OOWN	JST	DE	SCF	TOOL			
Batting	30 111	NO.E.		JCI.	LOOL			
	Innings 9 9 6 4 9		0 4 2 0 0	uts	Runs 336 155 59 59 109	H	87 42* 33* 53 29	Average 37.33 31.00 14.75 14.75 12.11
Bowling								
L. R. B. Addington V. R. H. Medley R. D. C. Bacon	Overs 93.1 144 159		Maide 12 38 29	ens	Runs 332 449 503		Wickets 16 21 20	Average 20.75 21.38 25.15
	DULW	/IC	H	COL	LEGE			
Batting						LL.	AL	SERVINE I
†T. E. Bailey A. W. H. Mallett A. R. Langston A. F. Harlow H. P. H. Kiddle R. G. Hulbert D. W. Walton	Innings 15 15 13 12 12 14 10	N	1 3 0 2 1 2	::	Runs 851 581 197 225 187 202 94	Hi	92	Average 121.57 41.50 19.70 18.75 18.70 15.53 11.75
Bowling								
H. P. H. Kiddle	Overs 167.2 156.2 202.4	::	Maid 42 39 49	ens 	Runs 393 309 519		Wickets 50 31 41	Average 7.86 9.96 12.65
	DUR	HA	M S	SCH	OOL			
Batting	153		. 23		201			DEN
C. L. Dales R. A. Sparrow M. Parminter C. L. Sell R. B. Raper	10	 	0 0 1	its	80 187 118 117 95	Hi	ghest inns. 60* 65 59 47* 28	Average 26.66 18.70 14.75 13.00 11.87

 Overs
 Maidens
 Runs

 †J. P. Anderson
 156.5
 35
 395

 W. E. B. Silva-White
 96
 16
 295

Bowling

Wickets ... 39 ... 13 ...

Average 10.12 22.69

Batting	EASTBO	DURNE CO	LLEG	E	- Howing
	Innings	Not outs	Runs	Highest inns.	
†N. G. O. Gourlay Hon. K. H. L. Lamb		0	152 106	54	21.71 21.20
B. L. G. Beeson	. 7	1	109	32	18.16
P. A. Chard		0	108 98	48	18.00 16.33
A. B. Curtis	. 7	0	98	61	14.00
N. Lea-Cox	7	1	64	25	10.66
K. B. Ohlson	7	0	70	50	10.00
Bowling					e ga Villa
Downing	Overs	Maidens	Runs	Wickets	Average
D. J. Gispert		7	260	12	21,66
N. R. M. Philcox	82	9	313	13	24.07
D 44*	ELLES	MERE CO	LLEGI	E	-11-17
Batting	Innings		Runs	Highest inns.	Average
J. K. Davies	11	2	266	101*	29.55
M. Watts		0	205 136	65	20.50 15.11
R. D. Willcock P. A. Gillespie		1	146	48	13.11
A. R. A. Elston		4	66	16	13.20
Bowling	0	3.6.1.6	D	****	ATTEMAZ, 18 M
P. A. Gillespie	Overs 32	Maidens 5	Runs 110	Wickets 11	Average 10.00
J. R. Rathborne	55	7	212	20	10.60
J. K. Davies		17	272 197	20	13.60
A. R. A. Elston	51	8	197	13	15.15
Batting	ELT	HAM COL	LEGE		Transfer
Datting	Innings	Not outs	Runs	Highest inns.	Average
D. M. Watson		1	191	44	17.36
†R. V. Shears J. A. Battle		0		53	11.09 9.41
J. A. Buttle					2
Bowling		\mathcal{A}			4 4 4
	Overs		Runs		Average
M. A. Beechy		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		14	6.64 9.23
M. T. S. Lind J. A. Battle		23		17	10.00
T. G. Light		19	2 10	32	10.90
					1.1.2
	EDG	OM COLI	ECE		
Batting	1.4				Say V.S.
D. J. Sheerboom	Innings	2	Runs 214	Highest inns.	Average 30.57
J. E. R. Dixon		0	001	67	29.10
†N. O. Bennett	10	1	227	86	25.22
J. M. Hobbs	7	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		67	19.60 19.50
P. A. Leworthy M. E. Hincks	6	0		43	

Bowling							ds_		· Valence ST
	Overs	M	aide	ns	Runs	V	Vicket:	S	Average
L. A. Wilson	85		6		350		27		12.96
D. J. Sheerboom	107		8		406	* * *	26		15.61
K. R. Dempster	99		10		361	• •	23		15.69
	ETO	M	CO	LE	CF.				
Batting	LIC	TA	CO.						1
I	nnings	No	ot ou	ts	Runs	Hig	ghest i		Average
†H. M. Chinnery	10		3		353		59*		50.42
E. H. Spooner	11		3		396		113		49.50
D. W. S. S. Lane	8		2		267		51		44.50 40.10
E. N. W. Bramall	12		2		401	• •	100	• •	31.50
C. M. Wheatley	6	• •	2	• •	126 295		69	::	26.81
Hon. C. H. B. Pease	12	• •	0	• •	180		53	111	15.00
C. P. Lindsay	9	• •	1		112		62		14.00
J. A. Floyd	9	• •	1		114	• •	02	• •	11.00
D									
Bowling	0	*	Ka: d.		Dune	,	Wicket	te.	Average
G 15 WH	Overs		Taide		Runs 501		35		14.31
C. M. Wheatley	62.5		12		250		13		19.23
T. H. Marshall	79 155.1	• •	40		444		18		24.66
W. G. Keighley	133.1	• •	40	• •	444	• •	10		21.00
		-	-	~~==	OOT				
Bowling	FELS	TE	D	CH	OOL				
	Innings	N	ot ou	its	Runs	Hi	ghest	inns.	Average
B. G. Cangley	9	14	3		398		80*		66.33
H. L. Harrison	10		ő		336		113		33.60
A. W. Preston	5		1		122		37		30.50
B. D. Wix	10		0		297		102		30.50 29.70
C. G. Sandys	8		2		170		45*		28.33
A. H. Prebble	10		3		158		41		22.57
†W. R. Gaunt	9		2		124		26*		17.71
P. N. Shield	7		0		70		57		10.00
Batting									
Dutting	Overs	1	Maid	ens	Runs		Wicke	ets	Average
H. O. Ellis	68		12		188		13		14.46
C. G. Sandys	105		19		308		21		14.66
W. R. Gaunt			8		459		29		15.82
G. E. Hill	106.5		24		269		13		20.69
ED	AMIT	NC	HAT	MC	COLLE	GE			
Batting	PAIVILLE	140	LICA	AT C			F 1	7 15	
3	Innings	N	lot c	uts	Runs	H	ighest		
†O. J. M. Ford	16		3		535		114*		41.15
G. B. Whittaker	16		1		510		107*		34.00
M. C. Bridger	15		5		273		89		27.30
M. C. Bridger J. M. Ruffel	16		1				53*		21.93
M. R. Garrard	13		3				39* 24		16.20
A. J. Dolden			3				21		13.00 10.27
J. W. C. Hepburn	11		0		113		21		10.27
Bowling				•			**** 1		A
A STREET	Overs		Maic		Runs		Wicke		Average
G. B. Whittaker			8				36		8.80 9.48
O. J. M. Ford			23		207	• •	35		
M. F. H. Dobson			43 17		400		27		15.14
J. M. Ruffel	. 86.1		1/		409		41		13.14

Batting GIGG	GLESV	VIC	K S	CH	OOL				
	Innings	N	ot ou	to	Runs	Hi	ghest in	nns	Average
	10		0		224		103		22,40
T. P. Randle					158	• • .	39		19.75
†K. L. Wilson	10		2						
J. B. Ormerod	10		2		128		42*		16.00
B. H. Knight	12		0		167		47		13.91
P. Jackman	10		0		139		68		13.90
H. A. Chapman	12		1		135		33		12.27
	9		4		57		18*		11.40
S. Ashworth	9	*11*1	7	• •	31	• •	10		11.10
Bowling									
	Overs	N	Taide	ns	Runs		Wickets	-11	Average
H. A. Chapman	71		7		273		22		12.40
	98		29		282				
K. L. Wilson			30		288		16		
S. Ashworth	120		30	•	200	• •	10		10.00
10.40	AILEY	ד זו כור	TD 37	CO	TEC	D'			
	AILEX	В	KI	CO	LLEG	C.			
Batting	Innings	N	ot ou	ts	Runs	His	ghest in	ns.	Average
†A. Fairbairn	12		3	202	672		140*		74.66
L. K. Purkiss	13		4		456		105		50.66
		• •	ō		211		116		42.20
M. Davie	5	• •					101*		40.00
S. T. Theobald	12		4		320				
J. S. Souter	14		0		501		101		35.78
J. D. H. Whittome	10		4		184		40		30.66
A. J. Dickinson	5		0		144		62		28.80
M. L. Bourdillon	9		3		153	1	78*		25.50
	3		2		18		11*		18.00
H. A. Stacy-Marks	2	• •	0		20	• •	20	• •	10.00
A. F. Weber	2	• •	U	* *	20		20	• •	10.00
Bowling									
Domana	Overs	- 7	Maide	me	Runs		Wickets	2	Average
1 T D' 1'	140		13		514		36		14.27
A. J. Dickinson				• •			35	• •	15.37
R. R. Rees	134		9		538				
A. Fairbairn	88		10		303		18		16.83
L. K. Purkiss	131		17		471		26	• •	18.11
	HARI		IXI C	CH	TOO				
75 441	HAKI	NU	AA D	CIT	OOL				
Batting	/			4		***			A
	Innings	N	ot ou	Its	Runs	HI	ghest in		Average
G. F. Anson	10		2		379		81*		47.37
A. J. S. Griffin			4		113		54		37.66
†D. F. Henley			0		143		105		28.60
			Ö		280		88		28.00
M. A. Smith			4		154		37*		25.66
D. C. H. McLean									24.44
H. P. G. Cholmondeley .			0		220		88		
I. N. Mitchell	5		0		108	* *	61		21.60
P. C. Boissier	7		1		124		39		20.66
I. R. Readman			1		39		27		13.00
Bowling	Ower		Moid	000	Dues		Wicket		Average
100 CO	Overs		Maid		Runs			.5	
D. F. Henley	. 79		23		233		13		17.92
A. J. S. Griffin	. 137		30		425		20		21.25
J. Gordon			21		266		10	· .	26.60
I. R. Readman			10		371		13		28.53
		15.05							

HEREFORD CATHEDRAL SCHOOL

HEREFOR	D CA	THED	RAL SC	CHOOL		
Batting						
	ings N	ot outs	Runs	Highest	inns.	Average
	8	0 .	. 157	59		19.62
†H. A. Rudge	9	1 .	. 110	26		13.75
N. D. R. Roberts	8	Ô.	0.4	29		11.75
	6			15*		11.25
Bowling						
Ove	ers M	Laidens	Runs	Wicke	ets	Average
K. Shearer 3		7 .	. 102	14		7.28
	37.4	22 .	220	29		7.89
H. A. Rudge		14 .		22	111111	10.54
II. A. Rudgo					* ***	1123136
HI	GHGA	TE SC	CHOOL			
Batting						
Inni	ngs No	ot outs	Runs	Highest	inns.	Average
	8	2 .		103*		47.66
	8	4 .		33*	100	34.00
	9	1 .		45		19.62
K. I. Thornton	9	ō.		38		17.77
I. C. G. Gregerson	8	1		22		13.57
J. D. Cairns	9			21		10.66
	00 30 000					
Bowling						
		Maidens	Runs	Wicke		
R. A. Stillman 13	32	42 .	. 300		0.0	6.81
	53	8 .	. 187		- Alle	8.50
S. S. Rogers 9	7	23 .	. 317	16		19.81
Batting		35.1		TT'-1	64.45	edito A CE
Inni		ot outs	Runs	Highest	inns.	Average
†L. C. Henwood	12		. 551	111*		55.10
P. J. Osborn	11	0 .	. 232	93		21.09 20.54
	11		. 226	65		
P. L. L. Roussel	10	2 .	. 161	53		
R. E. Miller	12		. 221	59		18.41
P. R. B. Salter	6		. 29	8*		14.50
CK. II. I I WILLS		3.	. 85	24*		
R. D. A. Smith	11	0.	. 113	48		10.27
Bowling						
	ers I	Maidens	Runs	Wicke	ets	Average
	16	29	. 221	25		8.84
						9.34
P. L. L. Roussel 10	05					9.57
	69					9.72
	63	26	. 175	18	1	
P. J. West 19	07	20 .	. 213	24		11.73
IMPERI	AL SE	RVIC	E COLI	LEGE		
Batting	100	的物质	ASSESSMENT OF THE PARTY OF THE			
		Not outs			inns.	Average
	11		196	67		17.81
J. C. B. Bell	11		233	52	30.	21.18
D. C. J. Robertson	10	4	92	28*		15.33
R. E. G. Dyer	11	0	. 160	23		14.54
R. E. G. Dyer		0				

D 11	Bowling
Bowling Overs Maidens Runs Wickets Average N. G. R. Halliday 199.4 51 438 38 11.52 G. H. M. L. Drummond 143.5 44 315 26 12.11 J. Fairgrieve 58 10 148 10 14.80	Overs Maidens Runs Wickets Average G. Shepperson 84 21 190 30 6.33 W. R. Utteridge 79 13 271 29 9.34 V. T. Bridge 143 41 395 41 9.63 J. E. Rudd 51 5 122 16 13.25 J. E. Rudd 51 5 122 10 13.30
Batting KING'S SCHOOL, BRUTON	W. A. R. Castings
Innings Not outs Runs Highest inns. Average R. F. Lemon	Batting KING'S COLLEGE SCHOOL, WIMBLEDON
†H. D. Frampton 15 1 217 70 15.50 J. S. Rees 16 1 189 37 12.60 G. W. Wilson 9 2 82 29 11.71 D. P. Pirie 15 0 159 31 10.60	Innings Not outs Runs Highest inns. Average
Bowling Overs Maidens Runs Wickets Average	J. 141. D. OCOM 1111111
Overs Maidens Runs Wickets Average D. R. Gifford 91.2 16 312 37 8.43 J. S. Porter 87 6 340 21 16.18 D. H. Harvey-Williams 115 12 434 24 18.08 D. P. Pirie 121 15 443 23 19·26	Bowling Overs Maidens Runs Wickets Average †L. T. Cotton 184.1 35 570 42 13.57 P. R. Chase 114.3 13 457 31 14.74 J. C. Penfold 159.5 33 495 22 22.50
KING'S SCHOOL AND ST. EDMUND'S SCHOOL,	DIDMINCHAM
Batting CANTERBURY	Batting KING EDWARD'S SCHOOL, BIRMINGHAM Innings Not outs Runs Highest inns. Average
Innings Not outs Runs Highest inns. Average	1 96 27* 12.00
J. Ommanney 9 2 151 52 21.57 H. Wilford 8 1 141 73* 20.14 J. Simpson 8 1 122 49 17.42 J. Corben 9 1 129 55 16.12	P. R. Langham 9 0 89 26 9.80 M. H. Lee 9 0 81 27 9.00
Bowling	Bowling Overs Maidens Runs Wickets Average
Overs Maidens Runs Wickets Average J. Corben. 132.3 26 324 65 4.96 D. Willsdon 25 7 60 11 5.45 A. Berwick 88 22 250 14 17.85	G. A. Pell 17 2 280 20 14.00 C. F. Figures 51.3 3 280 278 18 15.44 G. A. Stark 81 15 278 18 15.44
Rossing KING'S SCHOOL, ELY	Batting KING EDWARD'S SCHOOL, STOURBRIDGE
Batting Innings Not outs Runs Highest inns. Average	Innings Not outs Rulls 1178 63 19.77
P. H. Randall 13 1 262 54 21.83	A. F. Willetts
J. H. Cleary 7 0 117 21 16.71	F. W. Bealey
J. O. Walker	D. A. Griffiths
Bowling	Bowling Overs Maidens Runs Wickets Average
Overs Maidens Runs Wickets Average J. L. V. Summerhayes 143 31 412 29 14.20	K Turner 82 . 17 . 234 . 22 . 10.63
J. O. Walker 110.1 8 319 19 16.78 P. H. Randall 77 7 288 16 18.00	A. F. Willetts 105 19 313 25 1010
Rotting KING'S SCHOOL, PETERBOROUGH	Batting KINGSWOOD SCHOOL, BATH
Innings Not outs Runs Highest inns. Average	Innings Not outs Runs Highest linis. Average
G. Shepperson	R. G. Pentney
R. A. Berridge 13 1 157 41 13.08	H. W. Lester 10 0 151 45 15.10
†V. T. Bridge 17 0 204 35 12.00 T. M. Page 16 2 158 31 11.28	R. L. Wright 10 4 93 30 10.33
K. A. Hall	P. Lund 10 1 33 33

Bowling	0							gariwai
P. B. Rattenbury R. G. Pentney	Overs 75.1 67.3		Maide 23 21	ns	Runs 158 204		Wickets 30 23	Averag 5.26 8.86
11	101	• •	T.	•	201	• •	23	0.00
	T 1376	VWW Y	~ ~	~	_11_			
Batting	LANC	IN	G C	OLI	LEGE			
	Innings	N	ot ou	40	Runs	TT		
A. C. Burnett	9		1		207		ghest inns. 58*	Average 25.87
P. W. Pierrenont	9		2		151		64*	21.57
N. L. Thunder	6		4		43		18	21.50
A. J. Quin	8		3		104		34	20.80
S. Townend	7		0		128		33	18.28
B. Roberts	9		2		125		56*	17.85
A. F. Wallis	10		1		157		43	17.44
A. Monyneux	7		2		70		35*	14.00
R. H. Burton	10	• •	0		106		31	10.60
Bowling								
Journal	Overs	76	Maide	na	Dun		007: -1	
P. W. Pierrepont			12		Runs 391		Wickets	Averag
R. H. Burton	114.7	::	13		416		21	18.61 18.90
MARIONIN			13		410			10.50
LEE	DS GI	RAI	MM	AR	SCHO	OL		
satting								
M Walter	Innings		ot ou	ts	Runs		ghest inns.	Average
M. Walton	9		1		328		113*	41.00
A. M. Ivey	9	• •	2		244	• •	53*	34.85
D. S. Creasey	6		1		107		50*	21.40
A. Hirst	5 8		0	• •	53 81	• •	30*	13.25
M. R. Nicholson	9		0		90		47 30	10.12
			•	••	50		30	10.00
Bowling								
	Overs	1	Maide	ns	Runs	-	Wickets	Average
M. R. Nicholson	31		6		113		14	8.07
R. Johnson	33.2		2		139		16	8.68
E. Bliss	79	• •	5		260		28	9.28
R. Pennington	57	٠.	8	• •	187		12	15.58
		1						
LEI	GHTO	N	PAR	K S	SCHO	OT.		
Batting								
I Hohaan	Innings		ot out	ts	Runs	Hig	ghest inns.	Average
P. J. Hobson			4		365		73*	36.50
R. A. K. Burton	5		1		109		59*	27.25
M. A. B. Harrison	13 11	• •	2		262		100	26.20
I. R. Hawtin	10		0	• •	160 104	٠.	36* 22	17.77 10.40
		•			104	/	22	10.40
Bowling	0						1,50	
. McMichael	Overs		Maide		Runs	. 1	Wickets	Average
B. Smart	114 182				322		20	16.10
D. H. Thorpe	126.3		13	* *	423		26	16.26
R. A. K. Burton	59.1	• •	20 10		326		17	19.17
11. Duitoii	37.1		10		190		10	19.00

No. of the last of	THE I	LEY	S	CH	OOL				
Batting	Innings	No	t out	s	Runs 152		hest in	ins.	Average 30.40
G. H. Dunkerley † J. Pepper	. 8		3 1 0		187 136		44 44		26.71 17.00
Bowling							1		
Domain	Overs	N	Taide	ns	Runs		Vicket: 37		Average 7.54
G. H. Dunkerley M. M. V. Leonard P. F. W. Foster	. 77	::	29 14 5		279 202 175	::	19 11	::	10.63 15.90
Datting	LIVERI	200	DL (COI	LEGE	,			
Batting	Innings	N	ot ou	its	Runs	Hi	ghest i	nns.	Average
†E. D. Jennings	. 10		2		489		92		61.12 23.25
G. G. Walker	. 7		3		93		54 69	• •	19.40
D. R. Wright	. 10		0		194 157		43		17.44
F. D. Kitchin	10		0		148		44		14.80
Serger A Policie									
Bowling	Overs	٠,	Maid	anc	Runs		Wicke	ts	Average
G C Waller	277.2	1	5		152		14		10.85
G.G. Walker E. D. Jennings		· .	5		171		15		11.40
N. L. Lunt			25		354		23		15.39
Potting	MAL	VEF	IN (COL	LEGE				
Batting	Innings	N	ot o	uts	Runs	H	ghest	inns.	Average
G. H. Chesterton			2		435		103		
W. H. R. Davies	12		1		471 172		74 32		42.81 15.63
W. W. H. Foyn	11		0		126		31		12.60
J. H. Carson	11		1	7 T	120			1	100
Bowling									
DOWING	Overs		Maid	lens	Runs		Wicke	ets	Average
J. G. Harrison	225 (74				42		12.04
G. H. Chesterton	239		61		111	• •	45 8	• •	12.88 20.75
C. D. Sumner	58		10		100	• •	0		20.73
10 10 10 10 10 10 10 10 10 10 10 10 10 1	1200	~ D	> T T C	TTT.	COLLI	CCE			
Batting N	IARLBO								¥ 1 3 M
•	Inning		Not c		Runs 466		lighest 132		22.20
G. E. S. Woodhouse			4		407	• ::	72	k	31.30
R. A. Fletcher			4		. 222		101		27.75
J. W. Sewell R. J. L. Altham			2		. 187		52		26.71
A Ragot	14		0			4:	77		0/70
†C. J. Studdert-Kenned	dy 12			177	101		112 56		10 10
A. M. Hodson	12		. 2		PT 4	j ::	00		11 02
O. G. Pratt					. 19		11		9.50
P. M. B. Sutcliffe A. J. A. Ellwood			1		. 28		22		9.33
P. A. Robertson	10		. 2		. 69		25		8.62

308 Pu	blic Sc.	hoo	l Cr	icke	t in 19	41			
Bowling									
A. N. C. Lothian A. Bagot O. G. Pratt G. E. S. Woodhouse	84 99		18 9 22 30	ens 	Runs 278 268 233 426		14 12		Average 16.35 19.14 19.41 22.42
MERC Batting	HANT	T	AYL	OR	s' sci	HOO	DL		
D. B. Clark J. W. Weston J. B. Marriott H. R. Stephens W. A. Gluck R. B. Hawkey L. W. G. Drayton G. A. Wilson	11 12 12 7 8 7	No	ot ou 4 2 1 1 2 1 2	ts	Runs 169 246 275 261 106 104 63 74	Hig	79* 85* 62* 38 47 23*	is.	Average 33.80 27.33 25.00 23.72 21.20 14.85 12.60 12.33
Bowling	0				7		*** 1		5- IV 15
R. B. Hawkey H. C. Huxley G. L. Robins L. W. G. Drayton	51.4 189.3		1aide 52 10 51 8	ens	Runs 467 143 451 164		11 32		Average 11.67 13.00 14.09 16.40
	MILL	н	LL	SCF	HOOL				
Batting					IOOL				
B. L. Piper M. E. I. Kempster M. A. Ydlibi I. M. Wright G. W. Sears R. W. Fenn P. S. Burns J. Dexter †M. D. Whitehorn	9 7 7 8 10 8	N	ot ou 1 6 1 1 1 0 0	:: :: :: ::	Runs 252 83 211 128 126 128 126 79 100	Hi _i	26* 80 55 40 42 48 29	is.	Average 28.00 27.66 26.37 21.33 21.00 16.00 12.60 11.28 11.11
Bowling	->/						. 10		
J. Dexter	119.3 46.2	 	1aide 9 33 10 6		Runs 145 336 133 211		32 11		Average 10.35 10.50 12.09 15.07
Batting	NKTO	1 (COM	IBE	SCHO	OOL			
	Innings	No	ot ou	ts	Runs	His	ghest inn	ıs.	Average
†H. D. Dale H. T. Creese-Parsons P. B. Chambers	6	::	3 0 0		176 104 74		59* 36		58.66

Publ	ic Scho	oi (ric	кеі	in 194	1			307
Bowling					aro.				
	Overs		iden	S	Runs	V	Vicket		Average
H. D. Dale	48 .		8		136		14	• •	9.71 11.11
P H I Hillier	65.5 .		3		189		17		
H. E. Hallett	65 .	. 1	2		201		10		20.10
H. T. Creese-Parsons	64.3 .	. 1	3		208		10		20.80
11. 11. 616656 1 6167									
MOUN	In Car	TA //	A TD Y	720	COLL	FC	F		
MOUN	AT 21.	IVIL	MA	LO	COLL	LUG			
Batting									
	nnings	Not	out	S	Runs	Hig	hest i	nns.	Average
†J. L. Moorhouse			2		203		55		33.83
C. R. Higham			2		148		48		29.60
B. H. Wallington			1		107		33		17.83
C. R. Millen			0		70		36		17.50
A. F. Barnett	5		0		66		38		13.20
A. I. Barnett	te actor								
Bowling									
Dolling	Overs	M	aide	ns	Runs	7	Wicke		Average
C. R. Higham			24		201				6.70
J. L. Moorhouse			14		254		19		13.36
W. K. Snape	88		18		239		15		15.93
W. R. Shape									
NEWCASTI	E DO	VAT	C	DA1	MMAI	2 5	CHO	OL	
	L KU	LAI	4 0	II W Z M J	LANTANA				
Batting			120 Salessa		Runs	TT:	ghest	inne	Average
	Innings		t ou		377		100		62.83
†A. E. White	8		2		158	• •	57	Mg W	22.57
R. R. Veitch	7		0	• •	148	• •	63		21.14
A. C. Taylor	7		0		50		18*	4.1	16.66
J. McQuillen	6		3	• •	52		29		10.40
T. Dixon	5		0	. ,	31		16*		10.33
K. T. Sawyers	5		2		31	• •	10	• •	10.55
100000									
Bowling	•				Runs		Wicke	ate	Average
	Overs	IV	Taide	ens	246		33	.13	7.45
A. E. White		. 1	11		131		10	2.0	13.10
A. J. Thompson	58		16		131	• •	10		3
					3.				
	OAK	HAI	MS	SCH	OOL				
Batting									e disse If
Datting	Innings	No	ot ou	its	Runs	Н	ighest		Average
†T. S. Atkins			1		410		107		37.27
E. D. Palmer	. 12		2		309		80		30.90
W S Walker	. 11		1		206		69		20.60
W. S. Walker N. L. Palmer	. 9		3		111		48		18.50
J. A. Good	. 10		0		169		38		16.90
N. T. Smith	. 10		1				47		15.66
P. L. Bennett			2				27		11.16
D. C. Sansom			0				31		10.77
D. C. Ballsom									
Bowling							4		A COMMIT
DOMING	Overs	7	Maid	ens	Runs		Wick		Average
E. D. Palmer	1110		25		601		43		13.97
N. T. Smith			40				32	1000	14.75

Batting	ORA	TORY SCH	OOL		
R. A. Slater. R. H. Smith S. E. Hicks F. E. Thorneycroft. A. P. Stilwell J. F. Bodenham	. 20 . 22 . 21 . 19	Not outs 1 2 1 1 1 4	453 440 400 279	Highest inns 130 80	Average 32.00 25.16 20.95 20.00 15.50 15.35
Bowling	-21.5	98054	0.00		
S. E. Hicks	347.3	Maidens 65 105 32	867	Wickets 45	10.73 10.83
Batting	OUN	DLE SCHO	OOL		
T. J. D. Walker 'G. A. Wilson J. H. Rhodes H. E. Henshall G. R. G. Beldam K. G. Malet J. A. S. Maitland	. 16 . 11 . 11 . 6 . 16	Not outs 3 2 4 3 2 1	453 254 183 70 277	Highest inns 104* . 85* . 73* . 67* . 31* . 39 . 20	Average 43.10 34.84 28.22 26.14 23.33 19.78 11.88
Bowling	FL 3	Attorios (C. 1	المصا		Macail
T. J. D. Walker R. L. R. Jones J. W. G. Crocker J. H. Rhodes H. E. Henshall	112.2 168 74.2	Maidens 23 12 32 9 7	440 354	37	Average 10.59 16.69 20.00 20.82 21.84
Batting	PEI	RSE SCHO	\mathbf{OL}		
R. W. Smith	12 6 12	Not outs 0 3 0 1	134 140 79 142	Highest inns 48	Average 16.75 15.55 13.16 12.90 10.91
Bowling	0	26.11	eld on	XX7' 1	
C. J. Unwin J. W. Wilkerson D. A. S. Sharp B. E. Rose	103.3	Maidens 9 28 4 5	259 272	Wickets 16 27 18 12	Average 8.81 9.59 15.11 15.50
Batting	PLYMO	OUTH COL	LEGE		
†R. G. Atkey S. K. Lawry K. G. Gilbert G. W. Sargent	13 14	Not outs 0 1 1	422 236 181	Highest inns 88	32.46 19.66 13.92

Bowling	Overs	Maidens	Runs	Wickets	Average
K. G. Gilbert	32.2 43	1	135 159 257	15 10 16	9.00 15.90 16.06
Batting	RADL	EY COLL	EGE		
†R. J. A. Darwin	nings 16 15 16 16 12 13 3 12	Not outs 2 3 0 1 0 0 0 0 2 5	Runs 448 336 440 282 212 217 48 99 49	Highest inns 88 100* 74 71 45 38 47 40* 17*	Average 32.00 27.91 27.50 18.80 17.66 16.69 16.00 9.90 9.80
Bowling	0	Maidana	Runs	Wickets	Average
R. J. A. Darwin A. G. Gardner M. B. Parry-Crooke J. F. S. Agar R. A. Murray	Overs 282.2 73.2 95.5 82.3 132.4	Maidens 56	613 214 378 257 415	55 18 19 11	11.14 11.88 19.88
Batting	REAL	DING SCH	OOL		
	nnings 13 12 10 13 13 8	Not outs 2 2 2 2 1 1	Runs 508 173 137 202 183 71	Highest inns 87	46.18 17.30 17.12 15.53 15.25
Bowling	230	26.11	D	Wickets	Average
R. D. Morbey	Overs 62.3 75.5 133 120.2	33	301	15 25 22 24	10.53 12.04 13.31
Batting	REP	TON SCH	OOL		
G. C. Yorke R. G. Ralphs D. N. Carr J. M. Peake †J. R. Holmes J. Elphinston J. A. Steel K. S. McAlpine played in	5	1 0 1 1 0 1 0 0	. 141 . 122 . 102 . 109 . 49	42 35 32 35 17	. 20.28 . 15.66 . 13.55 . 12.75 . 12.11 . 9.80 . 9.00
Bowling		snatur2X	D	Wickets	Average
R. G. Ralphs K. T. Stubbs K. S. McAlpine	117.	11 .	. 316	13	. 13.61 . 13.73 . 18.40

Dublic	School	Cricket	in	1041	
uouc	School	Crickei	in	1741	

ROSSALL SCHOOL

Batting	NUSS	MI		СП	OOL				
	14 11 13 14 14 14 13 12	N	ot ou 1 0 1 1 3 2		Runs 353 213 201 183 124 101 100	Hig	91* 89 39 45 24 39 32	nns.	Average 27.15 19.36 16.75 14.07 11.27 9.18 9.09
Bowling									
J. Bagnall	Overs 177.3 117.5 159.2		Maide 33 29 26	ens 	Runs 431 292 509		Wickets 45 23 15	· · · · · · · · · · · · · · · · · · ·	Average 9.57 12.69 33.93
	DII	'DX	7 00	TIO	OT				
Batting	RUC	ı B	50	HU	OL				
0	20 3 20 9 16 9	N 	ot ou 2 0 1 0 2 2 1	ts	Runs 452 67 371 144 176 81 168	Hig	77 40 71* 32 44 20* 42	ins.	Average 25.11 22.33 19.52 16.00 12.57 11.57 9.33
Bowling									
S. C. de L. Aitchison A. C. Guthrie M. J. Hussey M. A. Boddington	Overs 103.2 147.3 108 168 108	 	Maide 27 21 12 39 9	ens	Runs 280 564 373 418 437		Vickets 25 39 21 21 21	· · · · · · · · · · · · · · · · · · ·	Average 11.20 14.46 17.76 19.90 20.80
	RYD	AT	SC	HO	OT.				
Batting	MIL	7 1	be	110	OL				
B. L. Williams W. H. H. Sutcliffe †H. H. Hirst A. W. Beech M. G. Amos G. C. Bennett G. J. Dick J. A. Hardman K. R. Aspden	nings 9 7 12 4 9 6 6 8 12	N	ot ou 4 0 0 3 1 0 2 1 2	ts	Runs 196 190 264 20 147 89 46 71 101	Hig	thest in 102* 41 55 10* 61* 28 17* 29* 29	ns.	Average 39.20 27.14 22.00 20.00 18.37 14.83 11.50 10.14 10.10
Bowling									
A. W. Beech W. H. H. Sutcliffe M. G. Amos	Overs 134.3 36 52 110 46	 	1aide 26 5 9 15 4	ns	Runs 390 151 127 344 188	v	Vickets 39 13 10 26 10		Average 10.00 11.61 12.70 13.23 18.80

ST. ALBANS SCHOOL

Batting

Batting

	Innings	N	ot ou	ts	Runs	His	hest i	nns.	Average
F. E. Arnold	12		1		237		53		21.54
D. R. Goode	5		3		38		11*		19.00
P. R. Addington	11		2		167		73		18.55
†W. Fenton			2		170		58*		17.00
P. C. Adams	9		1		87		21		10.87
Bowling									
	Overs	N	/Iaide	ns	Runs	Wickets			Average
†W. Fenton	64.1		14		198		26		7.61
F. E. Arnold	121.4		32		275		33		8.33
D. F. Deans	99.1		19		308		27		11.49

ST. EDWARD'S SCHOOL, OXFORD

	Innings	nings Not outs		Runs Highest inns.				Average		
†C. F. Deacon			2		616		126*		47.38	
H. George			2		149		55		14.90	
E. B. Rochard			1		184		44		13.14	
W. B. Stevenson	. 15		2		169		45*		13.00	
J. G. Hopkinson	15		0		157		28		10.46	
J. W. Halliday	11		0		107		23		9.72	
Bowling.										

Bowling.	Overs					Average		
J. W. Halliday	195.1		56	 432	 39		11.07	
J. de B. Shrosbree							14.41	
D. Henderson	76		20	 222	 13		17.07	
E. B. Rochard	115.2		25	 350	 15		23.33	

ST. GEORGE'S SCHOOL, HARPENDEN

Batting	Innings	No	ot ou	ts	Runs	Highest inns. Average			
I. O. Venmore Rowland	9		1		83		37*		10.37
R. Payne	. 14		3		112		21*		10.18
†K. T. Powell			4		111		34		9.25
T. B. M. Norman	. 16		0		145		38		9.06

Bowling									
E CALL OF T	Overs	Maidens			Runs	Wickets			Average
I. O. Venmore Rowland .			4		144		. 18		8.00
D. R. Hutchinson			1		140		12		11.66
			3		620		36		17.22
R. Payne	133.2)	9		433		25		17.32

ST. JOHN'S SCHOOL, LEATHERHEAD

	Innings	nings Not outs			Runs	Highest inns.			Average	
G. C. L. Baker	10		2		275		71		34.37	
D. E. Grey	4		3		34		10		34.00	
†B. J. Rees	6		3		84		22		28.00	
H. J. Brabyn	6		1		112		35		22.40	
F. H. M. Forbes	6		0		125		63		20.83	
B. J. Jackson	12		0		196		42		16.33	
J. E. M. Newbury	10		0		138		31		13.80	
P. W. Sykes	6		1		65		29	203	13.00	

314	one be					-			
Bowling	0.00				2		x 7° 1 .		
B. J. Jackson H. E. Harker D. E. Grey D. E. W. Southgate N. J. McKinney	67.2 58		Maide 24 2 12 14 19	ens	Runs 299 108 214 180 296	::	Wicket 29 10 18 13 20	s	Average 10.31 10.80 11.88 13.84 14.80
	ST. P.	ATT	ריכ	SCI	IOOI.				
Batting	51. 1.	AU,	טט	JCI	ICOL				
J. D. Waters	. 8 . 10 . 9 . 7		0 2 0 4 0 0 0	ts	Runs 81 98 120 60 74 93	Hig	29 58* 30 30* 41	nns.	Average 27.00 16.33 12.00 12.00 10.57 9.30
Bowling									
J. F. Whittle	. 79.3		Maide 5 7 17	ens 	Runs 129 280 254		Wicket 14 19 15	ts	9.21 14.73
CT	DESTRICT	310	CO	IIO	N W	ADI/	-		
Batting S1.	PETEI	(3)	SC	HUU	JL, Y	UKI			
D. Anderson †F. N. Buckler A. Broadhurst D. Cole G. R. Morris J. A. Denison J. R. Frost F. F. Steele	13 13 13 5 12 12	N	ot ou 8 2 0 0 1 1 0	its	Runs 71 246 289 266 81 142 141 103	Hip	ghest i 20* 71* 60 65 32 35 40 30*	nns.	Average 35.50 22.36 22.23 20.46 20.25 12.90 11.75 11.44
Bowling									
D. Anderson	58		/Iaide 30 4 21	ens	Runs 463 236 481		Wicket 45 20 39	:s 	Average 10.28 11.80 12.33
	SEBR	ICI	TT	SCH	IOOT.				
Batting	SEDI	101	11)	JCI,	LOOL				
†W. D. Rowlands	6		ot ou 3 1 1 2	 	Runs 87 81 45 30	Hig	ghest i 26* 50* 15 12	nns.	Average 21.75 16.20 7.50 7.50
Bowling	0	- 11	No.14		Duna		Wicket		Averoca
C. D. Bache W. D. Rowlands			Maide 21 7	ens	Runs 180 180		35 21		Average 5.14 8.57

SEDBERGH SCHOOL

Batting

Ratting

Batting	Innings	Not outs			Runs	Hig	hest ir	ıns.	Average 67.16		
†A. V. H. Wardle	9		3		403		81				
J. H. Campbell	10		4		249		96*		41.50		
C. F. N. Garnett	5		1		99		53*		24.75		
	2		Ô		35		29		17.50		
J. D. Coutts	-	• •		• •	118		65		16.85		
B. R. Pryde			0		28		24		14.00		
E. M. O. Smithers	2		0			• •			13.80		
A. J. Third	- 5		0		69	• • •	41		12.00		
W. T. West			0		36		28				
S. E. Frost	_		3	• •	21	•	10		10.50		
Bowling									700 5 2 1 7		
Dollars	Overs	N	Maide	ns	Runs	,	Wicket	S	Average		
A. V. H. Wardle			6		113		10		11.30		
			19	- 11	251		14		17.92		
S. E. Frost					401		20		20.05		
A. D. Rolland			25				12		21.75		
B. R. Pryde	81.2		21	• •	261	• •	14	• •	21.75		

SEVENOAKS SCHOOL

Datting	Innings	No	t ou	ts	Runs	Hi	ghest ir	ins.	Average
tC. B. T. Gibbons	. 11		4		528		113*		75.45
B. M. Kennell			2		151		45	• •	18.87
F. G. C. Smyth			1		119		30		17.00
E. E. Hayes			3		101		28*		16.83
T. P. Bingham			3		47		15*		15.66 12.72
R. K. T. Crocker			0		140		50		11.00
R. M. Merrell			0		121	344	32		11.00
D. L.									

DOWNING	Overs	N	/Iaide	ns	Runs	1	Wicket	S	Average
C. B. T. Gibbons B. M. Kennell T. P. Bingham	130.3 124.1		20 24 21	::	440 311 176		38 23 12		11.57 13.52 14.66

SHERBORNE SCHOOL

Batting										
Datting	Innings	No	t out	s	Runs	Hi	ghest in	nns.	Average	
A. I. T. Robinson			2		455		119		56.87	
			0		530	000000	120	2.2	48.18	
†D. P. T. Deshon			2		161		84*		32.20	
M. R. Ricketts	. /		4						31.33	
D. S. Hawkins	. 7		4		94		27			
D. B. Bartlett			2		215		75*		30.71	
			1		275		93		27.50	
N. W. Heale	10		1		150		61*		16.66	
H. E. S. Farrer			1				29*		14.33	
R. C. Holman	5		2		43		23		14.55	
100										

Bowling	Overs	N	Maide	ens	Runs		Wicket	S	Average
M. R. Ricketts	78.3		21		243		27		9.00
D. P. L. Dry	85.1		25		201	• •	20		10.05
J. A. Huett	42.4		8		129	• •	35		12.17
R. C. Holman	123.3		15		426 205		16		12.81
J. N. Arkell	88	• •	17		203		10		22101

316	Public S	chool Crick	et in 19	941				
	CHDEW	VSBURY S	CHOO	T.			Batting STOWE SCHOOL	
Batting			Tabel		·	ditio	Innings Not outs Runs Highest inns. Average †E. P. Hickling	
†M. L. Y. Ainsworth J. Mackinnon	11	2 2		Highest 104	1.00	Average 56.18 49.66	W. M. Savery 12 1 272 51 24.72 P. B. Higham 9 2 121 32* 17.28	
D. Cox J. K. Wood W. E. Rhys	12	4	139	81 59	*	20.55 17.37 15.28	W. R. Mallory	
A. C. W. Lee R. H. Crawford	12	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	181	43	. die	15.28 15.08 9.83	J. E. Colbeck	
Dawling							Bowling Overs Maidens Runs Wickets Average	
Bowling D. L. Hughes M. L. Y. Ainsworth J. Mackinnon	73.3	7	250	Wick 33 20 14		Average 9.45 12.50 13.92	R. H. Hawkins 160.1 13 313 21 14.90 R. A. S. G. Calthorpe 45 6 154 9 17.11 W. M. Savery 140.1 20 430 22 19.54 T. H. Barclay 104.4 18 282 9 31.33	
H. R. Gibbon Scott W. E. Rhys	76	18	221	12		18.41 19.40	W. R. Mallory 168.2 42 416 13 32.00	
							Batting TAUNTON SCHOOL	
							Innings Not outs Runs Highest inns. Average	
Batting	SO	LIHULL S	СНОО	L			J. R. Green	
	Innings		Runs	Highest	inns.	Average	†P. C. L. Payne	
R. D. N. Fabricius	14	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	199	80 36		34.00 18.09 12.30	A. J. Cozens	
G. N. Turner N. T. McLaughlin	9	1	103	38		12.87 9.66	Bowling Overs Maidens Runs Wickets Average	
Bowling							A. J. Cozens. 41.2 3 145 13 11.15 P. C. L. Payne 119.2 30 253 17 14.88 B. S. Hobson 81.4 14 189 12 15.75	
J. R. Martyn	Overs 63.1	Maidens 5	Runs 254	Wick		Average 7.67	B. S. HODSON 81.4 14 105 12	
D. J. L. Johnson C. W. E. Cash	56.1	3	201	21			Batting TONBRIDGE SCHOOL	
P. J. Wild	73.1	13	269	20		11.20	Innings Not outs Runs Highest inns. Average	ģ
							M. F. Wiles	
							P. A. Masters	
	STAM	FORD SC	HOOT				A I. Woodland 10 2 134 52 16.75	
Batting	DITIN	TORE SC	HOOL				†G. H. P. Pritchard 14 2 185 58 15.41 S. F. Hills 13 2 154 34* 14.00	
†F. P. Tomes	Innings 16	Not outs	Runs 348			Average 31.63	C. J. Matthew. 14 0 187 51 13.35 S. S. L. Marshall 12 0 161 49 13.41	
J. E. Conington	15	1	433	110		30.92	C. V. L. Marques 13 1 150 49 12.50	
E. J. Smith H. J. Butler	16	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	367 108	52	*	26.21 18.00	G. J. Maughan 8 0 64 28 8.00	
F. R. Lambert	16	1	141	59		9.40	Bowling	
Bowling						7 Hirrid	Overs Maidens Runs Wickets Average C. V. L. Marques	-
	Overs	Maidens	Runs	Wick		Average	M. F. Wiles 63.3 6 224 13 17.23	
J. H. Lambert H. J. Butler	187.4	35	517 258	60		8.61 11.72	A. L. Woodland 71 10 231 10 23.10	
R. C. Roberts J. R. Marriott	110.2	22	286 200	23		12.43 18.18	C. J. Matthew 104.3 28 298 12 24.83 S. F. Hills 109 10 428 10 42.80	

UNIVERSITY	COLLEGE	SCHOOL	Hatter
Batting Innings	Not outs F	Runs Highest inns.	Average
†M. F. W. Dunlop 10	0	191 59	19.10
D. G. P. Evans 10	1	143 30*	15.88
D. Gibbons 8	2	76 24* 119 22	12.66 11.90
P. E. B. Vaile 10 E. A. B. Dickinson 10		119 22 95 35	11.87
M. B. Carroll 10	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	116 23	11.60
M. B. Carroll	0	114 38	11.40
Bowling			Howin
Overs	Maidens I	Runs Wickets	Average
B. M. W. Trapnell 122		308 18	17.11
D. Gibbons 76		264 15	17.60
H. H. Cove 67	6	221 11	20.09
			W. W.
	GHAM SCH	OOL	ourted!
Batting	NUMBER OF STREET	and were a	
Innings		Runs Highest inns.	Average 45.22
†G. A. Wheatley 10 A. B. Pemberton 7	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	407 128 191 65	38.20
M. Evans 10	\vdots $\overset{\leftarrow}{2}$ \vdots	265 94	38.12
J. W. C. Bryant 10 D. S. Gill 6	2	220 66	27.50
D. S. Gill	2	92 30*	23.00
F. B. R. Cooke 10 W. B. G. Raynor 10	0	227 71 160 38	22.70 16.00
W. B. G. Raynor 10	0	160 38	10.00
			1,0
Bowling			A London
Overs		Runs Wickets	Average
D. S. Gill 33	8	96 10 221 19	9.60 11.63
S. E. Bastard	14	221 19 326 23	14.17
W. R. F. Chamberlain . 71.2	11	212 13	16.30
W. R. F. Chamberlain . 71.2 F. B. R. Cooke 77.3	19	233 13	17.92
			GT.ME
			1. 1. 1
WELLING	BOROUGH S	SCHOOL	
Batting	100 6040		(2 A
Innings		Runs Highest inns.	Average
P. Marlow	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	157 107 183 45	31.40 22.88
D. M. Young	4	183 45 81 32	20.25
W. B. Sheret 11	1	178 57	17.80
J. M. Semple 9	2	105 29	15.00
J. M. Tiddy	2	63 36	12.60
D. C. Longmate 11	1	109 30	10.90
Bowling		D 3371-1	14
Overs 102.2		Runs Wickets	Average 6.50
P. Marlow	30	208 32 317 30	10.56
J. M. Semple 36	13	162 9	18.00
	1.00		

D 44*	WELLIN	GT	ON	CC	LLEG	E			
Batting	200.5				-	***	1		A
	Innings	N	ot ou	ts	Runs		ghest i		Average
J. B. Robertson			2		461		79		
J. R. Williams	11		5		179		37*		29.83
K. A. M. Foottit			0		319		105		26.58
R. H. D. Graveston			1		226		67		22.60
L. H. C. Emsden			Ô	- ::	128		61		21.33
			3		87		40*		14.50
R. A. Gatehouse					57		18		11.40
J. B. S. Hamilton			1	• •	58		18		9.66
H. C. Warry	7	• •	1	• •	38	• •	10	•••	9.00
Bowling									
Marie - N	Overs	N	Jaide	ens	Runs	1	Wicket	ts	Averag
J. R. Williams	201.3		45		577		47		12.27
H. R. Gatehouse			4		289		14	10,000	20.64
K. A. M. Foottit			23		349		14		24.92
K. A. W. Poottit	100	••	23		0.0				11.11
	WESTM	TATO	יתורים	D 64	CHOO	T			
Batting	WESTM	11/2) I E	K S	CHOC	L			
Datting	Innings	N	ot ou	te	Runs	Hic	zhest i	nns	Average
AV A II IIingo			3		394		91		56.28
K. A. H. Hinge		• •	3		139		55		27.80
E. F. R. Whitehead			2	• •	153		64		25.50
P. O. Bodley							62		14.33
J. R. Russ	10		1		129				11.80
W. E. A. Fowler	6	**	1	• •	59	• •	28	• •	11.00
Bowling									
201121119	Overs	N	Aaide	ens	Runs	1	Wicke	ts	Average
W. E. A. Fowler			2		126		11		11.45
J. H. Ferrers-Guy			3	• •	372		21		17.71
			8	HI	368		18		20.44
R. J. Cremer		2000	Ö		243		10		24.30
E. F. R. Whitehead	33.1		U		243	• •	10	• •	24.50
	WHIT	GI	FT	SCH	OOL				
		1			-	***	- 11		
Datting	-				Runs	H-110	ghest i	nns.	Averag
	Innings		ot ou	LS					15.78
	14	··	0		221		58		
A. L. E. Thoday	14		0		221 169	and the same	58 34*	::	14.08
A. L. E. Thoday	14		0		221		58 34* 54		13.90
A. L. E. Thoday	14		0		221 169		58 34* 54 29		13.90 12.50
A. L. E. Thoday †A. L. W. Gollan E. R. Bailey P. S. Winston	14 14 13 12		0 2 2 0		221 169 153 150		58 34* 54	::	13.90 12.50
A. L. E. Thoday †A. L. W. Gollan E. R. Bailey P. S. Winston R. P. Tasker	14 14 13 12		0 2 2 0 7	::	221 169 153 150 48		58 34* 54 29 29*		13.90 12.50 12.00
A. L. E. Thoday	14 14 13 12 11		0 2 2 0 7 1		221 169 153 150 48 139		58 34* 54 29 29* 30		13.90 12.50 12.00 11.58
A. L. E. Thoday †A. L. W. Gollan E. R. Bailey P. S. Winston R. P. Tasker E. W. Graham J. W. Browning	14 14 13 12 11 13		0 2 2 0 7 1		221 169 153 150 48 139 139		58 34* 54 29 29* 30 38		13.90 12.50 12.00 11.58 10.69
A. L. E. Thoday	14 14 13 12 11 13 14		0 2 2 0 7 1 1		221 169 153 150 48 139 139 115		58 34* 54 29 29* 30 38 43		13.90 12.50 12.00 11.58 10.69 10.41
A. L. E. Thoday †A. L. W. Gollan E. R. Bailey P. S. Winston R. P. Tasker E. W. Graham J. W. Browning	14 14 13 12 11 13 14		0 2 2 0 7 1		221 169 153 150 48 139 139		58 34* 54 29 29* 30 38		13.90 12.50 12.00 11.58 10.69
A. L. E. Thoday	14 14 13 12 11 13 14		0 2 2 0 7 1 1		221 169 153 150 48 139 139 115		58 34* 54 29 29* 30 38 43		13.90 12.50 12.00 11.58 10.69 10.41
A. L. E. Thoday †A. L. W. Gollan E. R. Bailey P. S. Winston R. P. Tasker E. W. Graham J. W. Browning P. M. Sturges B. C. Roberts	14 14 13 12 11 13 14 12		0 2 2 0 7 1 1 1		221 169 153 150 48 139 139 115 50		58 34* 54 29 29* 30 38 43 17		13.90 12.50 12.00 11.58 10.69 10.41 10.00
A. L. E. Thoday. †A. L. W. Gollan E. R. Bailey P. S. Winston R. P. Tasker E. W. Graham J. W. Browning P. M. Sturges B. C. Roberts Bowling	14 14 13 12 11 13 14 12 6	· · · · · · · · · · · · · · · · · · ·	0 2 2 0 7 1 1 1 1	ens	221 169 153 150 48 139 139 115 50		58 34* 54 29 29* 30 38 43 17	:: :: :: :: ts	13.90 12.50 12.00 11.58 10.69 10.41 10.00
A. L. E. Thoday †A. L. W. Gollan E. R. Bailey P. S. Winston R. P. Tasker E. W. Graham J. W. Browning P. M. Sturges B. C. Roberts Bowling P. S. Winston	14 14 13 12 11 13 14 12 6		0 2 2 0 7 1 1 1 1 1	ens	221 169 153 150 48 139 139 115 50 Runs 250		58 34* 54 29 29* 30 38 43 17	:: :: :: :: ts	13.90 12.50 12.00 11.58 10.69 10.41 10.00 Averag 11.90
A. L. E. Thoday †A. L. W. Gollan E. R. Bailey P. S. Winston R. P. Tasker E. W. Graham J. W. Browning P. M. Sturges B. C. Roberts Bowling P. S. Winston E. R. Bailey	14 14 13 12 11 13 14 16 6 Overs 98.5 199.4	 	0 2 2 0 7 1 1 1 1 1 1	ens	221 169 153 150 48 139 139 115 50 Runs 250 511		58 34* 54 29 29* 30 38 43 17 Wicke 21 41	:: :: :: :: ts	13.90 12.50 12.00 11.58 10.69 10.41 10.00 Averag 11.90 12.46
A. L. E. Thoday	14 14 13 12 11 13 14 12 6 Overs 98.5 199.4 160.1	 	0 2 2 0 7 1 1 1 1 1 1 4 42 49	ens	221 169 153 150 48 139 139 115 50 Runs 250 511 372		58 34* 54 29 29* 30 38 43 17 Wicke 21 41 26	:: :: :: ts ::	13.90 12.50 12.00 11.58 10.69 10.41 10.00 Averag 11.90 12.46 14.31
†A. L. W. Gollan E. R. Bailey P. S. Winston R. P. Tasker E. W. Graham J. W. Browning P. M. Sturges	14 14 13 12 11 13 14 12 6 Overs 98.5 199.4 160.1 120.3	 	0 2 2 0 7 1 1 1 1 1 1	ens	221 169 153 150 48 139 139 115 50 Runs 250 511		58 34* 54 29 29* 30 38 43 17 Wicke 21 41	:: :: :: :: ts	13.90 12.50 12.00 11.58 10.69 10.41 10.00 Average 11.90 12.46

WINCH	ESTER COI	LLEGI	E	
Batting	A PROPERTY AND A PERSON NAMED IN COLUMN ASSESSMENT OF THE PERSON NAMED IN COLU	ALS TYV		100
Innings 10 10 10 10 10 10 10 1	4	Runs 259 161 86 293 250 249 148 37 72	Highest inns 72* 47 30* 86 58 66 28 11* 37	Average 43.16 32.20 28.66 26.63 19.23 19.15 18.50 12.33 9.00
Bowling				
Overs †D. A. A. Gray	49	Runs 352 157 401	Wickets 35 15 27	Average 10.05 10.46 14.85
	IAL GRAN	ATTAILA	SCHOOL	
Innings R. J. Rallings 12 P. P. Wright 9 H. E. Rolfe 10 J. R. Sudbury 12	0	Runs 232 131 110 159		19.33
Bowling				
Overs D. S. Bray	Maidens 29	Runs 276 193 270	Wickets 27 17 20	Average 10.22 11.35 13.50
WOR	KSOP COL	LEGE		
#G. C. Buchanan 8 N. M. Hall 9 P. T. Francis 7 H. D. Jennison 7 D. Hardy 9 P. Carmichael 8	3 1 2 0	Runs 270 240 92 126 125 79	71* 31* 33	Average 54.00 30.00 18.40 18.00 13.88 11.28
Bowling				
Overs G. C. Buchanan 45 J. M. Taylor 71.3 P. T. Francis 83.5	Maidens 9 16	Runs 126 187 240	Wickets 11 14 16	Average 11.45 13.35 15.00
WRI	EKIN COLL	EGE		
Batting Innings N. G. Darrah 14 R. T. Peacock 5 F. J. Davies 10 F. G. Waterworth 14 C. M. Watt 12 G. K. Parkes 11	Not outs	Runs 382 43 101 196 141 106	25	27.28 21.50

Bowling	Overs	Maide	Runs		Wicke	Average
R. W. Wallis		 16 20	 400 324	• • •	35 18	11.42

WYGGESTON GRAMMAR SCHOOL

Batting	Innings	No	ot ou	ts	Runs	Hig	ghest in	ans.	
J. S. Naylor	. 8		1		137		36*		19.57 15.85
D. Allibone			0		72		49	100	12.00
J. A. Moore	. 8		0		83		33	.52	10.37
W. R. Parkins	. 8	• •	U		- 01	•	21		
Rowling									

Bowling									
Downing	Overs	N	Taide	18	Runs	V	Vicket:	S	Average
M. P. Tahany			5		122		12		10.16
J. J. English		-	10		185		13		14.23
J. S. Naylor			6		195		10		19.50

SCOTTISH SCHOOL AVERAGES

EDINBURGH ACADEMY

Innings	No	ot ou	ts	Runs	Hig	shest in	nns.	Average
		4		342		53		24.42
	-	0	HY.	295		63		16.38
		1	-4.	222		36		13.87
100000	-	2		208		41*		13.86
		0	12 - 1	129		61		12.90
		5		98		21*		10.88
		0		164		50		10.25
	Innings . 18 . 18 . 17 . 17 . 10 . 14 . 16	18 18 17 17 10 14	18 4 18 0 17 1 17 2 10 0 14 5	18 4 18 0 17 1 17 2 10 0 14 5	18 4 342 18 0 295 17 1 222 17 2 208 10 0 129 14 5 98	18 4 342 18 0 295 17 1 222 17 2 208 17 2 208 10 0 129 14 5 98	18	18 4 342 53 18 0 295 63 17 1 222 36 17 2 208 41* 17 2 208 41* 10 14 5 98 21*

Bowling	Overs	Maidens			Runs	Wickets			Averag
G. S. Richardson	137.2		48		274		31		8.83 9.92
I. S. Dougal			19		377 540	• •	38 52	• •	10.38
J. P. Henderson W. H. Sloan			18	110	157	ITY	13		12.07
T. A. L. Ritchie	-		14		165		11		15.00

FETTES COLLEGE

Batting	Innings	No	ot ou	ts	Runs		nns.	Average	
†C. D. Lawrie			7		659	 132		82.37	
J. G. F. Macpherson			4		232	 60		19.33	
J. C. Arbuthnott			0		140	 36		15.55	
R. W. S. Creeke			1		214	 53*		15.28	
K. McKern			2		182	 36		14.00	
A. J. D. Darling			3		107	 21*		13.37	
P. F. Smith	14		0		169	 46		12.07	
R. B. Anderson	7		4		31	 14*		10.33	

т

Bowling	Overs	Maidens			Runs Wickets				Average
C. D. Lawrie R. B. Anderson D. S. Ramsay A. J. D. Darling P. T. Campbell	129 94 102 131 63		21 23 8 24 11		371 238 371 359 154		38 22 31 26 10		9.76 10.81 11.96 13.80 15.40
Batting LORETTO SCHOOL									
J. M. Weir	Innings 18	··N	ot ou	its	Runs 359	H1	ghest in		Average 21.11
I. King	16 16		3	• • •	273 251		54* 47	::	21.00 16.73
†A. C. D. Rankin J. A. Dallas	15	• •	1		221		47		15.78
J. S. Watson J. K. Hardy	14 17		4		135 205		33 43		13.50 12.81
Bowling									
	Overs		Maide		Runs		Wicket		Average
H. M. Wilkie	153 153		41		313 432		36 49		8.69 8.81
J. S. Watson	181		25		458		50		9.16
A. C. D. Rankin	149	• •	28		330		24	• •	13.75
AND CHICTON CACTLE COLLOCT									
Batting MERCHISTON CASTLE SCHOOL									
†I. D. M. Considine	Innings 20		ot ou	its	Runs 422	Hi	ghest ii 86	nns.	Average 22.21
J. G. Sommerville	16		2		228		32*		16.28
J. G. March	18		1 3		256 124	• •	48 25*	• •	15.05 12.40
S. M. Duff	13 20	• •	5		181	::	40	::	12.06
J. I. Scott	15		3		140		23*		11.66
N. I. D. Macgregor	16	• •	0	• •	160		49	• •	10.00
Bowling							VIII a U.		
20 7 10	Overs		Maide		Runs 412		Wicket 46		Average 8.95
I. D. M. Considine J. G. March	214.5 251	::	58 66		588		54	• •	10.87
R. L. B. Mavor	64.2		7	4	204		14		14.57
J. I. I. Balleny	84	**	14	• •	232	• •	11	• •	21.09
Rotting TRINITY COLLEGE, GLENALMOND									
Datting	Innings		ot ou		Runs		ghest in	nns.	Average
†P. A. McDowall	10		1		219		72*		24.33
C. A. Lyall	10 11	• •	3	-,	148 186	• •	42 68	• •	21.14 16.90
J. M. Rankin R. E. Arend	11		1		151		47		15.10
W. W. Clarkson	4		2		25		11*		12.50 11.66
J. T. Stewart	3		0	• •	35	• •	26	118	11.00
Bowling	Overs	N	Maide	ens	Runs	٠,	Wicket	s	Average
B. C. Paton	65		13		161		18		8.94
R. E. Arend	38.4	• •	31		113 262	• •	12 27	••	9.41 9.70
P. A. McDowall A. H. Campbell	137		46	::	294	• •	27		10.88
AND THE PROPERTY OF THE PARTY O									